12 Vocabulary S1 Answers

1] 203, YATZ Z> »unElr,
Kino, ringo o itsutsu kaimashita.
Yesterday, (I) bought 5 apples.

1 220> 2 2o 3 LoD 4 Lo
kokonotsu gotsu itsutsu yottsu
nine five four

The correct answer is #3- L 2D .

% - 2 &%, go-fun, 5 minutes
WD ., D A, itsutsu, 5 (items)

(2] Thix @FEATT,
Kore wa nan-byaku-en desu ka.
How many hundreds of yen is this?

1 RIZU LA A 2 BAURLZA
nani byaku-en nan-byaku-en

3 RAVRLZA 4 TR CZA
nan-hyaku-en nani hyaku-en

The correct answer is #2- GAU®» K XA .

fa — 7212 fa% L CWE T, nani o shite imasu ka, what are you doing?
A s FAILA, nan-nin, how many people?

B - %< : 8, hyaku, 100
U< : {98, nan-byaku, how many 100s

M- ZA:+TH,jo-en, 10 yen
%% : [\, marui, round (disc-shaped objects)

@ il /_’J_—.—E’E YUFEL =,
Tori wa sora o tobimashita.
Birds flew in the air.

1 < 2 ©TH 3 %56 4 ¢
ku zora sora ka

The correct answer is #3-Z5 .

72— %5 %%, sora, air
M5 1 22, kara, emptiness
(9. =&, kake, airport
F.< 1 22, suku, to become less crowded
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S RITE LTOETAN

Kon-shii wa nani o shite imasu ka.
What are (you) doing this week?

1T WELw) 2 ZALwd
imasha konshi

The correct answer is #2- ZhA LS5 .

A —\WWF: 4, ima, now

Z A 5B, kongetsu, this month

#H - Lw): #A, shd, week

5]

AL HHDO N BT,
Roku-gatsu ni ame no hi ga oi desu.

3 XL»w)
kisha

In June, there are a lot of rainy days. (lit., the rainy days are many.)

1T 8w 2 BBEW
Oi ozei
many many people

The correct answer is #1- L.

% - BB .\ %\, 6N, many

6]

- %), tasho, more or less

FAEWE LwlFEnwx HLFELE,

Sensei wa shukudai o dashimashita.
The teacher assigned homework.

1 TLEL 2 FLFEL
deshimashita dashimashita

The correct answer is #2- 2 L% L1z .

H - 72 .9 87, dasu, to put out

T.5%:%%, dery, to exit
Lw>: H3k, shucchd, business trip

FULEIAD ZVYHIT FETT,
Morishita-san no kodomo wa gakusei desu.
Ms. Morishita’s child is a student.
[ e 2 KHEW

kosei gakusei

3 =00
takai
tall / expensive

3 LDLFELE
shitsu shimashita

3AKLED
gakusho

Vocabulary S1 Answers

4 ZOLwd
konoshii

4 BHEW
okii
big

4 LwoLFL-
shutsu shimashita

4 oLk
gassho
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The correct answer is #2- H < HL> .

% - M K%, daigaku, university
F70 . 350 %35, manabu, to study (in depth)
£ - v k&, sensei, teacher
d.FN5: EFNS, umareruy, to be born
¥ : AE—)L, namabiiru, draft beer

WLAbIAIE B2 BHPNWTT,
Ishikawa-san wa ashi ga nagai desu.
Ms. Ishikawa has long legs.

1 %X 2 L 3 7=

soku ashi tari

The correct answer is #2- & L .

& - HL :FR%, teashi, one’s hands and feet, limbs
Z{ :3& & , ensoku, excursion
7= .3 : B, tasu, to add (numbers)

(9] Fwiths T BLWTHIET,
Mai-nichi kawa de oyoide imasu.
(D) swim in the river every day.

1T & 2 ¥F 3 b
umi yama kawa
sea mountain river

The correct answer is #3- H4b .

N = 4 /NI, ogawa, brook
YA : ), kasen, rivers

WZ%Z TR Yo e HFILl
le o deta toki ni tonari no hito o mimashita.
When (1) left the house, (I) saw (my) neighbor.

1 % 2 XX 3 Y
toki doki to

The correct answer is #1- & & .

BF — ¥ X B, toki, time
C : B[, jikan, counter for hours

4 Wi
ike
pond

4 L
ji



M| zoawviziILs 1ILVTT,
Sono shiroi boshi ga hoshii desu.
(I) want that white hat.

T 2nsHn 2 LAV 3 BNV
kiiroi shiroi akai
yellow white red

The correct answer is #2—- LA,

B - LA.\: @AY, omoshiroi, interesting
X< : Z=Q, kahaku, blank space

12] ZzoBrzo vrO &LEilz LYFEFHA.
Sono otoko no hito no namae wa shirimasen.
(I) don’t know that man’s name.
1 BFEZ 2 HWF 2 3 BEA
namae meimae nazen

The correct answer is #1- 5% % .

% - 73 : 984 , atena, (recipient’s) name and address
DN B4, yamei, famous

A1 — ¥ Z : BRAT, ekimae, in front of the station
A 1 %A1, gozen, morning (a.m.)

3] bLIE ViU FFTT,
Watashi wa ryori ga heta desu.
(I) am not good at cooking.

1 Lxo7d 2 LT 3 NIz
jozu shitate heta

The correct answer is #3- \fz.

T — 3T, chika, basement
T, gehin, coarseness
L7=: 5T, toshishita, younger; junior

B.U5%: TU%, oriry, to descend (from the top of a mountain)

HELO  Wzld PIXWTED, 2% BHAWTT,

Watashi no ie wa chiisai desu ga, eki ni chikai desu.
My house is small, but the station is close.

1T HuXun 2 HXW 3 9A3WN
chiisai chisai urosai

Vocabulary S1 Answers

4 AN

kuroi
black

4 HWHA

meizen

4 L7zLw

shitashu

4 53X

urusai
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The correct answer is #1- BLMEL .

= LD /hFRL, shogakko, elementary school
HUY, Jv XUy, chiisai, small
Z :/\W, kosame, light rain

15 12IBACO  %ZEIT BUEWTT,
Nihongo no sensei ni naritai desu.
(I) want to become a Japanese teacher.
T 30N 2 HAEW
sakisei sensei

The correct answer is #2- AL .

% - BA %A, senshi, last week
XX : %2, sakini, previously

£ — B F4, gakusei, (university) student
d.FN5: EFN S, umareru, to be born
¥ © AE—)L, namabiiru, draft beer

BR YO(HWE—ILE DORITH,
Mai-tsuki dono kurai biiru o nomimasu ka.
How much beer do (you) drink every month?
1 Fnox 2 HVIOX
maizuki meizuki

The correct answer is #4- L D F .

# — F\ 38, mai-sha, every week

A - >X: A, tsuki, moon
i 1 —» A, ikkagetsu, (a period of) one month
H>: E A, shogatsu, New Year

(5%% 0-=0OT B&D HUIEA.
Kuruma o katta node okane ga arimasen.
() bought a car, so (I) don’t have money.

1 BFA 2 BH

ogin ogane

The correct answer is #3- HH 12 .

& - »ta: B&, okane, money
XA . £HER , kin'yobi, Friday
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3 #ALLD
sensho

3 DO

meitsuki

3 Bt

okane

4 XxL X9
sakisho

4 FoOX
maitsuki

4 BxA
okin



WOEFIZ W EDS XU FEVET,
Yo-ji ni kaigi ga hajimarimasu.
The meeting starts at 4.

T LC 2 IoC 3 LC
shi-ji yojji yo-ji

The correct answer is #3- K C .

9 - LA : W%, yonpun, 4 minutes
Lo .2 @D, yottsu, 4 (items)

BF — ¥ X BF, toki, time
C : BFRd , jikan, counter for hours

ZOnbIT IZIZAT WHIFA EWTT,
Kono kawa wa Nihon de ichi-ban nagai desu.
This river is the longest in Japan.

1T 280 PARAG/NN 3 500
toi nagai fukai
far long deep

The correct answer is #2- 7xH0L> .

& - A% v kW, nagai, long
519tk , shacho, company president

ERNIAIE WRIZ TAUHIT WiET,
Tanaka-san wa shi-gatsu ni Amerika ni ikimasu.
Mr. Tanaka is going to America in April.

1 LA 2 LA 3 LAy

shi-gatsu yon-gatsu shichi-gatsu

The correct answer is #1- LHD.

v9 — LA :V9%, yonpun, 4 minutes
Lo .o @, yottsu, 4 (items)

A - >X%: 8, tsuki, moon
\¥>:—» A, ikkagetsu, (a period of) one month
> ER, shogatsu, New Year

Vocabulary S1 Answers

4 AL

yon-ji

4 DAW
hiroi
wide

4 toho
yoggatsu
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1] wZF, sz wnEWTT,
Ima, nani ka o iitai desu.
Now, (I) want to say something.

1 BV EANVAS 3 0
-itai* iitai -itai*

*This spelling is not commonly used in Japanese.

The correct answer is #2- EL Mzl .

S > S

S - W.):59, iy, to say
\FA : BIS , jogen, advice
Z¥ : =%, kotoba, words; phrases

:E - Z:3%:E, Eigo, English (language)
- L.L 5L, yomu, to read
Y

1 3efR , dokkai, reading comprehension

% - 1374 .7 2, hanasu, to speak

(2] UwXrd5T J(E0T  (7EXu0,
Jugyo6 de yoku kiite kudasai.
Please listen well in class.

1 BWT 2 HEWT 3 FWT
kiite tsuite -ite*

*This spelling is not commonly used in Japanese.

The correct answer is #1- EWLT .

B — X, <<, kiku, fo listen
X.225%:HZ72%, kikoeru, to be heard
SSA L #iF , shinbun, newspaper

Bl — A B8R, jikan, time
7= M, aida, space; interval

¥ : R\, machigai, a mistake

sk — H5u: BB, raigetsu, next month
{.5%:%%, kuru, to come

4 FEWNTZW
-itai*

4 FNT
-ite*



ZOBARD VX »H2 LPWATT,
Sono onna no hito wa me ga chairo desu.
That woman’s eyes are brown.

1T H 2 B 3 8
hi me hyaku

The correct answer is #2- B .

H - (2% : HEEH , nichiyobi, Saturday
U :{KkH, kydjitsu, holiday
U : 8, hi, day
U': ABER , getsuydbi, Monday
M 18, toka, the 10th (day of the month)

B - £< : B4y, mokuteki, purpose; goal
®: B, me, eye
B - U%»<: 8, hyaku, 100
U< : 198, nan-byaku, how many 100s

B - LA.\: @AV, omoshiroi, interesting
12< : 224, kiahaku, blank space

6 Uiz Shld TETL
Roku-ji ni fune wa demasu yo.
The boat leaves at 6.

1T NFT 2 LF 3477

-masu* -masu® -masu*

*This spelling is not commonly used in Japanese.

The correct answer is #4- HE 9 .

A — 3. % A%, hairu, to enter
WL B NS ireru, to put in
12w :B&EAN , kénya, purchase

iy — XA : g+, fuji-san, Mt. Fuji
XA 1k, kazan, volcano
X°F : 1y, yama, mountain

A

T - W. < 4T7<, iku, to go
29 1 AT, ryoko, travel; trip
H -7~ .9 87, dasu, to put out

T.5%:%%, deru, to exit
Lw>: 3k, shucché, business trip

Vocabulary S2 Answers

4 A
haku

4 BET

demasu
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(5] brlLIc aTE FILIEXN,
Watashi ni mizu o sukoshi kudasai.
(Give) me a little water please.

1 %L 2 ML 3 L 4 KL
-shi* -shi* sukoshi -shi*

*This spelling is not commonly used in Japanese.

The correct answer is #3- 4L

% - BB .\ %\, 6i, many

7= : %, tasho, more or less

= LD /hFRL, shogakko, elementary school
HUy, J XUy, chiisai, small
Z :/\i¥9, kosame, light rain

A — Lx) V5, shonen, boys; juveniles
2.0l L, sukoshi, small quantity
T Ay, sukunai, few; a little

A - 2\ R¥FX, daisuki, beloved
7=\ KE , taihen, very; greatly
BB : KPR , Osaka, Osaka
BB . X0 KXW, okii, big, large

(6] ZzoBrzo VXiZ bELO UIT BDIHWTT,

Sono otoko no hito wa watashi no kuni de yamei desu.
That man is famous in my country.

1 2 3 4 ™
zu ko kuni yon
drawing harden country four

The correct answer is #3- & .

- Z{ :INEEE, gaikokugo, foreign language
12 : @, kuni, country

9 - LA : W%, yonpun, 4 minutes
Lo .2 W, yottsu, 4 (items)

ERNIAD BIXAZ LUFEA.
Tanaka-san no otosan o shirimasen.
() don’t know Mr. Tanaka’s father.

1T WY EEA 2 ) EEA 3 ) EEA 4 RUVIEA

-rimasen® shirimasen -rimasen® -rimasen®

*This spelling is not commonly used in Japanese.
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The correct answer is #2- 1Y ¥ & A .

Fo — L .5 : 55T\ 3, shitteiru, to know (something or someone)
L.5¥5%: 5585, shiraseru, to notify
4, : %o , chishiki, knowledge

(8] brLrblx Vo B2 ThHhoT BALTWELE,
Watashitachi wa hi no chikaku ni suwatte hanashite imashita.
We sat and talked near the fire.

TR 2 X 3 A
chichi hi hito
father fire person

The correct answer is #2- X .

R - 55 R, chichi, (my) father (humble)
Y9 BR XA, otésan, (your) father (honorable)

K — 7 KEEH , kayobi, Tuesday
Ok, hi, fire
Uz f8 2K, hanabi, fireworks

A - LA :SMNE A, gaikoku-jin, foreigner
IZA : = A, san-nin, 3 people
U 2 A, hito, person

K = FW\:KEER , suiydbi, Wednesday
&3 7K, mizu, water

(9] Luliz HWFELrIID,
Shichi-ji ni aimasho ka.
Let’s meet at 7.

[ 2 tEF 3 fuEg
jaichi-ji shichi-ji ku-ji
11:00 7:00 9:00

The correct answer is #2- £BF .

t - L% :tA, shichi-gatsu, July
7075 1, nana, 7
775 > £, nanatsu, 7 (things)
72D Al , nanoka, the 7th (day of the month)

BF — ¥ X1 BF, toki, time
C : B%R , jikan, counter for hours
¥5 :+8, toka, the 10th (day of the month)

Vocabulary S2 Answers

mizu
water

4 vV9BRF

yo-ji
4:00
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— - W5 1 —, ichi, one
¥ > —, hitotsu, one (thing)

- %w) gy, kya-fun, 9 minutes
{ : LA, ku-gatsu, September
22D .D: >, kokonotsu, 9 (things)

9 - LA :¥@%, yonpun, 4 minutes
Lo .D @, yottsu, 4 (items)

h=Ld RIlF o wWFD IZT RATHET,

Watashi no neko wa itsumo isu no ue de nete imasu.
My cat is always sleeping on (top of) the chair.

1 & 2 A 3 &
ato mae ue
after before up

The correct answer is #3- k.

L+t - Cxd: 1, jozu, skillful
9Z 1k, ue, above
.05 EN3, agaru, to rise; to go up
H.1T5: XI5, ageru, to raise
DIT.% : L%, noboru, to climb

% - 9L .A:1 %, ushiro, back
HY 12T, ato de, after
2 —BFR1% |, ichi-jikan-go, after one hour
Bl — £ Z : BRAT, eki mae, in front of the station
¥A : 477, gozen, morning (a.m.)
T — » 3T, chika, basement
1 : Tew, gehin, coarseness
L 7= : 5T, toshishita, younger; junior
B.U5: TY3, oriry, to descend (from the top of a mountain)

1] HreLIE N DPZVET,

Kono mikka-kan no uchi de dore ga ii desu ka.

I'm
1T 2 3
yon ou kuni
four king country/hometown
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shita
down

4 x

tama
ball
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The correct answer is #3- /1.,

9 — LA : W%, yonpun, 4 minutes
Lo .2 W, yottsu, 4 (items)
I -8):3E, ou, king

- Z<{ HMEA , gaikokujin, foreigner
12 &, kuni, country

E - ¥x<{: X%, gyokuro, high-quality green tea
7-%: %, tama, ball

12] rxx¥x rgrEbiz HVIT
Tokidoki tomodachi ni aimasu.
Sometimes (I) meet (my) friends.

(AR S 2 20WET 3 60WET 4 HWFET
-imasu® aimasu aimasu -imasu*

*This spelling is not commonly used in Japanese.

The correct answer is #2- WE T .

S -®.) 29, au, to meet
M s &3, kaigi, meeting

13| ZOTAL®IE XN WEIT,
Kono densha wa kita e ikimasu.
This train is going north.

T R 2 7 3 % 4 3t
higashi minami nishi kita
east south west north

The correct answer is #4- 1k .

Jt — %/=:3t, kita, north
13< : 3t , nanboku, north and south

R — UN'L : &, higashi, east
Y9 &, Tokyo, Tokyo
- L2 B, minami, south
7% A . #H% , nankyoku, South Pole

7 — 2L : 7, nishi, west
U\ : 7, nansei, southwest
Xuv: Bi? , Kansai, Kansai (area of Japan)
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WIVAERIE 230 FZ2I1T HUET,

Yubinkyoku wa eki no mae ni arimasu.

There is a post office in front of the station.

1/ 2
minami mae
south front

The correct answer is #2- Hi .

Al — ¥ Z2 : BRAT, eki mae, in front of the station
A 8T, gozen, morning (a.m.)
- HE A B, minami, south
LA ¢ 1% , nankyoku, South Pole
Rl — DA B5RE, jikan, time
H\\N7= M, aida, space; interval
F : &\, machigai, a mistake
% - 9L .5 145, ushiro, back
HY 18T, ato de, after
' —BFR4% |, ichi-jikan-go, after one hour

15] 28 UIz wziz »zU%E,
Gogo hachi-ji ni ie ni kaerimasu.
(I) am returning home at 8 p.m.

1 F1& 2 1%
gogo sen’ato*
afternoon

*This spelling is not commonly used in Japanese.

The correct answer is #1- F1% .

& - Z: %4, gogo, afternoon

#% - 9L .5 45, ushiro, back
HY 18T, ato de, after
2 —BFR4% |, ichi-jikan-go, after one hour

F - ®A :F, sen, a thousand

Bl — £ Z : BRAT, eki mae, in front of the station
HA 8T, gozen, morning (a.m.)

3 R
aida
between

3 Fur
senmae*

4 1
ato
after

4 R
gozen
morning



HEN FINH5T

(7230,

Migi e magatte kudasai.
Turn right, please.

1 R
tomo
friend

2 £

hidari
left

The correct answer is #3- A& .

7 — OMEY 2 4, hidari, left

X A4, sayq, left and right
B - A X4, migi, right

W) 1 A4, sayq, left and right

(ANTITAIT HELDOTT,
Kuroi zubon wa watashi no desu.
The black pants are mine.

1 Ny

zuban

2 iRy
zubon

The correct answer is #4- XK/ .

Y -zu /N -ba > -n R -bo
FWh A ThUE RET
Mai-nichi ni-jikan terebi o mimasu.
Every day (1) watch 2 hours of TV.
1 ¥7E 2 77k

tarabi terabi
/= -ta 7 -ra E -bi 7 -te
WE, 2L0HHH SoTHWE T,

Ima, tsuyoi ame ga futte imasu.
Now, (it) is raining hard.

1 #8
ame
candy

2 W
ame
rain

3

3 ANy

3

o
migi
right

zuban

X -zu

TLE
terebi

lSisg
=

yuki
snow

Vocabulary S2 Answers

4 5
ishi
stone

4 AR
zubon

4 7L E
tarebi

4 &
den
electricity
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The correct answer is #2- /.

M - ) WK, uten, rainy weather
H& : W, ame, rain

| — CTA:BR, denki, electricity

X195l LWWTAETT R,
Kyo wa ii tenki desu ne.
(It) is nice weather today.

1T XA 2 RR 3 K%
* tenki *

*This spelling is not commonly used in Japanese.

The correct answer is #2- X& .

X - TA: RA., tenki, weather
HFE : RDJ|, ama no gawa, the Milky Way

2 - X :7CA, genki, energetic

4 KA



=

hai

14 Vocabulary S3 Answers

A2—R—T B5I0 YATE HOELE,
Supa de goko no ringo o kaimashita.
(I) bought five apples at the supermarket.

1 1w 2 Fun 3

!
N
o
>

mai ko hon

The correct answer is #3- Z .

This is essentially a question about using counters. Apples ( }) AT, ringo) are smaller objects so we
can use the counter I, which is used to count smaller objects like this.

Other Answers

{3\ - hai, counter for cupfuls

27— 213w XkIi3E AT,

Supiin ni-hai no sat6 o iremashita.
() put two spoonfuls of sugar in.

F U\ — mai, counter for flat objects

FBEDO =X58%2 IV HoTWET,
Densha no kippu o san-mai motte imasu.
(I) have 3 tickets for the train.

1A - hon, counter for long cylindrical objects

2]

b-LIT =K X% F-5T0ET,
Watashi wa sanbon pen o motte imasu.
I have 3 pens.

IZIIATT AT (FEXW,
Nihongo de kotaete kudasai.
Please answer in Japanese.

1 270 ->7T 2 HI=LT 3 25T 4 22T
tsukatte watashite tsukutte kotaete

The correct answer is #4- C1c AT .

Looking at the first part of the sentence |Z1Z A Z T, in Japanese, we can guess we are talking about
speaking. We can't really say we ‘use’ (answer 1), or ‘make’ (answer 3), something in Japanese. Or ‘listen’
(answer 2), in Japanese. We usually listen to Japanese. So that leaves us with 27z ZC, which is the
T -form of Z7=2Z% (kotaeru, to answer). That fits the best in the sentence above.
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Other Answers

2> - tsukatte, T -form of 279 , tsukau, to use

FWIb LT Hi=Fr Oh->TWET,

Mainichi shigoto de atama o tsukatte imasu.
Every day, (1) use (my) head at work.

7= LT - watashite, T -form of 4>7/=7, watasu, to hand over (something)

ZDZAUDE  bIELTLEIN,
Sono enpitsu o watashite kudasai.
Pass (me) that pencil, please.

{5 T - tsukutte, T -form of 5<%, tsukuru, to make

Hr=LIE ' D(STWET,

Watashi wa pan o tsukutte imasu.
(I) am making bread.

(3] Z0XAZIZ SrHTOET,
Sono ginko ni tsutomete imasu.
(D) work (lit. serve) at that bank.

1 37=601WT 2 B\WT 3 22T
hataraite oite tsutomete

The correct answer is #3-2& 87T .

4 LZTklLT
shigoto shite

Z D$R4T (sono ginko, that bank) is marked with the (T particle, so we can’t use |37=5\T or L Z¥
LT both of these are used with the T particle to mark where the subject is working. HBW\T is the
T -form of H< (oku, to place), which doesn’t work here either. The best answer is D ¥ T, which is

used with the (T particle.

Other Answers

l37= 5T - hataraite, T -form of |3/=5¢ , hataraku, to work
2F/M RRET BE60TWET,

Ni-nen-kan Tokyo de hataraite imasu.
() have worked in Tokyo for two years.

BT - oite, T -form of H< , oku, to put

ZZIZBNWTLEE WD,
Koko ni oite kudasai.
Please put (it) here.

L Z¥ LT - shigoto shite, T -form of L Z¥ 3%, shigoto suru, to do a job
SH bHLIE LITZE KATWET,

Kyo watashi wa shigoto o yasunde imasu.
Today, (1) am taking a day off of work.
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bizLd 2»TOTIE S I2BE =RET,
Watashi no katei dewa yoku sakana o tabemasu.
In our household, (we) often eat fish.

= 2 =T 3 ATn 4 NZL
hashi tatemono katei kazoku
chopsticks building household family

The correct answer #3- H7TL>.

The T particle is used to mark where an action is taking place or the method we are using to do
something with. So a lot of the other answers seem to make sense in this sentence. However, it is

ungrammatical to mark them with the topic marking particle (3 .

Other Answers

3L - hashi, chopsticks
LT I FLE ELT ANIET

Watashi wa yoku sushi o hashi de tabemasu.
I usually eat sushi with chopsticks.

7=THD - tatemono, building

FALAIIHIE o8 2Tl dUET,
Ginko wa kono rippa na tatemono ni arimasu.
The bank is in this elegant building.

» %2 - kazoku, family

NI ECT AT3EL =,
Pari ni kazoku de ikimashita.
(I) went to Paris with my family.

(5] vwapt wWhizblwd  BuTHET,
Inu ga ichi-nichi-ju naite imasu.
(My) dog barks all day.

1T nwgHZ 2 W 3 BANK 4 TAZ
reizoko inu ongaku denki
refrigerator dog music electricity

The correct answer is #2- L &3 .

The verb at the end of this sentence is ZL\NTWWF ¥, which is the T+ WF ¥ form of 7L< , naku, to
make a sound (animal). So we need to look for something that makes an animal sound. Unless your

refrigerator is possessed by the devil, L\ \¥2 is the best match for that.
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NZ I 2 - reizoko, refrigerator

BHeld NWEHIZIT A-STWET,
Ocha wa reizoko ni haitte imasu.
The tea is in the refrigerator.

BANK - ongaku, music
HrzLIE BAMNE HELNL5 ZHLLIET

Watashi wa ongaku o kikinagara s6ji shimasu.
While I listen to music, I clean.

TA X - denki, electricity; lights

TAER DT (E3W,
Denki o tsukete kudasai.
Turn on the lights, please.

(6] TLEZ FLT (FEXWN,
Terebi o keshite kudasai.
Turn off the TV, please.

1T ©TAT 2 BUYT 3 LT
yasunde orite keshite
take a break get off turn off

The correct answer is #3-13 LT .

4 12T

nete
lie down

Since 7 L £ is marked with % , we know it’s the object of the sentence. So, what can we do with a
TV? X>FAT and #Q7T are intransitive and can’t take an object. $1) T can’t be used in this sentence

obviously, so you just have |7 LT, ‘to switch off”.

Other Answers

X°>3AT - yasunde, T -form of {kZ>, yasumu, to take a break

S8 brLE LIY® hRATOET,

Kyo watashi wa shigoto o yasunde imasu.
Today, (1) am taking a day off of work.

H1) T - orite, T -form of H1) 5, oriru, to get off; to alight
RKIRERT  BYTLEXWN,

Osaka eki de orite kudasai.
Get off at Osaka station, please.

#aT - nete, T -form of 425 , neru, to sleep; to lie down
Nzl bHELO WTIT HATHWET,

Neko wa watashi no isu de nete imasu.
(My) cat is sleeping on my chair.
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WOH Lo lwINAIl SAZIDD 1ZAEZ SHFT
Itsumo isshi-kan ni san-satsu no hon o yomimasu.
(I) always read three books a week.

1 IAXD 2 XAIXA 3 XAFW 4 AT
san-satsu sanbon san-mai sanbai

The correct answer is #1- TAED.

This is a question about counters. Which counter should we use in this sentence? Should we use 1) X,
2) 1A, 3) FuW or 4) I3 ? Since we are counting books, we should use X2, which is usually used
to talk about volumes.

Other Answers

XAIXA - sanbon, 3 ( XA, san) long cylindrical objects ( 4%, hon)
LT =F X% EFo5T0ET,

Watashi wa sanbon pen o motte imasu.
I have three pens.

XA F\ - san-mai, 3 ( XA, san) flat objects ( L\, mai)

FBED 2535% 3F0 HoTHET,
Densha no kippu o san-mai motte imasu.
(I) have three tickets for the train.

TAILV — sanbai, 3 ( XA, san) cupfuls ( I\, hai)

27— 2130w X¥IHI3E O ANnFL,

Supiin ni-hai no sat6 o iremashita.
() put two spoonfuls of sugar in.

(8] oIz FTRAMY HUETH HFEY NAXL)  LTOVAELDOT  TEST0ET,
Getsuyobi ni tesuto ga arimasu ga amari benkyo shite inai node komatte imasu.
There is a test on Monday, but (I) haven’t been studying so much, so (I) am in trouble.

1 WH5-5TWET 2 DYHTWET
naratte imasu tsutomete imasu
learning serving (for a company)

3 TXTWET 4 2FoT0ET
dekite imasu komatte imasu
to be ready to be in trouble

The correct answer is #4- T X > TWET .

The speaker has a test, but hasn’t been studying that much. That sounds like a tough situation, so
the best fit is ZF>TWET .
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Other Answers

55 CWE$ - naratte imasu, the T\ 7 form of 759 , narau, to learn

b=l FI¥—% LH5-oT0ET,
Watashi wa gita o naratte imasu.
I am learning guitar.

DY HTNET - tsutomete imasu, the T E T form of DX %, tsutomeru, to serve (a company)

LI B2rLD 2z DY¥HTHWIT,

Watashi wa okashi no kaisha ni tsutomete imasu.
(D) (work for / serve) a sweets company.

TXT\WE T - dekite imasu, the T\ F T form of TX%, dekiru, to be able (to do something)

N F72 TETWIEA

Kore wa mada dekite imasen.
This isn’t ready yet.

9] X-LLXAE 4PV (3FF E-oT0ETL,
Kitamura-san wa yon-dai no kuruma o motte imasu yo.
Ms. Kitamura has 4 cars.

1 XA 2 7=\ 3 M 4 13w
ban dai kai hai

The correct answer is #2- 720> .

This is another question about which counter to use. This time, we are talking about cars. Cars are

‘machines’ so we can use the counter for machines — 7=\\.

IXA - ban, night; counter for nights

ZO—HAMDIL, SN=TA. ZORTIVIC YFVET,
Sono isshi-kan no uchi, futaban, sono hoteru ni tomarimasu.
During that week, (1) am staying at that hotel two nights.

M — kai, counter for times

Vo NMFDIT AW BIEIC 7359,
Ikkagetsu ni san-kai oyogi ni ikimasu.
(D) go swimming 3 times a month.

IV — hai, counter for cupfuls

AT—=r Zldnwo TXIHE AT LA,

Supiin ni-hai no sato o iremashita.
(D) put two spoonfuls of sugar in.
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POED VE ALY ANT (EXN,
Kaigi no hi o karenda ni kaite kudasai.
Please write the day of the meeting on the calendar.

1T = 2 NUAF 3 77 4 HLvF—
shiiru hankachi tépu karenda
sticker handkerchief tape calendar

The correct answer is #4- AL > 5 —.

The topic of the sentence is a meeting day, 7"\VX¢® (), which we can write on a calendar. None
of the other answers makes much sense.

v —JL - shiiru, sticker

ZOY—=IE  ZHIT 1IS5TLIEERN,
Kono shiiru o sore ni hatte kudasai.
Please attach this sticker there.

/N> 77F — hankachi, handkerchief
NoHFIE RN HYFET,

Hankachi wa poketto ni arimasu.
There is a handkerchief in (his) pocket.

7 —7 - tépu, tape
rxrx HFuwir—7% ®H3FT,

Tokidoki furui tépu o kikimasu.
Sometimes (I) listen to old tapes.

M) B350 WELIELEL, DLT (30,
Ofuro ga nuruku narimashita yo. Atsuku shite kudasai.
The bath has gotten lukewarm. Please warm it up.

1 99K 2 3% 3 oK 4 ¥a5<¢
usuku hosoku atsuku nuruku
thin thin hot lukewarm

The correct answer is #4- %< .

The second sentence asks the listener to warm something up, so it makes sense that the bath has

gotten lukewarm. I\ is usually used to describe objects with volume, like a person. 9 ¢ \»
can be used to describe a liquid (e.g. thin vs. thick soup), which doesn’t make sense here since the

speaker is talking about warming it up. We can’t use D\, because the speaker wants it to be
hotter.
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Other Answers

93\ — usui, thin (for relatively flat objects or liquids)

ZHa—kt—ld bBro¥ IHITVTT
Kono kohii wa chotto usui desu.
This coffee is a little weak.

1<\ — hosoi, thin (for objects with volume)

ZOT—=7ND HLIT KT 1IZ2VWTT,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

HDOU — atsui, hot (thing)
HhoOWI—E—=2 HYFTL

Atsui kohii ga arimasu yo.
There is hot coffee.

12] 21913 XLVWOT HOV IbX¥E XFLiI,
Kyo wa samui node atsui uwagi o kimasho.
It’s cold today, so let’s put on a thick jacket.

1T ®FEW 2 HOW 3 BBw 4 32N
semai atsui oi futoi
narrow thick many fat

The correct answer is #2- 20> .

HDU actually has three meanings — hot (thing), hot (weather) or thick. The three different
meanings use different kanji. 2\ (atsui) means ‘hot (thing)’, &\ (atsui) means ‘hot (weather)’, &
U (atsui) means ‘thick’ or ‘deep’. Unfortunately at the NS level, you do not have kanji to help you,
so keep these meanings in mind when you see the word in hiragana.

We can’t use 3-¥ U to talk about a thicker jacket. It’s not commonly used to describe jackets
actually, but it can be used to describe ‘wide pants’.

3L WK

futoi zubon

wide pants

Other Answers

& F\\ - semai, narrow; confined

LD IZhld brok HFWTT,

Watashi no niwa wa chotto semai desu.
My garden is a little small (lit., narrow).
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BB - 6i, many
ZOSWIE DEHN BBWTT,

Kono fuyu wa yuki ga oi desu.
This winter, there is a lot of snow.

S¥ W — futoi, fat

BYLEIAT JxwizT #ELFLA,
Morishita-san wa futoi koe de hanashimashita.
Mr. Morishita spoke in a deep voice.

13] bhELD a—t—ld, EEIIADLY  HITVTT,
Watashi no kohii wa, Tanaka-san no yori usui desu.
My coffee is weaker than Mr. Tanaka’s.

(IREC AN 2 HFun 3970 4 320
hosoi semai usui futoi
thin narrow thin fat

The correct answer is #3- 590>,

To describe something that is relatively flat or is a liquid like coffee, we need to use 9 3\ (usui,
thin; weak). |3Z\» (hosoi) does mean ‘thin’, but it is used for something with more volume like a
person. 3¢\ (futoi, fat) also can’t be used to describe a liquid like this. It is most often used to
describe something that is voluminous and round like a cable or wire.

Other Answers

1ZZ ™ - hosoi, thin (for objects with volume)

ZOT7T—=7NVD HLIT KT 13Z2VWTH,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

HF U\ - semai, narrow; confined

HELD IZhld bro¥ HFFIWTT,

Watashi no niwa wa chotto semai desu.
My garden is a little small (lit., narrow).

S — futoi, fat
BYLEIAIT HxnwIzxT #=HLFELA,

Morishita-san wa futoi koe de hanashimashita.
Mr. Morishita spoke in a deep voice.
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WD 2D IbEE LI,
Itsu sono uwagi o kaeshimasu ka.
When are (you) going to return that jacket?

1 MZALET 2 LNEET 3 nAVET 4 PIVET
kaeshimasu migakimasu kaerimasu kaburimasu
to return to polish to return (home) to put on (one’s head)

The correct answer is #1-hZ LZE 7 .

We are asking a question, so we can assume the subject is ‘you’. And the object is a jacket. What
can ‘you’ do with a jacket? Well, we can’t polish it and you would get some strange looks if you put
it on your head. So answers 2 and 4 are out. The verb »'Z ) ¢ (kaerimasu) is used to talk about a
person returning home, and it’s intransitive so it doesn’t take an object. That leaves us with 7*%2 L £
3 (kaeshimasu).

Other Answers

A7V % F 9 — migakimasu, the polite non-past form of £ 7'< , migaku, to polish; to brush (one’s) teeth

RNBENT 3% HAAWTLES N,
Neru mae ni ha o migaite kudasai.
Before going to bed, please brush (your) teeth.

M Z V) £4 - kaerimasu, the polite non-past form of »*'Z % , kaeru, to return (home)

AW Dtk riVELE,
Eiga no ato kaerimashita.
(I) went home after the movie.

M3 £ 3 - kaburimasu, the polite non-past form of 7325 , kaburu, to put on (one’s head)

BNIAE #HLWIHILE -5 ThFELA,
Ishikawa-san wa atarashii boshi o kabutte imashita.
Ms. Ishikawa was wearing a new hat.

5] L»>T21c Zolkix X%FT,
Shi-gatsu goro ni kono hana wa sakimasu.
This flower blooms around April.

1T bxF 7 2 XxF9 3 3LET 4 30FET
akimasu sakimasu sashimasu furimasu
to open to bloom to open (an umbrella)  to fall (rain)

The correct answer is #2- & %9 .

The subject of the sentence is |37 (hana, flower). What can a flower do? You might think it can
open ( & %%, akimasu) like answer 1. But, there is actually a different reading to describe the
action of a flower opening. We use Ff < (hiraku, to bloom; to unfold). Note it uses the same kanji,
and can easily get confused with < (aku, to open). You use different readings depending on the
context.



Vocabulary S3 Answers

So answer 1 is out. And flowers cannot use X[ 7 (sashimasu, to open [an umbrella]). This is
usually an action limited to people. 3-1) £ ¥ (furimasu, to fall) is almost always used with weather
like rain, sleet, or snow. If you want to talk about the flowers ‘falling,’ you should use 85 %7
(ochimasu, to fall down; to drop). That just leaves X X3 (sakimasu, to bloom).

Other Answers

& XX 7 - akimasu, the polite non-past form of < , aku, to open
ZOJEIX fAERIC BAXET.

Kono mise wa nan-ji ni akimasu ka.
What time does this store open?

XL £ - sashimasu, the polite non-past form of X7, sasu, to open (an umbrella)

anps ET»s X% XLET,
Kuruma kara dete kara kasa o sashimasu.
Once (1) got out of the car, (I) opened (my) umbrella.

31 £4 - furimasu, the polite non-past form of 3.5 , furu, to fall (rain)

D) WA H-oTwIEL,
Kin6 ame ga futte imashita.
Yesterday (it) rained.

N IAIE L R—=¥—% BUIL -,
Tanaka-san wa erebéta o orimashita.
Mr. Tanaka got off the elevator.

1T Ry 2 77— 3 L RXR—=F— 4 ML
surippa puru erebéta toire
slippers (swimming) pool elevator restroom

The correct answer 3- TLAX—%2—,

First, take a look at the verb of the sentence - $1) £4 (orimasu, to get off). What can we get off
of? We can get off trains and buses. But we can’t get off A').y/X (surippa, slippers). We get out of
a pool, not get off of one and unless the restroom ( kA L, toire) is on stilts, we can’t use answer 4.

That leaves use with ZT] X—%¥— .

Other Answers

A1) w7\ — surippa, slipper

WATIE Ay ITVWTLESN,
le dewa surippa o haite kudasai.
In the house, wear slippers, please.
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7—)l - piru, pool
LI Thbiz T=IbE DY EWTT,

Watashi wa niwa ni piru o tsukuritai desu.
I want to make a pool in my yard.

M4 L - toire, restroom

MML%Z »LTLEIN,

Toire o kashite kudasai.
Can I use your bathroom? (lit., Lend me your bathroom, please.)

L)

By
LR

/!

178508
P

(O®lF HOHLDO LI HUIT,
Kutsuya wa ano michi no muko ni arimasu.
The shoe store is on the other side of the street.

1T LA 2 £29 3 ¥% 4 0'H
ushiro muko mae gawa
behind across the ~ in front of side

The correct answer is #2-HZ 5 .

There will most likely be one question in the Contextually-defined Expressions part of the
Vocabulary section that involves location words and an illustration. Knowing your location words
well can really pay off. Here we are talking about the shoe store ( {-2X°, kutsuya) in relation to the
street ( HDAHH , ano michi). We typically use 9 L5 and F % for objects that partially cover or
obstruct another. And, it is too confusing to use 7'%> .

The best answer is 229 (muko, across the ~; on the opposite side of ~). Keep in mind that we use
this word with the object being crossed, not the object across from or facing a location we want to
describe.

O LD wzix N L&IH »HVET
Watashi no ie wa kawa no muko ni arimasu.
My house is on the opposite side of the river.

Other Answers

9 L A - ushiro, behind

LD EAIZ SLEIRWTLESN,
Watashi no ushiro ni tatanaide kudasai.
Don’t stand behind me.
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¥ Z - mae, in front of

WAD RN BHOWRY HUIET
le no mae ni takai ki ga arimasu.
There is a tall tree in front of (my) house.

N4 — gawa, side

PEYIE AHEINDIT HYET
Yaoya wa migigawa ni arimasu.
The greengrocer is on the right side.

‘ES'

<
elshEh HOLEEh [CLEHEN

BYLEIAT 7EUhIAY IZLLHEIAD  HWEIZ WwWET,
Morishita-san wa Tanaka-san to Nishimura-san no aida ni imasu.
Ms. Morishita is between Ms. Tanaka and Mr. Nishimura.

1T X% 2 225 3 HWE 4 UMZY
mae tokoro aida hidari
In front of place between left

The correct answer is #3- LMz .

This is a simple matter of knowing what location word to use. The sentence uses the ¥ particle to

connect Ms. Tanaka and Mr. Nishimura. What location word can we use with the ¥ particle? Well,

the word $\ /= usually needs two objects to be between and uses the ¥ particle to mark those

items. None of the other answers can be used in this situation because of the ¥ particle.

Other Answers

¥ Z - mae, in front of

WD AN mUWKRDY HUET,
le no mae ni takai ki ga arimasu.
There is a tall tree in front of (my) house.

¥ Z % - tokoro, place

ZONPITIE RNHZXIAN HUEEA
Kono heya niwa neru tokoro ga arimasen.
There is no place to sleep in this room.
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OMZY - hidari, left

N ENST (XN,
Hidari e magatte kudasai.
Turn left, please.

IZLLHIAE DVEAE DIF->THET,
Nishimura-san wa kaidan o nobotte imasu.
Ms. Nishimura is climbing the stairs.

1 ADA 2 FwWYIs 3 NWEA 4 5570
genkan daidokoro kaidan roka
entryway kitchen stairs hallway

The correct answer is #3- bW \FEA .

This question is essentially checking your vocabulary knowledge with a picture. It's common to see
at least one of these on the test in this section. Obviously what you see in the picture is a staircase,
which is 7*\/Z A in Japanese.

Other Answers

\FA DA - genkan, entryway
TADAD Z50% LELK

Genkan no soji o shimashita.
(D) cleaned the entryway.

7=\ ¥’ 2 A — daidokoro, kitchen

HELO WZlE EFWYIAN bio¥ hENWTT,
Watashi no ie wa daidokoro ga chotto chiisai desu.
My house’s kitchen is a little small.

%9 H - roka, hallway

HILWTTNL, AIN%E FLELVTLEIN,
Abunai desu kara, roka o hashiranaide kudasai.
It’s dangerous, so don’t run down the hallway.
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FDIIAE Wb XAD D20 712 HUET,
Sono hon wa Ishikawa-san no tsukue no ue ni arimasu.
The book is on Ms. Ishikawa’s desk.

1 2<{ 2 2 T—7) 3 W§ 4 ZATER
tsukue téburu isu hondana
desk table chair bookshelf

The correct answer is #1- D< % .

This question is basically asking if you can identify the object in the picture. It’s likely that you will
see at least one of these on the test. You can see a desk in the picture, so the answer is ©<¢ % .

Other Answers

7—7)l, téburu, table

ZDOT—=7ND HLIZ KLTUIZWTT,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

W77, isu, chair

WTE LoD LBHERNTLEIN,
Isu o yottsu narabete kudasai.
Please set out four chairs.

1ZA 7275, hondana, bookshelf
ZAERIZ LA HUET,

Hondana ni jisho ga arimasu.
There is a dictionary in the bookshelf.
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(1] BIEIAE HL— FETHL.

Obasan wa karé ga suki desu.

My aunt likes curry.

T B0HIAD B»HIAT HL— =TT,
Okasan no okasan wa karé ga suki desu.
My mother’s mother likes curry.

2 BYHIZAD Hlx HL—» FTETT,
Otosan no ane wa karé ga suki desu.
My father’s older sister likes curry.

3 BEIZAD BUEIZIAWK HL—» F=ETY,
Otosan no otdsan wa karé ga suki desu.
My father’s father likes curry.

4 BhrHIXAD Bkl HL—» FT=E2TH,
Okasan no ototo wa karé ga suki desu.
My mother’s younger brother likes curry.

The correct answer is #2-HES3TAD HRhlk AHL—H FTETT.

BITZA = BLHIZADHN
obasan otdosan no ane
aunt father’s older sister

(2] brLIE ruE58 $RVWTT,
Watashi wa tomodachi ga sukunai desu.
I have a few friends.

T HLIEE XBELHD (XA WIEA,
Watashi wa tomodachi ga takusan imasen.
I don’t have a lot of friends.

2 HLIE XEELBH BVWIWTT,
Watashi wa tomodachi ga chiisai desu.
My friends are small.

3 bl XHEBIE WX TT,
Watashi no tomodachi wa ii hito desu.
My friends are good people.

4 HLIE CHELHN BBEWTT,
Watashi wa tomodachi ga 6zei desu.

I have many friends.

The correct answer is #1- b Lid &&fcbh fc{TA LIFEA.

FLBWTT, = =(XA WEtA,
Sukunai desu. Takusan imasen.
A few. Not a lot.
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k8B —H¥ (BHYTL,

Doyobi ichi-nichi-ji kumori deshita.

(It) was cloudy all day Saturday.

1 2498 —BF wWwiEp' 3-oTnIlr
Doyobi ichi-nichi-ja yuki ga futte imashita.
(It) snowed all day Saturday.

2 £X58B —BY &250-5kTH,
Doyobi ichi-nichi-ju akarukatta desu.
(It) was bright all day Saturday.

3 259 —HB¥ BENTWIEHATLE
Doyobi ichi-nichi-ja harete imasen deshita.
(It) wasn’t sunny all day Saturday.

4 x> —HY HHH IoTnFLr

Doyobi ichi-nichi-ja ame ga futte imashita.
(It) rained all day Saturday.

The correct answer is #3- £&5H —H®F IIhTWFEFEATLE.

CBHYTLE, = INTHFEFRHATL =,
Kumori deshita. Harete imasen deshita.
(It) was cloudy. (It) wasn’t sunny.

biLD BLWIAE ¥IXrIT FTATHET,
Watashi no ojiisan wa Tokyo ni sunde imasu.
My grandfather lives in Tokyo.

1 HELO BLIZTAD HITIE ¥IHIXLIHIT FATHIET,
Watashi no otosan no ani wa Tokyo ni sunde imasu.
My father’s older brother lives in Tokyo.

2 BELO BEIZAD WEHLIE ¥IZLIIT FATHWIT,
Watashi no otosan no imoto wa Tokyo ni sunde imasu.
My father’s younger sister lives in Tokyo.

3bELD BENHIAD BEHIAIT ¥IZTLIHT FATHIT,
Watashi no okasan no okasan wa Tokyo ni sunde imasu.
My mother’s mother lives in Tokyo.

4 HLO BPHIAD BLIZALE ¥IZLIHNT FATHWIT,
Watashi no okasan no otosan wa Tokyo ni sunde imasu.
My mother’s father lives in Tokyo.

The correct answer is #4- e LD EHHETAD HES5FAIE E5FLSIC TATLET .

LD BLWIA LD BIrHIAD BLIZA
watashi no ojiisan watashi no okasan no otdsan
my grandfather my mother’s father
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(5] brLIE HL—=n" EFWTETT,
Watashi wa karé ga daisuki desu.
I love curry.

1 HLIE #HL—% 7=XNE(RWTT,
Watashi wa karé o tabetaku nai desu.
I don’t want to eat curry.

2 bLIE AL—% =ZA EXNEWTT,
Watashi wa karé o takusan tabetai desu.
I want to eat a lot of curry.

3 bizLIE AL—=A Z50TT,
Watashi wa karé ga kirai desu.
I hate curry.

4 HrLIET HlL—% DKVFET,

Watashi wa karé o tsukurimasu.
I'm going to make curry.

The correct answer is #2- bfzLid HlL—% F<Th XfcWTT .

A= FEWTETY, = HL—% 7={(JA §EXEZWTT,
Karé ga daisuki desu. Karé o takusan tabetai desu.
(I) love curry. (I) want to eat a lot of curry.

(6] VWWTAXEDNL, 2392A% HEXFL 1,
li tenki dakara, koen o arukimasho.
(It’s) good weather, so let’s walk in the park.

T WWTAZENS, 2IZAE  TZAIX LILLI.

li tenki dakara, kéen o sanpo shimasho.
(It’s) good weather, so let’s stroll through the park.

2 WWTAXENL, 29Z2A% EXhniz LELLEI,.
li tenki dakara, koen o kirei ni shimasho.
(It’s) good weather, so let’s clean the park.
3 VWWTAXENS, 2I9ZAT HZUFELII,
ii tenki dakara, koen de asobimasho.
(It’s) good weather, so let’s play in the park.
4 WVWTAZEEDNL, 2I22A%2 ELUELLEI,

li tenki dakara, koen o hashirimasho.
(It’s) good weather, so let’s run in the park.

The correct answer is #1- WWTAERD S, T5ZA%Z TAIZT

HHZ2FEL LI, = TAIIX LIl
Arukimasho. Sanpo shimasho.
Let’s walk. Let’s go for a stroll.
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HUED NP HrHNTTA,
Anata no heya wa akarui desu ne.
Your room is bright.

1 70 ~\XlI PTVWTT4H,
Anata no heya wa yasui desu ne.
Your room is cheap.

2 RO APIE LT,
Anata no heya wa kirei desu ne.
Your room is clean.

35D NI VANTTHA,
Anata no heya wa hiroi desu ne.
Your room is spacious.

4 HRED AP (B(RNTT,
Anata no heya wa kuraku nai desu ne.
Your room is not dark.

The correct answer is #4- BEFD ~A\PlIE <SGV TTAH.

BB = (6N
akarui kuraku nai
bright not dark

HALWIT HOHI-7=TT,
Senshii wa atsukatta desu.
(It) was hot last week.

1 BALwIIE 7=OLN->7=TT,
Senshi wa tanoshikatta desu.
Last week was fun.
2 BALWIE FTTL2r-/=TT,
Sensha wa suzushikatta desu.
(It) was cool last week.
3 FALWYWIIE BELADNSKETT,
Senshii wa omoshirokatta desu.
I had a good time last week. (lit., Last week was interesting.)
4 FALwIIE ILABHN-ETT,
Senshi wa samuku nakatta desu.
(It) wasn’t cold last week.

The correct answer is #4- AL SlE TG HHHETT .

HONol= = XL o7=
atsukatta samuku nakatta
was hot wasn’t cold
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9] zx vriz :253%  brlELr
Eki no hito ni kippu o watashimashita.
() handed the ticket over to the station staff.

1 235303 7LD HF-o5THhET,

Kippu wa watashi ga motte imasu.
I am holding the ticket.

2 353U Z2F0 DY EoT0nIY,

Kippu wa eki no hito ga motte imasu.
The station staff are holding the ticket.

3 X580 2HIAIT HYFET

Kippu wa koban ni arimasu.
The ticket is in the police box.

4 25303 TAL»D BT HYET
Kippu wa densha no naka ni arimasu.
The ticket is inside the train.

The correct answer is #2- o XIF ZTED UVEHDH H-H-TLET .

ZED VI E2o53% bllIlk, = 25303 230 Ded £-5T0EY,

Eki no hito ni kippu o watashimashita. Kippu wa eki no hito ga motte imasu.
() handed the ticket over to the station staff. The station staff are holding the ticket.

F—FlI MnFS521T 1Tn-ThET,
Kéeki wa reizoko ni haitte imasu.
The cake has been put into the refrigerator.

1T 7—FIF NnwEHIZIT F-oTnFE L

Kéki wa reizoko ni hatte imashita.
The cake has been attached to the refrigerator.

2 7T—F% N\ IIs ElIlil,
Keki o reizoko kara dashimashita.
(I) took the cake out of the refrigerator.
3 7—FF NnEIHITIT BLWTWIT,
Keki wa reizoko ni oite imasu.
The cake has been placed in the refrigerator.
4 7—FF hwZEH 0 ZFric HUET,

Kéki wa reizoko no soto ni arimasu.
The cake is outside of the refrigerator.

The correct answer is #3- 7—F& hWZS5ZIc HVLWTWVET .

TVWosTWET = BWTWET
haitte imasu oite imasu
put into place (on)
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16 How to Improve Your Reading
Comprehension Translation

Do you understand the when, where, who, what, why and how of the
passage?

przliz kBO £IO5B CBELN UoZALILENS £JOHIC EET RR
12 AT%FL75=, RRT X3EBIT $-T E—LE KRAEFLT

ROMAJI

Watashi wa senshi no doyobi tomodachi ga kekkon shimashita kara kin'yobi ni densha de Tokyo ni
ikimashita. Tokyo de tomodachi ni atte biiru o nomimashita.

ENGLISH

I went to Tokyo by train last Friday because my friend was getting married Saturday. (I) met my
friend in Tokyo and drank beer.

Give it a Shot!

[1]
LBIELENLD  THKTT,

EE2 Y IN

S5A17THD S5 RRIT T73%%9, 19HD HIIT »zUE¥, ZLT 18HOD
HIX NPWETY, VITTD, HWEWTT,

VA4

To2Uo3AF WD DETED,

a. 18 HO [5%
b. 178D &»X

ROMAJI

Tomodachi kara no tegami desu.

Matto-san,

Go-gatsu juanana-nichi no yoru ni Tokyo ni ikimasu. Juku-nichi no asa ni kaerimasu. Soshite, juhachi-
nichi no asa wa kaigi desu. Hima desu ka. Aitai desu.

Aran

Aran-san wa itsu hima desu ka.
a. juhachi-nichi no yoru
b. janana-nichi no asa
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ENGLISH

A letter from a friend

Matt,

(I) am going to Tokyo on the night of May 17th. (I) am returning on the morning of the 19th.
And there is a meeting on the morning of the 18th. Are you free? (I) want to meet (you).

Alan

When is Alan free?
a the night of the 18th
b the morning of the 17th

2
HEIANLD A—ILTT,

WL H XA,

HLEIE PVWETT, PWED  FNT Kz DoTEWUEIN, Znb, ZORIC
NNWED ~NPEH LIHICLT (L3,

WLDhIAIE Itz g2 LETr,
1 KE EBuid,
2 DWED ANYE ZIH5LLFET,

ROMAJI

Tanaka-san kara no méru desu.

Ishikawa-san,

Ashita wa kaigi desu. Kaigi no mae ni mizu o katte kite kudasai. Sore kara, sono mae ni kaigi no heya
mo s0ji shite kudasai.

Ishikawa-san wa hajime ni nani o shimasu ka.
1 Mizu o kaimasu.
2 Kaigi no heya wo soji shimasu.

ENGLISH

Mail from Mr. Tanaka

Mr. Ishikawa,
There is a meeting tomorrow. Before the meeting buy some water and bring it please. And then,
before that, clean the meeting room.

What is Mr. Ishikawa going to do first?
1 buy water
2 clean the meeting room



How to Improve Your Reading Comprehension Translation

brLIx Brrv #Hlur—Ls% BuiElrk, Z0BE WEAFLYSEOT F—L%

LEGATLE, 20) Bririd 2or—L% LIl £ Bririd bHELIC
Thze DNZALTOWIRA,

Eny r—L%  LELED,
1T Brirr
2 Brorr Thr-L)

ROMAJI

Watashi wa ototoi atarashii gému o kaimashita. Sono hi wa isogashikatta node gému o shimasen deshita.
Kino ototo wa sono gému o shimashita. Mada ototo wa watashi ni sore o kaeshite imasen.
Dare ga gému o shimashita ka.

1 ototo

2 ototo to “watashi”

ENGLISH

The day before yesterday I bought a new game. That day, (I) was busy, so (I) didn’t play the game.
Yesterday my younger brother played that game. My younger brother still hasn’t returned that to me.

Who played the game?
1 younger brother
2 younger brother and I

Break Down Sentences to Improve your Comprehension

BNMEAE, EBELD RIT REHET #oMNMEZDVD %2 woLxic BRIl
Ishikawa-san wa, tomodachi ga ie ni kita ato de haha no kureta diibuidii o issho ni mimashita.
After his friend came, Mr. Ishikawa watched the DVD his mom gave him with his friend.

(1] Ehr REzLED, = X3EL [/ BNSAL /S #
Dare ga kimashita ka. tomodachi / Ishikawa-san / haha
Who came? friend / Mr. Ishikawa / mother

(2] 7=t DVD % (hFELED, — Y85/ BISAL /&
Dare ga diibuidii o kuremashita ka. tomodachi / Ishikawa-san / haha
Who gave the DVD? friend / Mr. Ishikawa / mother

Eint DVD % RIELEN, — BINSA / XdESL [/ BNSAY riES
Dare ga diibuidii o mimashita ka. Ishikawa-san / tomodachi / Ishikawa-san to tomodachi
Who watched the DVD? Mr. Ishikawa / a friend / Mr. Ishikawa and a friend
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Give it a Shot!

(1] brLid, s DAormRH—hE 13WT ToridELr
Watashi wa, ane ga tsukutta sukato o haite dekakemashita.
I put on the skirt my older sister made and went out.

a. EnA AA—b%z 1ZWT THrFELED?, — bEL / Hi

Dare ga sukato o haite dekakemashita ka. watashi / ane

Who put on the skirt and went out? I/ my older sister
b. ZhA AH—t% DKVFELED. — L /S HA

Dare ga sukato o tsukurimashita ka. watashi / ane

Who made the skirt? I/ my older sister

(2] Bizld, bELY Brienrb MIEFRE HGaIlfz
Ani wa, watashi ga ototo kara karita hon o yomimashita.
My older brother read the book I borrowed from my younger brother.

a. Enn Rr& @mEILEN. — BT S bEL S BrHL

Dare ga hon o yomimashita ka. ani / watashi / ototo

Who read the book? my older brother / 1 / my younger brother
b. Zhnt A& »VFELEDI.— HIZ S bEL S BrIL

Dare ga hon o karimashita ka. ani / watashi / ototo

Who borrowed the book? my older brother / 1 / my younger brother
. Enns ARz MJELer.—> HIZ S L S BrHL

Dare kara hon o karimashita ka. ani / watashi / ototo

Who did (I) borrow the book from? my older brother / I / my younger brother

(3] 7=23XA1F bELY BIFTERIZIAE LTOELEN Sld 2TLaIANEL B
Lol 7894% LTWET,

Taro-san wa watashi ga ageta nekutai o shite imashita ga, ima wa Kasumi-san kara moratta
nekutai o shite imasu.
Taro was wearing the tie I gave him, but now (he) is wearing the tie (he) got from Kasumi.

a. Nt x794%  LTC0WETH, = bzl /=534 /S DTHEIA

Dare ga nekutai o shite imasu ka. watashi / Taro-san / Kasumi-san
Who is wearing the tie? 1/ Taro / Kasumi

b. =it x794% HIFELED, — bzl / »TEIA / blLY DPTLIA
Dare ga nekutai o agemashita ka. watashi / Kasumi-san / watashi to Kasumi-san
Who gave the tie? I/ Kasumi / I and Kasumi

C. NN EAIZAIL EAIZAN 45 LTWaxI794% HIFELED», —
Dare ga Taro-san ni Taro-san ga ima shiteiru nekutai o agemashita ka.
Who gave the tie to Taro that Taro is wearing now?

br=L / »THEIA SblLY »THEIA

watashi / Kasumi-san / watashi to Kasumi-san
I/ Kasumi / I and Kasumi
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Understanding Conjunctions to Understand Flow
Give it a Shot!

(1]
ZOEXLIBIT N=TA4=0 HUET, RNEDL KAEEDE (XA EwIlk, E—
e I4rE BWwFElLiz, BRFIAE wWnEpIIKE E-5TEET, 2RI, PINg
5T XRIT,
it PX0nE H-o5T RITA

a. Ibr=L]

b. HFIA

ROMAJI

Kono doyobi ni patii ga arimasu. Tabemono to nomimono o takusan kaimashita. Biiru to wain mo
kaimashita. Tanaka-san wa ii gyuniku o motte kimasu. Sore ni, yasai mo motte kimasu.

Dare ga yasai o motte kimasu ka.
a. “Watashi”
b. Tanaka-san

ENGLISH

There is a party this Saturday. (I) bought a lot of food and drinks. (I) also bought beer and wine. Mr.
Tanaka is bringing some good beef. Moreover, (he) will bring vegetables.

Who is bringing vegetables?
a. I
b. Mr. Tanaka

2]

HLEIE EELD EFALIIUTY, YEELIE vwad $XTIIS wWhozom?
BWwIlrz, dlLiz, XHEBIZ HITET,

e b=l 1T whozoms 2 FBWILED.
a. [H=L] 1T vwany TXE215,
b. Waant X7 kHELIZ HIFEZ1E,

ROMAJI

Ashita wa tomodachi no tanjobi desu. Tomodachi wa inu ga suki desu kara inu no e no sara o kaimashita.
Ashita, tomodachi ni agemasu.
Naze “watashi” wa inu no e no sara o kaimashita ka.

a. “Watashi” wa inu ga suki dakara.

b. Inu ga suki na tomodachi ni ageru kara.
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ENGLISH

Tomorrow is (my) friend’s birthday. (My) friend likes dogs so (I) bought a plate with a picture of a
dog on it. Tomorrow, (I) am going to give it to (my) friend.

Why did “I” buy a plate with a picture of a dog on it?
a. Because “I” like dogs.
b. Because (“I”) will give (it) to (my) friend who likes dogs.

D) PnwWlnwrr—F% EBWwFlL/~, 4B ZTOrVr—F% BXEHISETT, LIL, H
I T—F% HAS BRILEA.
=iyt r—F% BNIELEDN

a. [bHr=L]

b. HIZ

ROMAJI
Kin6 oishii keki o kaimashita. Kyo sono keéki o tabetakatta desu. Shikashi, ani ga kéki o zenbu tabemashita.
Dare ga kéki o tabemashita ka.
a. “watashi”
b. ani
ENGLISH

(I) bought a delicious cake yesterday. (I) wanted to eat that cake today. However, my older brother
ate the whole cake.

Who ate the cake?
a' HI’I
b. my older brother

Understanding Pronouns

Give it a Shot!
1]

A0 EOTETE, [vorrniunm) KFETT, BALE Hailr, 80 4
LIBIT Teysruivm] @ ZusE RELE, Tl £TH BELAANSL
T,

i YT,
a. &
b. 2\



ROMAJI

How to Improve Your Reading Comprehension Translation

Hon ga daisuki desu. “Makku to iu inu” ga suki desu. Nan domo yomimashita. Senshi no kin'yobi ni
“Makku to iu inu” no eiga o mimashita. Kore wa totemo omoshirokatta desu.

Kore wa dore desu ka.
a. hon
b. eiga

ENGLISH

(I) love books. (I) love “A Dog Called Mac.” (I) read (it) many times. Last Friday, (I) watched the
movie “A Dog Called Mac.” This was really interesting.

Which is this?
a. book
b. movie

2]

RKIRT H2FnFlL =,
=TT A, 22zl BELAWLIEDY HUET,

L2L, BFwIc RRT LIkZE ELHILE, KRS

ZZllE ¥ITH D,

a. Kk
b. ®m%

ROMAJI

Osaka de umaremashita. Shikashi, go-nen mae ni Tokyo de shigoto o hajimemashita. Osaka ni
sumitai desu ga, koko niwa omoshiroi shigoto ga arimasu.

Koko wa doko desu ka.
a. Osaka
b. Tokyo

ENGLISH

(I) was born in Osaka. However, 5 years ago (I) started work in Tokyo. (I) want to live in Osaka,
but there is fun work here.

Where is here?
a. Osaka
b. Tokyo
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3

4BIZ 68FIZ BEXT 7B Wir HILF, 8BNS 6BFIT LITrLIL
o THERIZ UwXxI12 (T5FL7F, 9BRIZ WZIZ 25T WHAZTIEAEZ BN
T B325I2 Tnw-sT 118z RFlL, JATBEIE F=UNATTL,

ZARBIE YARBTED,
a. 1185/ #7=H
b. —B¥® WZALWH,
c. 68FIZ BX/H,

ROMAJI

Kyo wa roku-ji ni okite shichi-ji ni ie o demashita. Hachi-ji kara roku-ji made shigoto shimashita. Shichi-ji
ni jugyo ni ikimashita. Ku-ji ni ie ni kaette bangohan o tabete ofuro ni haitte jichi-ji ni nemashita.
Konna hi wa taihen desu yo.

Konna hi wa donna hi desu ka.
a. Juichi-ji ni neta hi
b. Ichi-nichi-cha isogashii hi.
C. Roku-ji ni okita hi.

ENGLISH

Today, (I) woke up at 6, left the house at 7. From 8 until 6 (I) worked. At 7, (I) went to class. At 9,
(I) returned home, ate dinner, took a bath and went to bed at 11. This kind of day is rough.

What kind of day is this kind of day?
a. “Slept at 11” day.
b. “All day busy” day.
C. “Wake up at 6” day.




17 Reading Short Passages Answers

1]
BED  FXIT bB  AHTT,

5B YvyVE OHAS T IoSTWET,
LhvwrFr—7Lo ki bBsVevid 1 v 1,000 AT
bbvwr—7lo EIT H5v+viE 13iv 750HTT!

- ZHIZT 3 FIv HoLAIWE, 2,250H% 2,000Hiz LiT,
guwr—7Ln ki HBEVrvik 13w 500HTIF!

— ZHIZT HFIvw BEo-AWIKE, D00 wixid,
YevE bhoTr—7uns 1FIv EoT, bbBur—7uns 4FIv koT, &

WTF—76 B Ev Lo AWR WEH IHEVWETA,

1 5750 H
2 6,000 H
3 6,250H
4 6,500 M

ROMAJI

Omise no mado ni aru kami desu.

Kyo shatsu o zenbu yasuku utte imasu.
Akai téburu no ue ni aru shatsu wa ichi-mai sen-en desu!

Aoi téburu no ue ni aru shatsu wa ichi-mai nanahyakugoji-en desu!

Shiroi téburu no ue ni aru shatsu wa ichi-mai gohyaku-en desu!
— Sore ni go-mai katta hito niwa, gohyaku-en hikimasu.

— Sore ni san-mai katta hito niwa, nisen nihyaku goji-en o nisen-en ni shimasu.

Shatsu o akai téburu kara ichi-mai totte, aoi téburu kara yon-mai totte, shiroi téburu kara go-mai totta

hito wa ikura haraimasu ka.
1 gosen nanahyaku goju-en
2 rokusen-en
3 rokusen nihyaku goji-en
4 rokusen gohyaku-en
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ENGLISH

(This) is a paper on a store window.

Today, (we) are selling all shirts cheaply.
Shirts on the red table are priced at 1,000 yen each!

Shirts on the blue table are priced at 750 yen each!

— Buying (a set of) 3 shirts costs 2,000 yen instead of 2,250 yen.
(lit., Moreover, for people that buy 3 shirts, 2,250 yen is made into 2,000 yen.)

Shirts on the white table cost 500 yen each.
— Moreover, if you buy 5 shirts, you get a 500 yen discount.
(lit., Moreover, for people that buy 5 shirts, [we] subtract 500 yen.)

(You) buy 1 shirt from the red table, 4 shirts from the blue table, and 5 shirts from the white table.
How much do (you) pay?

1 5,750 yen
2 6,000 yen
3 6,250 yen
4 6,500 yen

The correct answer is #1- 5,750 1 .

‘Math’ problems like this are quite common on the test. Be sure to read all the details and walk
through it step by step. First, we take 1 shirt from the red table. That’s 1,000 yen. Then 4 shirts from
the blue table. The paper says that 3 shirts from the blue table cost 2,000 yen, and 1 shirt is 750 yen:

1,000 yen + 2,000 yen + 750 yen = 3,750 yen.

Finally, we take 5 shirts from the white table, which qualifies us for the 500 yen discount:

3,750 yen + 500 yen x 5 — 500 yen discount = 5,750 yen

2]
ZOLYLAD bl Kl WTd Ho Ehhd BEIETT, Ho IHILA
& HiIdILATH,

Ly LA YnTEh,

ROMAJI

Kono shashin no watashi no migi wa ane desu. Ane no tonari wa ototo desu. Ane no ushiro wa ryoshin
desu.

Shashin wa dore desu ka.
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ENGLISH

To the right of me in this picture is my older sister. At my older sister’s side is my younger brother.
Behind my older sister are my parents.

Which picture is (it)?

The correct answer is #1.

The writer ‘ 457z L ’ says her older sister is to her right. And then next to her older sister is her
younger brother. So, we should be looking for a picture with an older girl that has a younger boy
next to her and on the other side a younger boy or girl, since we don’t know if the author is a boy
or a girl. That narrows it down to pictures 1 and 2.

In the 3rd sentence, the author tells us that behind her older sister are her parents. That means
picture 1 has to be the answer.

(3]

Y7613 BRI ATXFET, #ld BFAIZ TATWSEDT, bi=LE ZzZlz 75T
WIZ HWELTT, TH, Hld bi-& VZHLVOT LHELEET E—L%
A EF,

M=l 13 &z LETr.
18 dnET,
2 ryrEbr HEUET,
3y rErEbLY E—E ORBEET
4 LHELBEY RRIT ATRET
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ROMAJI

Tomodachi wa Tokyo ni ikimasu. Ane wa Tokyo ni sunde iru node, watashi mo soko ni itte ane ni aitai
desu. Demo, ane wa chotto isogashii node tomodachi dake to biiru o nomimasu.

“Watashi” wa nani o shimasu ka.
1 Ane ni aimasu.
2 Tomodachi to asobimasu.
3 Ane to tomodachi to biiru o nomimasu.
4 Tomodachi dake Tokyo ni ikimasu.

ENGLISH

My friend is going to Tokyo. My older sister lives in Tokyo, so I also want to go there and see her.
But, my older sister is a little busy, so (I) am going to drink beer with only my friend.

What is “I” (the author) going to do?
1 See (his) older sister.
2 Have fun with (his) friend.
3 Drink beer with (his) older sister and friend.
4 Only (his) friend is going to Tokyo.

The correct answer is #2- £ EbBE HZUET .

The author says he is going to Tokyo, and that his older sister lives there. However, she is busy, so he

is going to go drinking only ( /=17, dake) with his friend. Although answer 2 doesn’t explicitly say
that the author is going to go drinking with his friend, it is the best answer.

Very rarely will the test have an answer that matches exactly what is in the passage. It will most
likely be a rewording or summary of what was written. Look out for answers that look very similar
to a correct answer, but have one detail changed, like answer 3.

4]

BOWRLIT HEHBY WwWoLlLI YxrIIHT 72N TY, XEELED —Ald HEN
BLEIT TX20TT, bzLIE N OIFYIT TXEVWTT, LL, YorsrEby
B ROODOT bllrzbld Yir~ FRT F73%9

[H7=L) & % LI,
1T YxIiI~ BT T73%9,
2 YxIo~ EBET 173%
3 L% DIFVET,
4 HHT BLILEIT,



Reading Short Passages Answers

ROMAJI

Natsuyasumi wa tomodachi to issho ni ryoko ni ikitai desu. Tomodachi no hitori wa umi e oyogi ni ikitai
desu. Watashi wa yama e nobori ni ikitai desu. Shikashi, dono tomodachi mo kuruma ga nai node
watashitachi wa doko ka e densha de ikimasu.
“Watashi” wa nani o shimasu ka.

1 Ryoko e kuruma de ikimasu.

2 Ryoko e densha de ikimasu.

3 Yama o noborimasu.

4 Umi de oyogimasu.

ENGLISH

(I) want to go on a trip with my friends this summer holiday. One of my friends wants to go to the
sea to swim. I want to go mountain climbing. However, none of my friends have a car, so we are
going to go somewhere by train.

What is “I”(the author), going to do?

1 Go on a trip by car.

2 Go on a trip by train.
3 Climb a mountain.

4 Swim in the sea.

The correct answer is #2- Y £ 25\ TET T7E%7.

The author is wondering about what kind of trip she wants to take this summer vacation. One of her
friends wants to go to the beach, but she wants to go mountain climbing. Since none of her friends
has a car, they are going to take a trip by train somewhere.

Although there isn’t a clear answer, the instructions for this part of the test tell you to choose the

best ( LWHILA W, ichi-ban ii) answer, and answer 2 is the best in this situation because we know
they are going somewhere by train.

5]

S, 7I70AN YrZHLFELE, £2T BWHDIZ T3FL 7=, Sl ldIaxy
HL:‘N&M BEWwElr, £z JYrHLAIC »ITET, Z2LT 77020 33 b
WWTH, #id, Wot  bELIZ A (M3DTLoLkE IHbEE Buill, Tb,
IER birok PENSEDOT, bELYE oOhoTwiT,

Wi fE BBV
T
2 KoL/
3 3b%
4 137 %
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ROMAJI

Senshi, Furansu e ryoko shimashita. Soko de kaimono ni ikimashita. Kirei na hagaki to keshigomu o
kaimashita. Sore o ryoshin ni agemasu. Soshite, Furansu no fuku wa kawaii desu. Ane wa, itsumo watashi
ni nani ka kureru node, kutsushita to uwagi o kaimashita. Demo, uwagi wa chotto chiisakatta node,
watashi ga tsukatte imasu.
Ane wa nani o moraimashita ka.

1 keshigomu

2 kutsushita

3 uwagi

4 hagaki

ENGLISH

Last week, (I) took a trip to France. There (I) went shopping. (I) bought pretty postcards and an eraser. (I)
am giving those to my parents. And, French clothes are cute. My older sister is always giving me
something, so (I) bought socks and a jacket. But, the jacket was a little small, so (I) am using (it).

What did (the author’s) older sister receive?
1 eraser
2 socks
3 jacket
4 postcard

The correct answer is #2- { D L.

The author says she went to France and went shopping for some gifts. First, she says she bought an
eraser and a postcard. But, she gave those to her parents, not to her older sister. Later, she says that
she bought socks and a jacket for her older sister. However, the jacket is a little small for her sister, so
the author keeps that and uses it for herself. It is implied that she gives the socks to her sister.
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ROMAJI

Kore wa, kaisha no daidokoro ni aru posuta desu.

Minasan,

e Shigoto ni modoru mae ni te o aratte kudasai.

* Shiroi osara o tsukatte kudasai. tsukatta ato wa aratte kudasai.
e Aoi osara o tsukawanaide kudasai.

e Atatakai nomimono niwa kamikoppu o tsukawanaide kudasai.

modoru - kaeru

Posuta to au mono wa, dore desu ka.
1 Hotto kohii o nomu toki ni kamikoppu o tsukaimasu.
2 Osara wa nan demo tsukaimasu.
3 Shigoto ni modoru mae ni tsukatta osara wa araimasu.
4 Shigoto no ato de te o araimasu.

ENGLISH

This is a poster in the company’s kitchen.

Everybody,

e Before (you) return to work, wash (your) hands please.

e Use the white plates and wash them after (you) use (them) please.
e Don’t use the blue plates please.

e Don't use paper cups with hot drinks please.

to return (general term) — to return (usually to home)

Which item matches with the poster?
1 When (you) drink hot coffee, use paper cups.
2 Use any plates.
3 Before returning to work, wash the plates (you) used.
4 After work, wash (your) hands.

The correct answer is #3- LZ&lc £ EBnilc Db ofcBESIE HSWVWET .

The poster tells us not to use paper cups for warm drinks. Coffee is a warm drink, so answer 1 is
not right. The poster very specifically tells us not to use the blue plates, so answer 2 is incorrect. The
poster says to wash hands before returning to work, not after work. That makes answer 4 wrong.
That leaves us with 3. We can assume from the second bullet point that, anyone using a plate, needs
to wash them afterwards.
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ROMAJI

Ashita ryoshin ga ototo no ie ni kuru node ima ototo wa séji o shite imasu. Obasan mo kimasu. Shikashi,
shigoto ga aru kara yoru ni tsukimasu. Minna wa ryori ga kirai na node watashi ga shimasu.

“Watashi” wa nani o shimasu ka.
1 Ryori o shimasu.
2 Soji o shimasu.
3 Shigoto o shimasu.
4 Yoru ni tsukimasu.

ENGLISH

Tomorrow my parents are coming to my younger brother’s house, so now my younger brother is
cleaning. My aunt is coming, too. However, (she) has work, so she is arriving at night. Everyone
hates cooking, so I am doing (that).

What am “I” doing?
1 Cooking.
2 Cleaning.
3 Working.
4 Arriving at night.

The correct answer is #1- Y x5 W% LZ7d .

The question just asks about [4>7= L] , the author. The passage mentions what various members of
the author’s family are going to be doing, but the last sentence tells us what the author is doing (the
cooking) because nobody else likes cooking.
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ROMAJI

Neko ga suki desu. Neko wa ie de ichi-nichi-ji nete imasu. Watashi mo so shitai desu ne. Inu wa tokidoki
nakimasu. Demo neko wa amari nakimasen. Soshite, neko wa atatakai desu. Tokidoki samui hi ni watashi
no ue ni nete imasu. Watashi mo atatakai desu.
Naze “watashi” wa neko ga suki desu ka.

1 Neko ga naite imasu.

2 Neko wa amari nete imasen.

3 Neko ga, atatakaku naritai desu.

4 Neko to neru toki “watashi” wa samuku naku narimasu.

ENGLISH

(I) like cats. Cats sleep in the house all day. I want to do the same, yeah? Dogs sometimes bark. But,
cats don’'t meow that much. And, cats are warm. Sometimes, on cold days (they) sleep on me. I am

also warm.

Why does “I” like cats?
1 Cats meow.
2 Cats don't sleep very much.
3 Cats want to become warm.
4 When (I) sleep with the cat, “I” become not cold.

The correct answer is #4-aZ & R EEFE ThicLl ¥ TELHEL BYET .

In the last 3 sentences, the author talks about how cats are warm and keep her warm on cold days.
Answer 4 is just a rewording of that. Answer 1 is incorrect because the author writes that actually
that is one reason she doesn’t like dogs. Answer 2 is incorrect because the author mentions that cats
sleep all day. Answer 3 may seem correct, but it sounds like just the cats want to get warm.
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ROMAJI

Kaisha no deguchi no doa ni aru kami desu.

Chotto matte kudasai!

e Pasokon o keshimashita ka.

¢ Tsukue no hikidashi no kagi o kakemashita ka.

¥ Getsuyobi, kayobi, mokuyobi wa, nana-ji nijuppun made ni heya o dete kudasai.
Nana-ji-han ni doa no kagi ga kakarimasu. Suiyobi kin'yobi wa gogo roku-ji gojuppun made ni
heya o dete kudasai. Gogo nana-ji ni doa no kagi ga kakarimasu. Nagai jikan shigoto o suru toki
wa Kawaguchi-san ni denwa shite kudasai.

Ue to chigau mono wa dore desu ka.
1 Suiyobi to kin'yobi, gogo roku-ji gojuppun made kaisha ni imasu.
2 Kayobi, gogo nana-ji ni heya o demasu.
3 Getsuyobi, kayobi, mokuyobi wa nana-ji yonjuppun ni heya o demasu.
4 Suiyobi to kin'yobi, gogo nana-ji kara heya ni hairemasen.
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ENGLISH

(This) is a paper on a company’s exit door.

Wait a moment!

e Did you shut off (your) computer?

e Did you lock your desk drawers?

% Monday, Tuesday, Thursday, please leave the room by 7:20. The door will be locked at 7:30.

Wednesday and Friday, please leave the room by 6:50. The door will be locked at 7:00. When
working for a long time, please call Mr. Ishikawa.

Which (of these sentences) is different from the above?
1 (Employees) are at the company until 6:50 on Wednesdays and Fridays.
2 On Tuesday, (employees) leave the room at 7:00.
3 On Monday, Tuesday, and Thursday (employees) leave the room at 7:40.
4 On Wednesday and Friday, (employees) can’t enter the room from 7:00.

The correct answer is #3- B& 5 H. X&S5H. A&S5HIE 78B40 lc\P%E TET .

The question is asking what is different from what is above. In other words according to the paper
above, what can employees not do? The paper on the exit door tells them that the door will be
locked on Monday, Tuesday, and Thursday, so employees can’t exit at 7:40.

In answer 1, it is okay to stay until 6:50, because the company locks the door at 7. Answer 2,
employees can leave after 7 (but before 7:20) on Tuesday. For answer 4, the door is locked at 7 on
Wednesday and Friday, so employees can't use it.
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ROMAJI

Kore wa, Nihongo no benkyo no heya ni aru posuta desu.

e Kaeru toki, denki o keshite kudasai.
¢ Shi-matsu wa kono heya de tabetari nondari shinaide kudasai.
¢ Suiyobi wa, yasumi desu.

Posuta to atte inai mono wa, dore desu ka.
1 Getsuyobi ni okashi o tabemasu.
2 Mokuyobi ni mizu o nomimasu.
3 Mai-nichi heya o tsukaimasu.
4 lItsu mo, heya o deru toki denki o keshite kudasai.

ENGLISH

This is a poster in the Japanese study room.

e When returning, shut off the lights.
e On weekends, please don’t eat, drink or do stuff like that in this room.
¢ Closed on Wednesdays. (This room is not available on Wednesdays.)

Which item doesn’t match the poster?
1 (Students) eat sweets on Monday.
2 (Students) drink water on Thursday.
3 (Students) use the room every day.
4 When you leave the room, always shut off the lights.

The correct answer is #3- #BH A% 2HLFT .

Answer 3 doesn’t match the poster because the room is not available on Wednesday. For answers 1 & 2,
it is okay to eat snacks on Monday, and drink water on Thursday, because the poster says to not eat,
drink or things like that on the weekends. Answer 4, is a little too strict. The poster says when you
return (home) you need to turn off the lights, but if you leave the room (to do something else), you
don’t necessarily have to turn off the lights.
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ROMAJI

Atarashii apato wa chotto chiisai desu. Demo, chodo ii desu yo. Hondana wa doa no chikaku ni arimasu.
Watashi ga katta e wa mado no tonari ni okimashita. Iltsu mo doa no mukai ni aru isu ni suwatte hon o
yonde imasu. Akarukute ii tokoro desu yo.

Apato wa dore desu ka.



Reading Short Passages Answers

ENGLISH

(My) new apartment is a little small. But, (it) is just right. (My) bookshelf is near the door. (I) put
the picture I bought next to the window. (I) always sit in the seat across from the door and read
books. (It) is a bright and good place.

Which is the apartment?

B

L\

2

3
The correct answer is #1.

The bookshelf is near the door, and the picture is next to the window. With these two pieces of
information it is easy to see that it is answer 1.

Location words are very important for the reading and listening sections of the test. Be sure to
review them often.
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ROMAJI

le ni tsuita ato de shawa o abimashita. Shawa no ato de bangohan o tabenagara, terebi o mimashita.
Tabeta ato de Nihongo o benky6 shimashita. Sore kara, jani-ji ni nemashita.
Tadashii mono wa dore desu ka.

1 Shawa o abite kara bangohan o tabemashita.

2 Bangohan o tabenagara Nihongo o benkyo shimashita.

3 Bangohan no ato de terebi o mimashita.

4 Terebi o miru mae ni Nihongo o benkyo shimashita.

ENGLISH

After (I) arrived home, (I) took a shower. After (my) shower, while eating dinner, (I) watched TV.
After eating, (I) studied Japanese. After that, (I) went to bed at 12.

Which (sentence) is the correct thing?
1 After taking a shower, (I) ate dinner.
2 While eating dinner, (I) studied Japanese.
3 After dinner, (I) watched TV.
4 Before watching TV, (I) studied Japanese.

The correct answer is #1- >+ —% BHUTHhHS WBAZIIAZ BRNFLE.

Answer 1 uses a rewording of ‘ ¥ 7—®D1&T’, ‘U TH 5/, making it the correct answer. For answer 2,
the author specifically says he finishes eating, then studies Japanese. For answer 3, he is watching TV
while eating his dinner. Both actions are happening at the same time. For answer 4, he watches TV
while eating, which he does before he studies, so this is incorrect as well.
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ROMAJI

Sengetsu, atarashii apato ni hairimashita. Watashi no heya wa ni-kai desu. Tonari niwa, ojiisan ga sunde
imasu. Ikkai no hito wa, mada donna hito ka shirimasen. San-kai niwa, obasan to Supeingo no sensei ga
sunde imasu.

Kono hito no apato wa dore desu ka.



Reading Short Passages Answers

ENGLISH

Last month, (I) moved into (lit. entered) a new apartment. My room is (on) the 2nd floor. An older
man lives next (to me). (I) don’t know what kind of person lives on the 1st floor. An older lady and
a Spanish teacher are living on the 3rd floor.

Which is this person’s apartment?

The correct answer is #1.

The author lives on the 2nd floor, and next to her is an older man, with just that sentence, we can
guess that the answer is 1.
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ROMAJI

Ishikawa-san wa Nishimura-san ni méru o okurimashita.

Nishimura-san
Konnichiwa.

Watashi wa, asatte no yoru nana-ji ni eki ni tsukimasu. Eki no kissaten no mae de matte imasu.
Watashi wa, boshi o kabutte imasu. Kami wa nagai desu. Kaban o motte imasu.

Yoroshiku onegai shimasu.

Ishikawa

Ishikawa-san wa, dore desu ka.

ENGLISH

Ms. Ishikawa sent Mr. Nishimura an email.

Mr. Nishimura
Hello.

I am arriving at the station at 7pm the day after tomorrow. (I) will be waiting in front of the
station cafe. I will be wearing a hat. (I) have long hair. (I) will have a bag.

Looking forward to meeting you.

Ishikawa

Which is Ms. Ishikawa?

The correct answer is #4.

The email says f)I| X A, (Ishikawa-san) will be wearing a hat, has long hair and is carrying a bag.
Picture 4 matches that description the best.



Reading Short Passages Answers

15
LBEHEND  THARTT

DI, RlI YATZ 7={XA E-T bHrLIZ NFLF-, ZNiT T B
WLWTH, X ZDHhATT BHLlE 2KhFIlLk, bLEE VIETTH, Bbe
 ORLEDEL  FOBNMLE BRNFEAN., BOWLWTTL,

SR, b= 13 {2 LFELED,
1 YJAZZ HHWEL,

2 UAZTE BXFL
380 LE OKYFLT,
4 Brlr BNFL-,

ROMAJI

Tomodachi e no tegami desu.

Kino, chichi wa ringo o takusan katte watashi ni kuremashita. Sore wa totemo oishii desu. Kesa sono
ringo de okashi o tsukurimashita. Ashita wa hima desu ka. Ocha o nominagara sono okashi o
tabemasen ka. Oishii desu yo.

Kyo, “watashi” wa nani o shimashita ka.
1 Ringo o moraimashita.
2 Ringo o tabemashita.
3 Okashi o tsukurimashita.
4 Okashi o tabemashita.

ENGLISH

(This) is a letter to a friend.

Yesterday, my father bought a lot of apples and gave them to me. They are really delicious. This
morning, (I) made sweets with those apples. Are (you) free tomorrow? Why don’t (we) eat
those sweets over a cup of tea. (They) are delicious!

What did “1” do today?
1 Received apples.
2 Ate apples.
3 Made sweets.
4 Ate sweets.

The correct answer is #3-&HhLE D<K WVZELL.

The letter says ‘I’, [457=L] , made the sweets this morning ( |} X , kesa), which is today. That makes
the answer 3. The test-writers will most likely ask questions that will test your knowledge of time
expressions like this.
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ROMAJI

Raishi homu patii ga arimasu. Junko-san ga Kana-san ni okutta méru desu.

Kana-san

Raishii no patii no renraku o shimasu.

Karai karé o takusan tsukurimasu. Minasan wa yasai o0 motte kimasu. Kana-san wa nani ka motte
kimasu ka. Butaniku o tabetakatta desu ga, ane ga gyuniku o kureta no de, kore o tsukaimasu.
Soshite, ohana ga hoshii desu. Omise de hana o katte kite kudasai.

Dewa, yoroshiku onegai shimasu.

Junko

Kana-san wa, nani o shimasu ka.
1 Yasai o motte, Junko no niwa de hana o torimasu.
2 Jibun no niwa de hana o totte junko no ie ni ikimasu.
3 Junko no ie ni hana o motte ikimasu.
4 Junko no ie ni butaniku o motte, hana o katte ikimasu.
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ENGLISH

Next week, there is a house party. (This) is an email sent to Kana from Junko.

Kana

(I) am contacting you about the party next week. (lit.,, making next week’s party contact.)

(I) am making lots of spicy curry. Other people are bringing vegetables. Kana, are (you) bringing
something? (I) wanted to eat pork, but my older sister gave (me) beef, so (I) am using that. And,
(I) want flowers. Please buy some flowers at the store and come.

Well, thank you in advance.

Junko

What is Kana going to do?
1 Bring vegetables, and take flowers from Junko’s garden.
2 Take flowers in her own garden and go to Junko’s house.
3 Bring flowers to Junko’s house.
4 Bring pork, buy flowers and go to Junko’s house.

The correct answer is #3- LW AZD WZRIC fE%E LTV EZET .

Junko talks about what other people are bringing to the party, but only makes one request of Kana
- to bring some flowers from the store. Although the answer doesn’t mention buying them at the
store, it is still a rewording of what was said in the passage.

Answers 1 and 2 are incorrect because Junko doesn’t mention anything about taking flowers from
the garden. And answer 4 is wrong, because Junko says she is going to use the beef that her older
sister is bringing.
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ROMAJI

Ishikawa-san kara Nishimura-san ni méru ga kimashita.

Nishimura-san

Raigetsu no itsuka kara yoka made Tokyo e shigoto de ikimasu. Issho ni biiru o nomimasen ka. Itsuka
wa tabun tsukarete imasu. Watashi wa muika wa ichi-nichi-ji, soshite nanoka no asa wa kaigi ga
arimasu. Shikashi, sono ato wa hima desu. Sono toki wa do desu ka.

Ishikawa

Nishimura-san wa itsu jikan ga arimasu ka.
1 ltsuka no yoru
2 Muika no yoru
3 Nanoka no hiru
4 Nanoka no yoru

ENGLISH

A mail from Ms. Ishikawa to Mr. Nishimura came.

Mr. Nishimura

From the S5th until the 8th of next month, (I) will be in Tokyo on business. Why don’t (we) go
drinking together? (I) will probably be tired on the 5th. All day on the 6th and on the morning
of the 7th I have meetings. However, after that, (I) am free. How about that time?

Ishikawa

When does Ms. Ishikawa have time?
1 The night of the Sth.
2 The night of the 6th.
3 The daytime of the 7th.
4 The night of the 7th.

The correct answer is #4- 7 H®D &% .

Ms. Ishikawa says that she is probably going to be busy on the 5th and pretty busy with meeting(s)
all day on the 6th and in the morning of the 7th. But after that she is free. The question is just a
rewording of % (hima, free / not busy).
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ROMAJI

Hirugohan o taberu heya wa hitotsu no téburu to yottsu no isu ga arimasu. Shikashi, hon wa amari
arimasen. Minasan wa soji ga kirai desu. Itsu mo chotto kitanai desu.

Hirugohan o taberu heya wa dore desu ka.

ENGLISH

There is one table and 4 chairs in the room (we) eat lunch. However, there aren’t many books.
Everybody hates cleaning. (It) is always a little messy.

Which is the room (we) eat lunch in?

1 2
)
=k =
3 4
) I
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The correct answer is #4.

The author says the room is messy and there aren’t many books. Picture 4 doesn’t have many books

and there is some obvious trash, so it is the best answer.
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ROMAJI

Gakusei no minasan ni okutta méru desu.

Atarashii Nihongo no kurasu ga arimasu. Kayobi no gozen, mokuyobi no gozen to gogo ga arimasu.
Kayobi no gozen wa kanji no kurasu desu. Kanji o amari shiranai hito niwa kono kurasu ga ii desu.
Suiyobi no gozen no kurasu wa kin'yobi no kurasu yori muzukashii desu. Mokuyobi no kurasu wa
bunpo6 o renshu shimasu. Hajimete no hito no kurasu wa mokuyobi no gozen desu.

Nihongo no kanji o hajimete naraimasu. Dono kurasu ga ii desu ka.
1 Kayobi no gozen
2 Suiyobi no gozen
3 Mokuyobi no gozen
4 Mokuyobi no gogo

ENGLISH

(This) is a mail sent to all students.

There are new Japanese classes. (They) are on Tuesday morning, Thursday morning and
afternoon. Tuesday morning is a kanji class. This class is for people that don’t know a lot of
kanji. The Wednesday morning class is more difficult than the Friday class. As for the Thursday
class, (we) will be practicing grammar. The beginner’s class is Thursday morning.

(I) am starting to learn Japanese kanji. Which class is good?
1 Tuesday morning (class)
2 Wednesday morning (class)
3 Thursday morning (class)
4 Thursday afternoon (class)

The correct answer is #1- XEKS5HD 57 .

The question asks what class is good for someone that just started studying Japanese kanji. And the
mail mentions there is a kanji class on Tuesday, and that the class is for people that don’t know kanji
very well.
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BRHIAD SCZ0 KT, 3H3¥I0 HUETF, 39LI0  $i BHEILD  AEY
LelAan »VET,

T VIO L LATYT, —#&lT 50T, I ILWl»LAZ® ¥¢¥r->T 4
X 399&EI)IT R T KX, 399EIE. BAINIAIZ bELEFTISL, bIELD
2¢ZD EIT BwTLEI, £LOHFTIZ 2ZLT (FEXun,

L

BHRIAE ELVLP LAY HUET, YoLEdn?
TIELWLR LAY EWnwo7z398)%  BINSAIL brzlLEd
2 B&%E ANE3ILIE BNIAIC brELET
3UELVWLPLAAD Enorz3ir)izE BHPIAD (20 LiT B3I,
4 Be&% AE3IEIE BHPIAD D20 LT BEIT,

ROMAJI

Nishimura-san no tsukue no ue ni, futo ga arimasu. Fiito no naka ni Tanaka-san no memo to shashin ga
arimasu.

Kore wa ryoko no shashin desu. Ichi-mai wa goji-en desu. Hoshii shashin o totte okane wa fiito ni
irete kudasai. Futo wa, Ishikawa-san ni watashimasu kara, watashi no tsukue no ue ni oite kudasai.
Kin'yobi made ni kaeshite kudasai.

Tanaka

Nishimura-san wa hoshii shashin ga arimasu. D6 shimasu ka?
1 Hoshii shashin ga haitta fito o Ishikawa-san ni watashimasu.
2 Okane o ireta futo o Ishikawa-san ni watashimasu.
3 Hoshii shashin ga haitta futo o Tanaka-san no tsuke no ue ni okimasu.
4 Okane o ireta fiito o Tanaka-san no tsukue no ue ni okimasu.

ENGLISH

There is an envelope on Mr. Nishimura’s desk. There are pictures and Mr. Tanaka’s memo inside the
envelope.

These are the trip pictures. One print is 50 yen. Take the pictures (you) want, please put money
in the envelope. (I) am handing the envelope to Ms. Ishikawa, so please put it on my desk.
Please return by Friday.

Tanaka

There are photos Mr. Nishimura wants. How does (he) do (it)?
1 Hand the envelope with the pictures (he) wants to Ms. Ishikawa.
2 Hand the envelope with the inserted money to Ms. Ishikawa.
3 Put the envelope with the photos (he) wants on Mr. Tanaka’s desk.
4 Put the envelope with the inserted money on Mr. Tanaka’s desk.
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The correct answer is #4- &% Ahl3i5&E5% HHPETAD D<KAD Eic HEFT.

The memo mentions that if Mr. Nishimura wants one of the pictures he needs to pay for them
by putting money in the envelope. Mr. Tanaka says he is going to hand the envelope over to Ms.
Ishikawa. Mr. Nishimura doesn’t need to give it to Ms. Ishikawa directly.

Remember that in more complicated sentences, the |3 particle marks the topic for the whole
sentence. The verb at the end of a long sentence like this will usually be about the topic.
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1]

BALWIIE iz DIFYFELA, I0BET, FET iz 73FL 7=, LML, BN
AXI% bINFLENS, JTET BRNALYIZ BWEDNSETT, D 590 <KD BRI
RALIPL Ryhrd bhIdATLE, ¥TEH EFOWANATLE,

N5, BRXEOEZ  HETWT Lz DITYFLE, 4B DIFST ¥ TH
OMNFLE, ZOrx WD SWFLE, I SETTINL, IIOCERIZ BYUFLE, WL
D BN BRIZ 5T VRAMIYT &llzdv TATIRAE (XA BN
FL,

Y5LT TFEOBANAL TLED,
1 JEN HUYFHATL,
2 JEN YBNo=N6TY,
3 LAY B -6 TT,
4 BEXEDE  HF5TWEDNE=06TT,

ROMAJI

Senshu wa yama ni noborimashita. Hayaku okite, densha de yama ni ikimashita. Shikashi, obento o
wasuremashita kara, mise de obento o kaitakatta desu. Yama no chikaku no eki ni bentoya ya pan‘'ya
nado ga arimasen deshita. Totemo taihen deshita.

Sore kara, tabemono o motanaide yama ni noborimashita. Yo-jikan gurai nobotte totemo tsukaremashita.
Sono toki ame ga furimashita. Samukatta desu kara, hayaku eki ni kaerimashita. le no chikaku no eki ni
itte resutoran de atatakai bangohan o takusan tabemashita.
Doshite “taihen” deshita ka.

1 Mise ga arimasen deshita.

2 Mise ga tokatta kara desu.

3 Yama ga takakatta kara desu.

4 Tabemono o motte inakatta kara desu.

ENGLISH

Last week, (I) climbed a mountain. (I) woke up early, and went to the mountain by train. However,
(I) forgot my bento, so (I) wanted to buy a bento at a store. At the station near the mountain, there
wasn’t a bento shop, a bakery, or anything like that. (That) was really terrible.

After that, not carrying food (I) climbed the mountain. (I) climbed for about 4 hours and was totally
exhausted. At that time, (it) rained. (It) was cold, so (I) quickly returned to the station. (I) went to
the station near (my) house and ate a big warm dinner at a restaurant.

Why was it “terrible”?
1 There weren’t any stores.
2 Because the stores were far away.
3 Because the mountain was high.
4 Because (I) didn't bring food.
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The correct answer is #1-[§Hh* HYFEFELBATLI:.

The author went mountain climbing, but forgot his bento, so he wants to buy a bento at the station.
However, he writes that ‘there are no bento shops, bakeries or anything like that at the station near
the mountain”.

L 50D BRIZT NALIPP® AU PBEHN HUFIEATL
Yama no chikaku no eki ni bentoya ya pan’ya nado ga arimasen deshita.

What are bento shops and bakeries? They are stores, so answer 1 is the best answer. For answers 2
and 3, there is nothing in the passage that would suggest this. Answer 4 is very close. However, we
can infer that the author is talking about the fact that there are no stores because he writes ‘ /=t "\
AT L7z, right after mentioning there are no stores.

YT FAZIAZ B'RXFLED,
T WZD B KDYIAT

WZIZ ToTWAERT

Lo EOXIAT

Lo 50D BROLIAT

Ao wN

ROMAJI

Doko de bangohan o tabemashita ka.
1 le no chikaku no tokoro de.
2 le ni itte iru densha de.
3 Yama no ue no tokoro de.
4 Yama no chikaku no eki no tokoro de.

ENGLISH

Where did (the author) eat dinner?
1 At a place near (the author’s) house.
2 In the train going to (the author’s) house.
3 At the place on top of the mountain.
4 At the station near the mountain.

The correct answer is #1- WA D BHKDETAT.

In the last sentence of the passage the author says he went to the station near his house and ate a

warm dinner, the station near his house is a ‘place near his house’ (\Z\ZD BN CDYIAT), so
answer 1 is the best answer.

2]

LY bhvrikil K& HELO I3V 70 LAV TLE, #8 H5HEIC
Wwolill I 7% hHALe) LELE, LwiE-old 0742 LTwilk, ©
THILD-=TTL, UL, YAYA ULrd)FI2 BUYEFLE HhiZIIT 47L&y a0
7% LTwvilir,
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Sl RO HIEEN LI Bol=nrb woliliz dL7%  HFY LIVA, b=
LIz F7# an7zzx LTwFEFd, —ATE 7=OLWTT, X2 HFN/-1ET, 2
¥ WolL Xl LEWTT, RIZIHUDELI | ¥ FTWEWTT,

bruwrexic wolbl] 13 TL7%  LELED
T ZWEA. LworE-o
2 TWITA. LwiEo, KRka
3 #H, k&
4 LwrEo, KA

ROMAJI

Watashi ga wakai toki ni chichi wa watashi no gorufu no sensei deshita. Mai-nichi neru mae ni issho ni
gorufu o renshii shimashita. Shii-matsu wa gorufu o shite imashita. Muzukashikatta desu yo. Shikashi,
dondon jozu ni narimashita. Ryoko ni iku toki mo gorufu o shite imashita.

Ima wa chichi no karada ga yowaku natta kara issho ni gorufu o amari shimasen. Watashi wa mada gorufu
o shite imasu. Hitori demo tanoshii desu. Kodomo ga umareta ato de, kodomo to issho ni shitai desu.
Chichi ni “Arigato.” to iitai desu.
Wakai toki ni itsu “watashi” wa gorufu o shimasu ka.

1 Mai-ban, sha-matsu.

2 Mai-ban, shi-matsu, yasumi.

3 Mai-nichi, yasumi.

4 Shid-matsu, yasumi.

ENGLISH

When I was young, my father was my golf teacher. Every day, before (we) went to bed, (we)
practiced golf together. On the weekends, (we) played golf. (It) was difficult. However, (I) gradually
got better. When on trips (we) also played golf.

Now, my father’s body has gotten weaker, so (we) don’t golf that much. I am still playing golf. Even
by myself (it) is fun. After (my) kids are born, (I) want to play golf with (my) kids. (I) want to say ‘thank
you’ to my father.

When (“I”) was young, when did “I” play golf?
1 every night, weekends
2 every night, weekends, holidays
3 every day, holidays
4 weekends, holidays

The correct answer is #2- FWMEA. L 5 FD, K.

The author says she practiced golf every night before she went to bed, and on weekends. Later, she
mentions that she even went golfing when she traveled.

Y5LT Thizll i3 iz THUNLI.] ¥ FW=WTIh,
1 ¥y IL7D NALwIE LEISTT,
2 4TH Wwoluilz JL7% $52056TT,
3XRIF —ATH EOL2»->5E=06TT,
4 b=LIZ IN7% BLAENILTT,
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ROMAJI

Doshite “watashi” wa chichi ni “Arigato.” to iitai desu ka.
1 Kodomo to gorufu no renshi o shita kara desu.
2 Ima demo isshoni gorufu o suru kara desu.
3 Chichi wa hitori demo tanoshikatta kara desu.
4 Watashi ni gorufu o oshieta kara desu.

ENGLISH

Why does “I” want to say “thank you” to her father?
1 Because (her father) played golf with (her) kids.
2 Because even now (they) play golf together.
3 Because (her) father had fun by himself.
4 Because (he) taught me golf.

The correct answer is #4-bfcLic JIV7% HLAKLHISTT .

Most of the passage is about how the author has enjoyed golf a lot, and the author’s father taught her
how to play golf, so she wants to say thank you. For answer 1, this sounds like her father practiced
golf with her kids. For answer 2, the passage says that her father is weaker and doesn’t play with her
a lot, so this seems like a strange thing to thank him for. For answer 3, it doesn’t make sense that
she would thank him because he enjoys playing golf by himself.

3]
RNIlE I133(T AN bih FECeLwTINs dbElLlE HAIH A60T
3+, XEYxE Rl Zzro T 3T ST BHhro ThE O ANEIT, THOD
2o HUE XELLET
Brrw RZny Thr BNLAL XTH O HEX BWTWELED2S  brzLid
BxFl/, Zric TT [2h2F2FFTL0 ¥ REWIZT TWELED, aZld b
IWnFRIY WwosLiiz WELAE, 2O0FHZIE £ B2 21w OhXWFRAIT
ROWTWELE, b, wRIlT X¥9)ilewdx &hil #Z1-T Zohlkbil &b
FEL,
SHIZ RA—/R—=T 2z2X% E-T ZohlZlbiz »TEST, IHh0 HZIT Fr =
5WTCd, 2L, £2ONIE=HIT TXTH,
¥ 23X - YIS0 ENFOD
* Hzl - NA
*¥ONEZXH - U5
* FHZ - Z¥EonZ
YH5LT Thrzl] 13 faZhry X50TEr,

1 2l X720 56TH,

niix TxE BRNLIZNLTT,
IBILLCT, AN FTELRWALTT,
Zld AN EL50T, LIALe»BOuA56TT,
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ROMAJI

Neko wa urusakute hito ga amari suki ja nai desu kara watashi wa neko ga kirai desu. Tokidoki neko wa
soto no gomi no hako o akete naka no gomi o tabemasu. Gomi no hako no atari o kitanaku shimasu.

Ototoi neko ga gomi o tabenagara totemo urusaku naite imashita kara watashi wa okimashita. Soto ni
dete “Tsukamaemasu yo.” to 6kii koe de iimashita ga, neko wa chiisai koneko to issho ni imashita. Sono
koneko wa mada me ga akanai chiisai koneko de naite imashita. Sore kara, ie ni gyunyi o tori ni kaette
sono nekotachi ni agemashita.

Kyo wa supa de esa o katte sono nekotachi ni agemasu. Hoka no neko wa mada kirai desu. Shikashi, sono
nekotachi wa suki desu.

*esa — dobutsu no tabemono

*atari — hen

*tsukamaeru - toru

*koneko - kodomo no neko

Doshite “watashi” wa neko ga kirai desu ka.
1 Neko wa kitanai kara desu.
2 Neko wa gomi o taberu kara desu.
3 Neko wa urusaku nakute, hito ga suki ja nai kara desu.
4 Neko wa hito ga kirai de, shizuka ja nai kara desu.

ENGLISH

Cats are loud, and don’t like people that much, so I hate cats. Sometimes, cats open my outside
garbage bins, and eat the trash inside. (They) make the area around the trash bins dirty.

The day before yesterday, while eating the trash, (the cats) were making a lot of noise, so (I) woke
up. (I) went outside and said “(I) am going to catch (you)!” in a big voice, but the cat was with small
kittens. Those kittens hadn’t opened their eyes yet, and were meowing. After that, (I) went back
into the house to get some milk and gave it to that cat.

Today, (I) am going to buy cat food at the supermarket and give those cats (the food). (I) still hate
other cats. However, those cats (I) like.
feed — animal food.
vicinity (written) — vicinity (spoken, more casual)
to catch - to take
kitten - baby cat
Why does “I"” hate cats?
1 Because cats are dirty.
2 Because cats eat garbage.

3 Because cats aren’t noisy and (they) don’t like people.
4 Because cats hate people and aren’t quite.

The correct answer is #4-aZlE AD FESVTE. LTFHL»HVLHSTY .

Answer 4 is basically a rewording of the passage’s first sentence. Answer 1 is incorrect because the
author says that his trash cans are dirty not the cats. For answer 2, the author complains about the
cats eating garbage, but he doesn’t give that as a specific reason for hating them. Answer 3 states
that cats are not noisy, but the author complains that they are.
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b=l 3 &2 LELED
T RAZ%Z WZIT $-5TEFL
2 RZD z2X% EBEWwIlLrz,
3 RAZ%E X BEFll
4 ZIT KErBEDE  HIFFEL,

ROMAJI

“Watashi” wa nani o shimashita ka.
1 Neko o ie ni motte kimashita.
2 Neko no esa o kaimashita.
3 Neko o soto ni okimashita.
4 Neko ni nomimono o agemashita.

ENGLISH

What did “1” do?
1 Brought the cats to (his) house.
2 Bought cat food.
3 Put the cats outside.
4 Gave the cats a drink.

The correct answer is #4- R Zlc ErHFHD%E HIFE L.

The author says that he went back inside to get milk and gave it to the cats. In other words, he gave
the cats a drink. The passage doesn’t mention anything about putting or taking the cats anywhere so
answers 1 and 3 are also wrong. For answer 2, the author says he will buy food today. So, he hasn't
bought it yet.

4]

T7IVANE Rz bELO XEEBIE T4V IAL TVET, T—TAY AL
Wo LI BREBD 5257 T-oTwWEd, #H bHi=LIZ NAYIEZ LCIAT -
(VET,BALDI . I—TA4UIAE LD XALLEIEZ LA FL<LvTTh, )
YEWFL, HELIITBRAYIE DATEAIZ D(o5T, AUHNVWERMT BXEWTT, |
¥ swIlrs

Y—=T4IAE VwDFE RNALYIE IO oKYUET, =3A. #H 30 4 H5WT
OCYET, TOBZTIFIAIE I2LL D580 % (XA BX/EWTY, ZLT L
TrE FKSALET. VAT wolill hidhEd LECAD) X, Y—TAU XA
SWELE,

+ 19813 v—T4UXADWZIZ TRXE T
Bk - B2 IZWn-osThWaBEHD
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YILT Y—=TAr 34 Thil] & XALIN HFY TEL2BWTTH,
1T NAEIZ AUDNWVWEET BRNXEMLTTY,
2 NALITIE WARWAEL BAKED HENLTT,
3RNAEID Bhkme FLKLBL DARAIL D0 6TT,
4 NI Bro¥ INXWNLTTY,

ROMAJI

Furansu kara kita watashi no tomodachi wa Matin-san to iimasu. Matin-san to issho ni Nihongo no gakko
ni itte imasu. Mai-nichi watashi wa bent6 o jibun de tsukurimasu. Senshi, Matin-san wa “Anata no bento
wa nakami ga sukunai desu ne.” to iimashita. Watashi wa “Obento o kantan ni tsukutte, mijikai jikan de
tabetai desu.” to iimashita.

Matin-san wa itsumo bento o utsukushiku tsukurimasu. Tabun, mai-nichi sanjuppun gurai de tsukurimasu.
“Hirugohan wa utsukushiku tsukutta mono o takusan tabetai desu. Soshite shigoto o takusan shimasu. le
de issho ni ryori o shimasen ka.” to, Matin-san wa iimashita.

Doyobi wa Matin-san no ie ni ikimasu.

nakami - naka ni haitte iru mono

Doshite Matin-san wa “watashi” no bento ga amari suki ja nai desu ka.
1 Bento o mijikai jikan de taberu kara desu.
2 Bento ni wa iroiro na nakami ga aru kara desu.
3 Bento no nakami o sukunaku kantan ni tsukuru kara desu.
4 Bento ga chotto chiisai kara desu.

ENGLISH

My friend that came from France is called Mr. Martin. (I) go to Japanese school together with Mr.
Martin. Every day [ make my own bento. Last week, Mr. Martin said “Your bento’s contents are
scarce, aren’t they?” I said “(I) make bento simply, (I) want to eat in a short time.”

Mr. Martin always made bento beautifully. Probably, every day (he) takes about 30 minutes to make (it).
“As for lunch, (I) want to eat a lot of beautifully made things. And also, (I) work a lot. Why don’t we
cook together at my house?” Mr. Martin said.

(I) am going to Mr. Martin’s house Saturday.
contents - things placed inside

Why does Mr. Martin not really like “my” bento?
1 Because (“I”) eat bento in a short time.
2 Because there are various contents in (“my”) bento.
3 Because (“I”) make (“my”) bento simply with sparse contents.
4 Because (“my”) bento is small.

The correct answer is #3-NAESD Lbdk%iE F<EL hhAkhlc D2{BH5TT.

Mr. Martin comments that the author’s bento doesn’t have many ingredients. In the next paragraph,
it seems like Mr. Martin likes spending a lot of time making a nice bento, and doesn’t like to have a
simple lunch. For answer 1, Mr. Martin never comments on this specifically. Answer 2 is the opposite
of what he said. For answer 4, the passage doesn’t say anything about the size of the bento, just the
variety of ingredients inside.
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+J58, Tb=L] 3 %2 LEdr,
1T I2(LWERN Dz BRI,
2 I LWLWRALIZE DKVUET,
3V—TAVIAN DAokYIINE BRNIT,
4 NAEI%Z  DAEAIZ DKUET,

ROMAJI

Doyobi, “watashi ” wa nani o shimasu ka.
1 Utsukushii tabemono o mimasu.
2 Utsukushii bento o tsukurimasu.
3 Matin-san ga tsukutta ryori o tabemasu.
4 Bento o kantan ni tsukurimasu.

ENGLISH

What is “I” doing on Saturday?
1 Look at beautiful food.
2 Make beautiful bento.
3 Eat cooking made by Mr. Martin.
4 Make bento simply.

The correct answer is #2- 52 LLMAES%E DKW ET .

Mr. Martin invites the author over to his house to do some cooking, so we can guess that they will

be making some beautiful bento. Answer 1 is not mentioned in the passage. For answer 3, they may
very well end up eating the food they make, but that is never mentioned. Since Mr. Martin doesn’t

seem to like simple bento, it is unlikely they will make simple bento.

5]

ALY, FLlu2rnled LIT¥DY ICEVELE, pVleld NAYL XIAIT H
VEF, 2z 3T BOLWLARNIUD HUET, BRArs H50WT5 4TH, RO

LT AU HYET, 2OLHIT ABEIE RNrE HFY DPVWEHATLE, L
nL, Al vwol RvE BuET, Thrbs. hvlel BULWLWRRIYD  HuiE
2 a2—k—0 FEH bhid, Fudl a—-b—F FuIT, KIQLHALEVWTTL,

Z—=IN 3B BSEDOT.HLWA—V%E BWEWTd, LarL,.5lE B8&) »HFEA,
Ry d—k—% XA EINLHTT,
OXD BT, [h=L] ® »2ulLehrs WHITA BHruElr YRTThH,

1 A=V JE

2 BOWLWLAMNTY
3 J—kt—® J§
4 INUX
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ROMAJI

Senshi, atarashii kaisha no shigoto ga hajimarimashita. Kaisha wa benri na tokoro ni arimasu. Soba ni
yasukute oishii resutoran ga arimasu. Eki kara aruite go-fun desu. Eki no chikaku ni pan’ya ga arimasu.
Sono kaisha ni hairu mae wa pan o amari kaimasen deshita. Shikashi, ima wa itsumo pan o kaimasu. Sore
kara, kaisha to oishii resutoran no aida ni kéhii no mise ga arimasu. Mai-asa kéhii mo kaimasu. Okina
mondai desu yo.

Satsu ga furuku natta node, atarashii siitsu o kaitai desu. Shikashi, ima wa okane ga arimasen. Pan to
kohii o takusan kau kara desu.
Tsugi no naka de, “watashi” no kaisha kara ichi-ban chikai mise wa dore desu ka.

1 sdtsu no mise

2 oishii resutoran

3 kohii no mise

4 pan'ya

ENGLISH

Last week, (I) started work at a new company. (lit., started a new company’s work.) The company
is in a convenient place. Nearby there is a cheap delicious restaurant. From the station it is a
S5-minute walk. There is a bakery near the station. Before (I) entered that company, (I) didn’t buy
many pastries. However, now (I) always buy pastries. After that, there is a coffee shop between the
company and the delicious restaurant. Every morning, (I) buy coffee. (This) is a big problem.

My suits got old, so (I) want to buy new suits. However, now, (I) don’t have money. Because (I) buy
too many pastries and coftee.

Which of the following is the closest store from “my” company?
1 the suit shop
2 the delicious restaurant
3 the coffee shop
4 the bakery

The correct answer is #3- d—kb—0 [§.

Earlier in the passage the author mentions that the delicious restaurant is close. Later he writes that
there is actually a coffee shop between the delicious restaurant and his company, so the coffee shop
must be the closest building.

B TRELBAEZCNTTL ] T,
1 LT% LTWaBH256TT,
2 BED W BBENLTT,
3 0VLeN HEHEUNL, a—kE—% RKLAPLTY,
4 Rl »0lenrs X2BWHNLTT,

ROMAJI

Naze “okina mondai desu yo.” desu ka.
1 Shigoto o shite iru kara desu.
2 Okane ga naku naru kara desu.
3 Kaisha e arukinagara, kohii o nomu kara desu.
4 Eki wa kaisha kara toi kara desu.
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ENGLISH

Why is it “a big problem”?
1 Because (I) am working.
2 Because (my) money is running out.
3 Because while walking to the company, (I) drink coffee.
4 Because the station is far from the company.

The correct answer is #2- E&H L EB3H5TT .

Right after the author mentions there being a problem, he describes the problem for us. He has spent
too much money on bread and coffee, so now he doesn’t have money for a new suit. For answers 1
and 3, the author doesn’t mention anything about this being a problem in the passage. Answer 4,
the author tells us that his office is actually quite close (5 minutes on foot).

6

BAEN FETH, 7AUAT FATHETA, #H, BEREEZ AZrHLTwIT, B
RED BANKE  ZIXUNL BAL(ELT LIXDOKRT BERZBOIZIRAIZ 1750,
NEENINC BARED F& HAIT.23E, PALD HALeIE BLHIT,

H-LIT BAREZ 130L CIIFUIT BYEWTTA, LAY T HUIEHA,
BALYINS WLl FE60WTWS BRAD CHEbLY BAERZEEZ FLTOWIET,
L2l &3 L9 TAIAIT FATETNG, ¥XYx 7=/ Lw BREN
HDNYEEA

(B0 & EIP->T BERED NAXLIHIZ LTHRWTTD,
1T rvrEbe HELIT
2 V7RI ATXEY,
30ALD NALwIZE  LIT,
4 BANKE 23F9,

ROMAJI

Nihongo ga suki desu. Amerika ni sunde imasu ga, mai-nichi, Nihongo o benky6 shite imasu. Nihongo no
ongaku o kikinagara sentaku o shite, shigoto no ato de Nihongo no kurasu ni itte, neru mae ni Nihongo
no hon o yomimasu. Tsugi wa, kanji no rensha o hajimemasu.

Watashi wa Nihongo o hayaku jozu ni naritai desu ga, jikan ga amari arimasen. Sensha kara isshoni
hataraite iru Nihonjin no tomodachi to Nihongo o hanashite imasu. Shikashi, tomodachi wa nagaku
Amerika ni sunde imasu kara, tokidoki tadashii Nihongo ga wakarimasen.

“Watashi” wa doyatte Nihongo no benkyo o shite inai desu ka.
1 Tomodachi to hanashimasu.
2 Kurasu ni ikimasu.
3 Kanji no renshi o shimasu.
4 Ongaku o kikimasu.
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ENGLISH

(I) like Japanese. (I) live in America, but every day, (I) study Japanese. While listening to Japanese
music, (I) do the laundry, after work (I) go to Japanese class and before (I) go to bed (I) read a
Japanese book. Next, (I) am starting kanji practice.

I want to become skilled with Japanese quickly, but (I) don’t have much time. From last week, (I)
have been speaking Japanese with my Japanese friend I work together with. However, my friend has

lived in America for a long time, so sometimes he doesn’t know correct Japanese.

How do “I” not study Japanese?
1 Talk to (his) friend.
2 Go to class.
3 Do kaniji practice.
4 Listen to music.

The correct answer is #3- A LD hALwS5% LZEFY.

The author says he is going to start practicing kanji next, which means he is not currently practicing
kanji. He mentions doing all of the other items on the list.

Y3613 e BRZEY HFY LrIHITTERNTT D,
1T 2ALER BITZERA,
2 BNV BARIZ WIEHA,
3HFY NAXTIILEERA
4 =513 TAYHATT,

ROMAJI

Tomodachi wa naze Nihongo ga amari jozu dewa nai desu ka.
1 Kanji o oboemasen.
2 Nagai aida Nihon ni imasen.
3 Amari benky6 shimasen.
4 Tomodachi wa Amerika-jin desu.

ENGLISH

Why is (his) friend not very good at Japanese?
1 (He) doesn’t remember kanji.
2 (He) hasn’t been in Japan for a long time.
3 (He) doesn’t study much.
4 (His) friend is American.

The correct answer is #2- GHWE BHZEIC LWIFHA.

The author tells us that his friend has lived in America for a long time, so he sometimes doesn’t
understand what is correct Japanese. Another way to say that is that he has lived in America for a
long time, is that he hasn’t been in Japan for a long time.
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ROMAJI

Kei-san to issho ni shigoto o shite imasu. Ni-gatsu jiyokka Kei-san kara okashi o moraimashita. Sono
okashi wa totemo oishikatta desu kara ii okashi o kaimashita. Depato ni itte ichi-ban takai okashi o
katte sore kara san-gatsu jayokka ni Kei-san no tsukue ni okimashita.

San-gatsu jugo-nichi isshoni shigoto shite iru Akiko-san wa “Arigato gozaimasu, shikashi watashi wa anata
ni sengetsu okashi o agemasen deshita.” to iimashita. Watashi wa “watashi mo.” to iimashita.

“Chotto matte kudasai. Anata no tsukue wa doko desu ka.” to kikimashita.
“Tanaka-san to Nishimura-san no aida desu.”
“Kei-san wa.”

“Kitamura-san no tonari desu yo.”

Naze takai okashi o kaimashita ka.
1 Depato wa takai mono dake utte ita kara desu.
2 Kei-san ga daisuki dakara desu.
3 Moratta okashi wa oishikatta kara desu.
4 li okashi ga daisuki dakara desu.

ENGLISH

(I) work with Kei. On February 14th (I) received some sweets from Kei. Those sweets were really
delicious, so (I) bought some nice sweets. (I) went to the department store, bought the most
expensive sweets and then put them on Kei’s desk on March 14th.
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On March 15th, Akiko, who (I) work together with said “thanks, but I didn’t give you any sweets last
month.”

I said “I also (didn’t give you sweets.)”

“Wait a moment. Where is your desk?” (I) asked.
“Between Mr. Tanaka and Ms. Nishimura.”

“Kei (’s desk)?”

“Next to Ms. Kitamura’s.”

Why did (“I”) buy expensive sweets?
1 Because the department store was selling only expensive sweets.
2 Because (“I”) loves Kei.
3 Because the sweets (“I1”) received were delicious.
4 Because (“I1”) loves nice sweets.

The correct answer is #3- £ 52fEH LIE L LHL>Teh 5T .

The author says that the sweets Kei left on his desk were really delicious, so he wanted to buy some
really nice sweets for her. Nothing about the other answers is mentioned in the passage.

T HIIIAT BrLE BH5VWELED,
T HWIAN HEIIAIT dIFEILTT,
2 ThLl 13 HEIIAN EOTEENILTT,
3HEFIIAE HWIAD Bz Yok b6TY,
4 Thi=L] 13 BAIDZIT Borlr BWEILTT,

ROMAJI

Naze Akiko-san wa okashi o moraimashita ka.
1 Kei-san ga Akiko-san ni ageta kara desu.
2 “Watashi” wa Akiko-san ga daisuki dakara desu.
3 Akiko-san wa Kei-san no okashi o totta kara desu.
4 "Watashi” wa chigau tsukue ni okashi o oita kara desu.

ENGLISH

Why did Akiko receive sweets?
1 Because Kei gave (them) to Akiko.
2 Because “I” loves Akiko.
3 Because Akiko took Kei’s sweets.
4 Because “1” put the sweets on a different desk.

The correct answer is #4- ThfzL1 I¥ BHS5DLZIc HhLE HWLIHSTT.

From the first bit of dialog, it is obvious that “I” [4>7/=L] , is a bit confused. He thinks he didn’t give
Akiko any sweets. Through the conversation we can see that he made a mistake about the location
of Kei’s desk. He obviously put it on Akiko'’s desk, thinking it was Kei'’s.
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ROMAJI

Sengetsu atarashii ie ni hairimashita. Daidokoro wa kirei ni soji shita node, akarukute kirei desu. Hitotsu
no heya niwa okii terebi o okimashita. Kono heya de itsu mo eiga o mitari géemu o shitari shimasu.
Totemo tanoshii desu.

Tonari no hito wa hana ga daisuki desu. le no niwa ni iroiro na hana ga takusan arimasu. Watashi no
kodomo wa itsu mo hana o toritai desu ga, tonari no hito wa “toranaide kudasai.” to itte imasu. Dakara,
watashi no niwa ni hana o okitai desu. Ashita, hana o kaitai desu.

Nani ga tanoshii desu ka.
1 Niwa de hana o toru koto.
2 Terebi o oita heya de gému o suru koto.
3 Akarui daidokoro de ryo6ri o suru koto.
4 Atarashii ie ni sunde iru koto.

ENGLISH

Last month, (I) entered a new house. The kitchen was cleaned beautifully, so it was bright and pretty. (I)
put a big TV in one of the rooms. (I) am always in that room watching movies, playing video
games etc. (It) is really fun.

(My) neighbor loves flowers. In (his) garden there are many various flowers. My children always
want to pick the flowers, but (my) neighbor says “Don’t take (them) please.” So, (I) want to put
flowers in my garden. Tomorrow, (I) want to buy flowers.

What is fun?
1 Picking flowers in my garden.
2 Playing a game in the room with a TV set.
3 Cooking in the bright kitchen.
4 Living in the new house.
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The correct answer is #2- 7L EZR HWIAPT F—L% 952 ¢.

The room with the TV is where the author plays games and watches TV, which are both pretty
exciting things to do. It would make sense that he is talking about the room where he put the TV.
He doesn’t mention a lot about the kitchen or house being very exciting. Answer 1 is incomplete.
The author gives playing video games as one example of why he likes the room with the TV.

2 L e BOWEWTED,

1T 22D A2 ST 5TT,

2 TAXARD BLOLNSHTT,

3 28y e FEENSTY,

4 ZXEn XRUYDAD xR Yo5ENHTT,
ROMAJI

Naze ashita hana o kaitai desu ka.
1 Tonari no hito ni agetai kara desu.
2 Takusan hana ga hoshii kara desu.
3 Kodomo ga hana o suki dakara desu.
4 Kodomo ga tonari no hito no hana o totta kara desu.

ENGLISH

Why do (I) want to buy flowers tomorrow?
1 Because (I) want to give (them) to my neighbor.
2 Because (I) want lots of flowers.
3 Because (my) kids like flowers.

4 Because (my) kids picked my neighbor’s flowers.

The correct answer is #3- TEEHD 6% TERHSTT .

We can guess that since the author’s kids want to pick the flowers, they probably like flowers, and so
the author is going to buy some flowers so his kids don’t pick his poor neighbor’s flowers. Answer 4 is
incorrect because the author said his kids want to pick the flowers, but they never picked the flowers.
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JHIZTAIET faE VBTIEAIC £-5TEELED,
T Iy BTL
2 XY BILr ¥ I¥
3 %24
4 ByLy H7¥
ROMAJI

Senshu no doy6bi ni koen de hirugohan o tabemashita. Sono hi no mae ni minasan ni “Osara to
tabemono o motte kite kudasai.” to iimashita. Osushi wa Yoko-san to Akiko-san ga motte kimashita.
Yakitori wa Yoko-san to Takahiro-san ga motte kimashita. Sarada wa Yumi-san to Yoko-san ga motte
kimashita. Tabemono ga takusan arimashita.

Shikashi, Mira-san wa osara dake o motte kimashita. Watashi wa “Doshite osara dake o motte kimashita
ka.” to kikimashita.

Mira-san wa “Anata wa ‘osara o motte kite kudasai. to iimashita” to iimashita.

“Chotto chigaimasu yo.” to kotaemashita.

Yoko-san wa nani o hirugohan ni motte kimashitaka
1 Yakitori to osushi
2 Yakitori to osushi to sarada
3 Sarada
4 Osushi to sarada

ENGLISH

Last week, on Saturday (I) ate lunch in the park. The day before that (I) told everyone “Bring a plate
and food please.” Yoko and AKiko brought sushi. Yoko and Takahiro brought yakitori. Yumi and
Yoko brought salad. There was a lot of food.

However, Mr. Miller only brought a plate. I asked “why did you bring only a plate?”
Mr. Miller said “You said ‘bring a plate please.”

“(That) is a little different.” (I) answered.

What did Yoko bring to lunch?
1 Yakitori and sushi.
2 Yakitori, sushi, and salad.
3 Salad.
4 Sushi and salad.

The correct answer is #2- ®F¥ &V E HILE BS54,

Yoko seems to have brought a lot of food to the lunch in the park. The author mentions in 3 separate
sentences what Yoko brought. If you add them all up, you have the list of 3 items that are in answer 2.

E brosrbEHlnETH,
1 BXLE (XA B-5TEFLA,
LI ZIZ AT TEFLI-,
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ROMAJI

Naze chotto chigaimasu ka.
1 Osara o takusan motte kimashita.
2 Chigau koen ni ikimashita.
3 Mira-san wa tabemono o motte kimasen deshita.
4 Gyuniku o motte kimashita.

ENGLISH

Why is (it) a little different?
1 (Mr. Miller) brought a lot of plates.
2 (Mr. Miller) went to the wrong park.
3 Mr. Miller didn’t bring food.
4 (Mr. Miller) brought beef.

The correct answer is #3- S5 —FhlE BRED%E HH>TEFHATLLE.

In the first paragraph, the author tells Mr. Miller to bring a plate and food, but he just remembered
the part about bringing a plate, so he didn’t bring any food. This is different from what he requested.

SPIE WArs  HFEY THhUTEFHA, Tl LT woE  FTLEZR  REY
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ROMAJI

Fuyu wa ie kara amari dekakemasen. Soto wa samukute, itsumo terebi o mitari hon o yondari shimasu.
Haru wa tokidoki koen de hana o minagara hirugohan o tabete biiru 0 nomimasu. Shikashi, kotoshi wa
tenki ga warukatta desu kara, haru mo ie de hon o takusan yomimashita.

Natsu wa puru ni ikitai desu. Shichi-gatsu to hachi-gatsu dake aite imasu ga, tanoshii desu. Tomodachi ni
atte issho ni oyogimasu. Mai-nichi osoku made kaerimasen. Aki wa doko mo utsukushiku narimasu.
Gakko e arukinagara kirei na iro no ki o mimasu. Tenki wa itsu mo suzushii desu kara, soto ni dekakemasu.
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Kono haru ni “watashi” wa nani o shimashita ka.
1 Koen ni yoku ikimashita.
2 Amari ie kara demasen deshita.
3 Terebi o mimashita.
4 Biiru 0 nomimashita.

ENGLISH

(I) don’t go out much in winter. Outside is cold, so (I) always watch TV, read books etc... For spring (I)
sometimes eat lunch and drink beer while looking at the flowers in the park. However, this year the
weather was bad, so (I) read a lot of books at home (this) spring, too.

In summer, (I) want to go to the pool. (It) is open only in July and August, but (it) is fun. (I) meet
my friend and (we) go swimming together. Every day (I) don't return until late. In fall, everywhere
becomes beautiful. While (I) walk to school, (I) see beautifully colored trees. The weather is always
cool, so (I) go out.

This spring, what did “I” do?
1 Went to the park a lot.
2 Didn't go out from the house much.
3 Watched TV.
4 Drank beer.

The correct answer is #2- %Y WZHS HFHBATLL:.

The author, [457=L] , writes in the first paragraph that she read lots of books at home because of
the bad weather. We can assume from this that she didn’t get out of the house much. Earlier in the
paragraph, she does say that she usually goes to the park to look at flowers and eat lunch. But then
she later goes on to clarify what she did this year.

Be on the lookout for keywords like [ 7L (shikashi, however), T% (demo, but) or 7' (ga, but).
These can signal a change in the flow of the passage.
ol bl 13 %2 LEda,
1T —HF WZIZ WIET,
YHrvre VI
6 ALY T—ILIT TXFEA.
o wao Kx RIET,

AW N

ROMAJI

Natsu ni “watashi” wa nani o shimasu ka.
1 Ichi-nichi-ju ie ni imasu.
2 Tomodachi to asobimasu.
3 Roku-gatsu shika puru ni ikimasen.
4 Kirei na iro no ki o mimasu.
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ENGLISH

What do “I” do in summer?
1 Be at home all day.
2 Have fun with friends.
3 Don’t go to the pool except in June.
4 See beautifully colored trees.

The correct answer is #2- &b E HBZTUET .

The author, [4>7=L], writes that she goes swimming with her friend. Answer 2 is basically just a
rewording of that. For answer 1, she said she stays home most of the winter, not summer. For answer

3, the pool isn’t open in June, so she can’t go then. For answer 4, she writes that there are colorful
trees in fall.
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ROMAJI

Panda risaikuru-ten

Osaka ni yon-ten arimasu!

Yasuku mono o kaimasho! Furui mono wa urimasho!

Sakura-machi hon, shiidii, diibuidii

Midori-cho supotsu

Nishigawa-machi shiidii, diibuidii

Oyama-machi fuku, supatsu

% Sakura-machi to Midori-chd no mise wa getsuyébi ga yasumi desu. Nishigawa-machi to Oyama-machi no mise

wa kayobi ga yasumi desu.

Jisho to uwagi o uritai desu. Itsu doko ni ikimasu ka.

1 Getsuyobi Oyama-machi ni itte kayobi Sakura-machi ni ikimasu.

2 Kayobi Sakura-machi to Midori-cho ni ikimasu.

3 Kayobi Oyama-machi ni itte getsuyobi Sakura-machi ni ikimasu.

4 Getsuyobi Nishigawa-machi to Oyama-machi ni ikimasu.
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ENGLISH
Panda Recycle Shop
Let’s buy things cheaply! Let’s sell old things!
There are 4 stores in Osaka!

Sakura-machi Books, CDs, DVDs

Midori-cho Sports (equipment)

Nishigawa-machi CDs, DVDs

Oyama-machi Clothes, sports

% Sakura-machi and Midori-cho stores are closed (lit., on a break) on Mondays. Nishigawa-machi and
Oyama-machi stores are closed on Tuesdays.

(You) want to sell a dictionary and a jacket. When and where do (you) go?
1 On Monday go to Oyama-machi, and on Tuesday go to Sakura-machi.
2 On Tuesday go to Sakura-machi and Midori-cho.
3 On Tuesday go to Oyama-machi and on Monday go to Sakura-machi.
4 On Monday go to Nishigawa-machi and Oyama-machi.

The correct answer is #1- B&S5H HBERIHENC 7T K&S5H TLSHIC TEXT.

You want to sell a dictionary and a jacket. The only store that deals with books is the Sakura-machi
store, so we have to go there to sell the dictionary. The Oyama-machi store is the only one that deals
with clothes, so we need to go there as well.

According to the comment on the bottom, Sakura-machi is closed on Mondays, so we need to go on
a different day (like Tuesday). Oyama-machi is closed on Tuesday, so we need to go on a different
day (like Monday).
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ROMAJI

Kitamura Jimu
Kotoshi wa kenko ni narimasho!

Puran no namae Jikan Okane

Yon-kai furekkusu Ikkagetsu ni yon-kai de gozen roku-ji | yon-sen-en
kara gogo juni-ji made

Jukkai furekkusu Ikkagetsu ni Jukkai de gozen roku-ji | kyu-sen-en
kara gogo juni-ji made

Mai-nichi roku-ji kara Mai-nichi gogo roku-ji kara ichi-man ni-sen-en

Heijitsu go-ji made Getsuyobi kara kin'yobi made, gozen roku-sen-en
roku-ji kara gogo go-ji made

kenko - genki na karada

Sha-san wa mai-shi suiyobi to doyobi ni Kitamura Jimu ni ikitai desu. Tokidoki doyobi ni wa ikimasen.
Yasui ho ga ii desu. Dono puran ga ii desu ka.

1 yon-kai furekkusu

2 jukkai furekkusu

3 mai-nichi roku-ji kara

4 heijitsu go-ji made

ENGLISH
Kitamura Gym
Let’s become healthy this year!

Plan Name Time Fee

4 Times Flex 4 times a month, from 6am until 12pm 4,000 yen
10 Times Flex 10 times a month, from 6am until 12pm 9,000 yen
Every Day from 6 Every day from 6pm 12,000 yen
Weekdays until 5 From Monday until Friday, from 6am until Spm 6,000 yen

Health - Energetic body
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Mr. Shah wants to go to Kitamura Gym on every Wednesday and Saturday. Sometimes (he) doesn’t
go on Saturday. The cheaper the better. Which plan is good?

1 4 Times Flex

2 10 Times Flex

3 Every day from 6
4 Weekdays until 5

The correct answer is #2-10 "> 7L v X.

Mr. Shah wants to go to the gym on Wednesdays and Saturdays. So, he can’t use the ~“\\\UD 5 BfF
T plan. He is going to go to the gym more than 4 times a month, so he can’t use the 4 "\ 7L
7 A plan. He could sign up for % H 6 B§/'5 plan, but he wants the cheapest plan, and the 10 7\
7L 7 X plan is cheaper.
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& - PTh

AIARXA

A -12:00 - 17:.00 LTk

K - 11:00 - 16:00 tw X9
K -9:00 - 15:00 LTk

A -19:00 - 22:00 Lk

£ - 11:00 - 16:00 ULwXx>

S BRIXAIE UrIINVAIZ WET, RAIAIXAY TUXAT HPIXAIZ HUn
TH, LEIVAD  DAHCEFRIE H#B FEOLEF»S F#H8FITTd, LIy
65 Lr)vAEIT 18B 29034 2498 bIXAE v »2hi
*HOANWERR - ¥B7EBY NELD UIIHIVAIZ WBAIZ HIHEFR

AIAZAY PUIAIT D BXRIIAIT HOETH,
1T XLHIBY KRIHH
2 RKXHo)BY AKRJLHH
3 k&HBY KRIHBY £J5H
4 RXopr £455H
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ROMAJI

Yan-san

getsu - ku-ji ~ jayo-ji jugyo junana-ji ~ nijani-ji shigoto
ka - ku-ji ~ jaichi-ji jugyo jasan-ji ~ jihachi-ji shigoto
sui - jayo-ji ~ juku-ji shigoto

moku - ju-ji ~ juroku-ji shigoto

kin - yasumi

Sumisu-san

getsu - jini-ji ~ jinana-ji shigoto
ka - juichi-ji ~ juroku-ji jugyo
sui - ku-ji ~ jago-ji shigoto

moku - juku-ji ~ nijani-ji shigoto
kin - jaichi-ji ~ jaroku-ji jugyo

Ima, Ayako-san wa by6in ni imasu. Sumisu-san to Yan-san wa Ayako-san ni aitai desu. Byoin no menkai
jikan wa mai-nichi gogo go-ji kara gogo hachi-ji made desu. Shigoto kara byoin made ichi-jikan
kakarimasu. Kin'yobi Ayako-san wa ie ni kaerimasu.
*¥Menkai jikan - tomodachi to kazoku ga byoin ni iru hito ni au jikan
Sumisu-san to Yan-san wa itsu Ayako-san ni aimasu ka.

1 kayobi to mokuyobi

2 suiyobi to mokuyobi

3 kayobi to mokuyobi to kin'yobi

4 mokuyobi to kin'yobi

ENGLISH

Ms. Yan

Mon - 9am ~ 2pm Class Spm ~ 10pm Work
Tue — 9am ~ 1lam Class 1pm ~ 6pm Work
Wed - 2pm ~ 7pm Work

Thur - 10am ~ 4pm Work

Fri — Break

Ms. Smith

Mon - 12pm ~ Spm Work
Tue - 11am ~ 4pm Class
Wed - 9am ~ 3pm Work
Thur - 7pm ~ 10pm Work
Fri - 11am ~ 4pm Class
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Now, Ayako is in the hospital. Ms. Smith and Ms. Yan want to see Ayako. The hospital’s visiting
hours are from 5pm to 8pm every day. From work until the hospital it takes 1 hour. On Friday,
Ayako returns home.

*Visiting hours - the time when friends and family can see people in the hospital.

When are Ms. Smith and Ms. Yan going to visit Ayako?
1 Tuesday and Thursday
2 Wednesday and Thursday
3 Tuesday, Thursday and Friday
4 Thursday and Friday

The correct answer is #1- X&S5HE AR&ES5H.

Ayako is returning home on Friday, so Ms. Yan and Ms. Smith can’t visit her that day. That
eliminates answers 3 and 4. The only difference between answers 1 and 2 is X X9 H and KJX95H .
Ms. Yan can’t make it on Wednesday because she works until 7 and it takes an hour to get to the
hospital. So, by the time she gets there visiting hours will be over.

4]

BTED 253708 PTWTCTL!

L3N 5

WiF3K A X7=8A LW BBTEDL XAX

At>B~4k>H 185 1 240 M 190 M 200 M
(Fm7 7805

4% 5 85 F T)

Atia~42kIHA 155 H 220 M 160 M 170 [
(#5819 6)

k3B, BLOH 140 M 190 M 140 M 150 M

¥2FWw EolAlX 10 UVEXY,3 v HokAW 16A i,

2 IALE HIAL BmPEPIALR O KHIAR Bvid. KEIAD p2uleld
RFETIZ HYIET. LHL, LILDET VKA T £-T PITRAE A
T, KHXAR FHESEIT LILLET, Lediold PFEENL  buil
TVTY,
BRIALL RIALY EBRIAE EART W(hH  IEE0FTA,

1 420 M

2 450 M

3 465 M

4 570 M
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ROMAJI

Densha no kippu ga yasui desu yo!

Shibuya kara

lkebukuro Kitasenju Otemachi Ginza

getsuyobi ~ kin'yobi (gozen hyaku hachiji | nihyaku yonji- en | hyaku kyuji-en | nihyaku-en
nana-ji kara gogo go-ji made) | go-en

getsuyobi ~ kin'yobi (gogo hyaku goju nihyaku nija-en hyaku rokuji-en | hyaku nanaji-en
go-ji kara) go-en
doyobi, nichiyobi hyaku yonju-en | hyaku kyuji-en hyaku yonju-en | hyaku goju-en

#* Ni-mai katta hito wa ja en hikimasu. San-mai katta hito wa jiigo en hikimasu.

Takamura-san to Kitamura-san to Tanaka-san wa Omura-san ni aimasu. Omura-san no kaisha wa Ote-
machi ni arimasu. Shikashi, shigoto no ato de lkebukuro de atte yagohan o tabetai desu. Omura-san wa
gogo go-ji made shigoto shimasu. Shii-matsu wa yasumi dakara aitaku nai desu.

Takamura-san to Kitamura-san to Tanaka-san wa zenbu de ikura haraimasu ka.
1 yonhyaku nija-en
2 yonhyaku goju-en
3 yonhyaku rokujigo-en
4 gohyaku nanaju-en

ENGLISH

Cheap train tickets!

From Shibuya

Ikebukuro Kitasenju Otemachi Ginza
Monday ~ Friday 185 yen 240 yen 190 yen 200 yen
(From 7am until Spm)
Monday ~ Friday 155 yen 220 yen 160 yen 170 yen
(From Spm)
Saturday, Sunday 140 yen 190 yen 140 yen 150 yen

¥ People buying 2 (tickets) can get a 10-yen discount. A 15-yen discount is applied to people
buying 3 (tickets).

Mr. Takamura, Mr. Kitamura and Mr. Tanaka are visiting Mr. Omura. Mr. Omura’s company is
in Ote-machi. However, (he) wants to meet in Ikebukuro and eat dinner (there) after work. Mr.
Omura works until Spm. Weekends are days off, so (he) doesn’t want to meet then.

How much money are Mr. Takamura, Mr. Kitamura, and Mr. Tanaka going to pay in total?
1 420 yen
2 450 yen
3 465 yen
4 570 yen
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The correct answer is #2- 450 FH .

3 people need to go to Ikebukuro because Mr. Omura wants to eat dinner there. The tickets cost 155
yen each:

155 yen x 3 people = 465 yen

But, the note at the bottom says that if you buy 3 tickets, you get a 15-yen discount:
465 yen — 15-yen discount = 450 yen

A—N\—=LEHDb
YYD J—KRYV
o 1Fww EoAWIR 250Mm%E UXEZd,
e 2Fuv E-ozAlX 600HM% UXZFT,
o 3F\ EozAlX 1,000 Mz UV=ZE,
e 4% Eo/AWX 1,250M% U=F¥, 2L T TLEUh,

SO7—EKYE OhohBLIAL, kyba—k—% HFEF
MBPVF—TLOED ILETF C0r—KYE  BoTLEIW,

bwr—776 1,000 HE 1,500-H» Y+vid EoT SPV0T—7A»56
1,500 & 2,000 H» v+vEd BAWEF, LILETH,

14,750 %  1I50WET,

2 4,750 %2 E56-5TC, a—t—% 3HH0ET,

3 5400M% d50WET,

4 5,400 Hz I56-5TC, a—kt—% HHWIT,

ROMAJI

Supa Shimakawa
Shatsu no kiipon

e Ichi-mai katta hito wa nihyaku goju-en o hikimasu.

¢ Ni-mai katta hito wa roppyaku en o hikimasu.

e San-mai katta hito wa sen-en o hikimasu.

e Yon-mai katta hito wa sen nihyaku goji-en o hikimasu. Soshite purezento.

Kono kiipon o tsukatta minasan ni, hotto kohii o agemasu!

% Akai téburu no ue no fuku dake kono kipon o tsukatte kudasai.
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Aoi teburu kara sen-en to sen gohyaku-en no shatsu o katte akai teburu kara sen gohayku-en to nisen-
en no shatsu o kaimasu. Do shimasu ka.

1 Yonsen nanahyaku goju-en o haraimasu.

2 Yonsen nanahyaku goju-en o haratte, kohii o moraimasu.
3 Gosen yonhyaku-en o haraimasu.

4 Gosen yonhyaku-en o haratte, kohii o moraimasu.

ENGLISH

Super Shimakawa
Shirts Coupon

e DPeople that buy one (shirt) get 250 yen off.

e People that buy two (shirts) get 600 yen off.

e People that buy three (shirts) get 1,000 yen off.

e People that buy four (shirts) get 1,250 yen off. And a present.

(We) will give a hot coffee to everyone that uses this coupon!

%% Please use this coupon only for clothes on the red table.

(You) buy a 1,000 yen and 1,500 yen shirt from the blue table and buy a 1,500 yen and 2,000 yen
shirt. What will you do?

1 Pay 4,750 yen.
2 Pay 4,750 yen and receive a coffee.
3 Pay 5,400 yen.
4 Pay 5,400 yen and receive a coffee.

The correct answer is #4- 5,400 % (35->TC. d—k—% &50LF7.

The coupon says that you can only use it on items from the red table. So that means the two shirts
from the blue table are full price:

1,000 yen + 1,500 yen = 2,500 yen

We took 2 shirts from the red table so we get a 600 yen discount on those:

1,500 yen + 2,000 yen — 600 yen = 2,900 yen

If we add those two totals together, we get 5,400 yen:
2,500 yen + 2,900 yen = 5,400 yen

And if we use the coupon we get free coffee.
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6]
hoZ50 7)—<—4vhk
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1 RKLHBY £15H

2 AXoBY KIH5>BY KRLH>HY £J9H

3 ALHBr ARXHBHY &£J95H

4 XXH>Br £J5H

ROMAJI

Gakko no Furi Maketto

Gakko de, tsukawa nai mono o urimasho. Mai-nichi,
chigau mono ga arimasu node mai-nichi kite kudasai ne!

e kayobi - kiru mono o urimasu!

e suiyobi - haku mono o urimasu!

e mokuyobi - kaburu mono o urimasu!
e kin'yobi - nan demo urimasu!

* Getsuyobi ni uritai mono o gakko ni motte kite kudasai. Uritai mono o getsuyobi ni dake
motte kite kudasai. Gozen ku-ji kara gogo ichi-ji made yatte imasu. Yoroshiku onegai shimasu.

Santosu-san wa furui kutsu o uritai desu ga boshi o kaitai desu. Itsu gakko ni ikimasu ka.
1 mokuyobi to kin'yobi
2 getsuyobi to suiyobi to mokuyobi to kin'yobi
3 getsuyobi to mokuyobi to kin'yobi
4 kayobi to kin'yobi
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ENGLISH

School Flea Market

At the school, let’s sell the items (we) don't use. Every day,

there are different items, so come every day please!

Friday - (we) sell any (items).

Tuesday - (we) sell items you wear on the top part of your body.
Wednesday - (we) sell items you wear on the bottom part of your body.

Thursday - (we) sell items you wear on your head.

your cooperation.

% On Monday, bring the items (you) want to sell to the school please. Bring the items (you)
1 Thursday and Friday

want to sell only on Monday. (We) will be doing it from 9am to 1pm. Thank you for

2 Monday, Wednesday, Thursday and Friday
3 Monday, Thursday and Friday

4 Tuesday and Friday
The correct answer is #3- B&5H&E AR&ES5HE £&5H.

The flyer says to bring things you want to sell is allowed only on Monday. To sell the shoes, Mr

Mr. Santos wants to sell used shoes, and wants to buy a hat. When will (he) go to the school?

Santos needs to go on Monday. To buy a hat, he should go on Thursday when they are selling ‘things
you wear on your head.” He can also go on Friday when they are selling anything.

J

NolINED  ThHhdak T,
20XX#3A15H
L EER, 28T 4B KRALTT,
BAZE1 8:00~9:30 — 10:00~11:30%1
BAZE 2 10:00~11:30 — 18H (%) 12:00~13:30
"AL 1 13:00~13:50 — 16:00~16:50%1
BAZEL L 14:00~15:30%2
XK1 EankEDN BLAZTDOT 204 ONPIT fToTLEINY,
2 kBN LeXi)ntgE bHiv,
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AIAZAIE BAREZ HRELwELHID VWY TY, 20 [npE¥rild woTI,

118H» 12:00 75T,
2 22HD 14:00 »5TH,
3 15HD 16:00 25T,
4 22HD 15:30 5T,

ROMAJI

Gakko kara no tegami desu.

Nisen XX-nen sangatsu jigo-nichi

Nishikawa-sensei wa, kaze de kyo wa yasumi desu.

Nihongo ichi hachi-ji ~ ku-ji sanjuppun — ji-ji ~ jaichi-ji sanjuppun % 1

Nihongo ni ju-ji ~ juichi-ji sanjuppun — jahachi-nichi (do) jani-ji ~ jlsan-ji sanjuppun
kanji ichi jusan-ji ~ jasan-ji gojuppun — jaroku-ji ~ jaroku-ji gojuppun 3 1

Nihongo o yomu jayo-ji ~ jligo-ji sanjuppun 3% 2

% 1 Tanaka-sensei ga oshiemasu node nihyaku yon no heya ni itte kudasai.
% 2 Raishil no jugyo no ato arimasu.

Sumisu-san wa Nihongo o yomu jugyo no seito desu. Tsugi no jugyo wa itsu desu ka.
1 Juhachi-nichi no jini-ji kara desu.
2 Nijani-nichi no jayon-ji sanjuppun kara desu.
3 Jago-nichi no jaroku-ji kara desu.
4 Nijani-nichi no jugo-ji sanjuppun kara desu.

ENGLISH

This is a letter from the school.

3/15/20XX
Nishikawa-sensei has cold, so today (she has) the day off.
Japanese 1 8am ~ 9:30am — 10am ~ 11:30am 3 1
Japanese 2 10am ~ 11:30am — 18th (Sat) 12pm ~ 1:30pm
Kanji 1 1pm ~ 1:50pm — 4pm ~ 4:50pm 1

Read Japanese 2pm ~ 3:30pm 3 2

% 1 Tanaka-sensei is teaching, so please go to room 204.
X 2 (It) is after next week’s class.

Ms. Smith is a ‘Read Japanese’ class student. When is (his) next class?
1 From 12pm on the 18th.
2 From 2:00pm on the 22nd.
3 From 4pm on the 15th.
4 From 3:30pm on the 22nd.
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The correct answer is #2-22 H® 14:00 59 .

The second comment at the bottom of the letter says that the make up class will be after next week’s
class. However, the next “Read Japanese” class is actually the regularly scheduled class at 2:00.

HEVE] ES553DD TH5ZA
B R - FEI O BENDL  FHROLBET
HKADB: BLOH
L4 HENETIZ FATVIEIA: 4A3v~112v 200 H

12 X\~ 500 K
LEVETIZ  FTATOLHULA: 4 Xn~11X 400 H
12 X\~ 600 H

IZAD TE
DYLDR6, wAVALE LIiIZ-2% RiLr)d! 250AH/ 171w/ —A

&
_}g‘.
pe\»

HZEHETIZ FATUBEEHIAE 530w kL vslils EI3-2n 92
AT FTEELE, 2RI, TAYADG A 21 3vokyEs 3khy wolill
FERELE, CEbE ERHIAE TRIT 2hv DHELE, EASRT LTI,

1 2,700 M
2 2,900 M
3 3,000 M
4 3,200 M
ROMAJI
Midori-cho dobutsu no koen
Jikan: gozen kyu-ji kara gogo go-ji made

Yasumi no hi: getsuyobi
Okane: Midori-cho ni sunde iru hito: yon-sai ~ juissai nihyaku-en
juni-sai ~ gohyaku-en
Midori-ch6 ni sunde inai hito: yon-sai ~ juissai yonhyaku-en
juni-sai ~ roppyakyu-en
Koen no densha

Densha o norinagara, iroiro na dobutsu o mimasho! Nihyaku goju-en / ikkai / hitori
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Midori-cho ni sunde iru Nishimura-san wa go-sai no kodomo to isshoni dobutsu no koen ni ikimashita.

Sore ni, Amerika kara kita hatachi no tomodachi futari mo isshoni ikimashita. Kodomo to Nishimura-
san wa densha o ni-kai norimashita. Zenbu de ikura desu ka.

1 nisen nanahyaku-en
2 nisen kyuhyaku-en
3 sanzen-en

4 sanzen nihyaku-en

ENGLISH

Midori-cho Animal Park

Time: From 9am until Spm
Holiday: Monday
Fee: Residents of Midori-cho: Age 4 to 11 200 yen
Age 12 ~ 500 yen
Non-residents of Midori-cho: Age 4 to 11 400 yen
Age 12 ~ 600 yen

Park Train
While riding the train, let’s see various animals! 250 yen / 1 time / 1 person

Mr. Nishimura, who lives in Midori-cho, went with his 5-year-old kid to the animal park.
Moreover, (he) went together with (his) two 21-year-old friends that came from America. The kid
and Mr. Nishimura rode the train twice. Altogether, how much is it?

1 2,700 yen

2 2,900 yen

3 3,000 yen

4 3,200 yen

The correct answer is #2- 2,900 3 .

There is a lot to unpack here. Let’s add everything up one by one. So, first Mr. Nishimura and his
kid are coming and they live in Midori-machi, so they get a discount:

500 yen (for Mr. Nishimura) + 200 yen (for Mr. Nishimura’s kid) = 700 yen

Then there are two Americans coming that are 21, so they have to pay the full price:

700 yen + 600 yen x 2 = 1,900 yen

Finally, Mr. Nishimura and his kid want to ride the train twice:

1,900 yen + 250 yen x 2 people x 2 times = 2,900 yen

2,900 yen is answer 2.
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RERPL  REELTH  /NR

b S]] INA
8,000 M #1422 :00 ~477 8: 05 I{HRR
6,000 M 41 21:00 ~4F81 7:15 RN WA
7,500 H 1% 23:00 ~Far 7: 30 68K
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1 5,500HM
2 6,000
3 7,500 M
4 8,000 M

ROMAJI

A}
o

Osaka kara Tokyé made no basu

PLAY whEs,

Okane Jikan Basu
Hassen-en Gogo nijuni-ji ~ gozen hachi-ji go-fun Sakura basu
Rokusen-en Gogo nijuichi-ji ~ gozen nana-ji jigo-fun Fuji basu
Nanasen gohyaku-en Gogo nijusan-ji ~ gozen nana-ji sanjuppun Sakura basu
Gosen gohyaku-en Gogo nijani-ji sanjuppun ~ gozen ku-ji yonjago-fun Fuji basu

% Fuji basu wa, toire to terebi ga arimasen.

Tokyo de gozen ku-ji no kaigi ni ikimasu. Yasui ho ga yokute toire ga irimasu. Ikura haraimasu ka.
1 gosen gohyaku-en
2 rokusen-en

3 nanasen g
4 hassen-en

ohyaku-en
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ENGLISH

From Osaka to Tokyo Buses

Fee Time Bus

8,000 yen 10pm ~ 8:05am Sakura Bus
6,000 yen 9pm ~ 7:15am Fuji Bus
7,500 yen 11pm ~ 7:30am Sakura Bus
5,500 yen 10:30pm ~ 9:45am Fuji Bus

% The Fuji Bus doesn’t have a restroom or TVs.

(You) are going to Tokyo for a meeting at 9am. The cheaper way is better and (you) need a
restroom. How much do you pay?

1 5,500 yen

2 6,000 yen

3 7,500 yen

4 8,000 yen

The correct answer is #3- 7,500 [ .

We need to get to a meeting at 9. Since we need a toilet on the bus, we can eliminate the 5. /Y&
from the list of possible answers because according to the note at the bottom, it doesn’t have a toilet
or TV. That leaves us with the two Sakura buses. We prefer the cheaper one, so 7,500 yen is what we
are going to pay.
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HLIED TV

YEELD W 17:30~19:30
W\ A 18:00~20:00
E=OL>7=0x52) 19:30~21:30
HEIHW FuFi 20:00~22:00x

xLAbra—l2 500H OV2IT,

HLlz VAV TZAE ZODRDAD BT FTATWALIZIXAIZ H->T 20
¥ RIT, XIIXAIE FHRILEIETIC 2ZUEVWTT, YAV YIAD LITLik 6
BEcTd, LIlhs Zuahriic 1BE »hhid, £FvEiszy et
Yo zZuwhiz BRETH,

1 ¥EE50 W

2 LWk

3 BILDMSEYETD

4 HEIN FunTxE

445



Reading Information Retrieval Answers

ROMAJI

Ashita no eiga

Tomodachi no Inu Junana-ji sanjuppun ~ jiku-ji sanjuppun
li Sensei jahachi-ji ~ nija-ji

Tanoshikatta Ryoko Juku-ji sanjuppun ~ nijaichi-ji sanjuppun
Akiko ga Daisuki nija-ji ~ nijini-ji %

% Reitosho wa gohyaku-en hikimasu.

Ashita Jeison-san wa eigakan no chikaku ni sunde iru Yoko-san ni atte eiga 0 mimasu. Yoko-san wa gogo
jaichi-ji made ni kaeritai desu. Jeison-san no shigoto wa roku-ji made desu. Shigoto kara eigakan made
ichi-jikan kakarimasu. Yasui ho ga ii desu.

Dono eiga o mimasu ka.
1 Tomodachi no Inu
2 li Sensei
3 Tanoshikatta Ryoko
4 Akiko ga Daisuki

ENGLISH

Tomorrow’s movies

(My) Friend’s Dog 5:30pm ~ 7:30pm
Good Teacher 6pm ~ 8pm

Fun Trip 7:30pm ~ 9:30pm
(I) love Akiko 8:00pm ~ 10pm 3%

% There is a 500-yen discount for the late show. (lit., As for the late show, subtract 500 yen.)

Tomorrow, Jason is going to meet Yoko who lives near the movie theater to go see a movie. Yoko
wants to be home by 11pm. Jason’s job is until 6pm. From his office (it) takes an hour to reach the
movie theater. The cheap way is better.

Which movie are (they) seeing?
1 (My) Friend’s Dog
2 Good Teacher
3 Fun Trip
4 (I) love Akiko

The correct answer is #4- HECH LT E.

Jason works until 6pm and it takes an hour to get to the theater. So, he can only see a movie after
7pm or 19:00. That means he can only see the last two movies. Yoko wants to return by 11, but
there are no movies that go past 11, so we are okay there. Finally though, Jason prefers a cheaper
movie. Since the last movie is discounted by 500 yen, that is the best choice.
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ROMAIJI
Nanoka-bun no kusuri desu.

1. Yamafuru Ichi-nichi ni-kai itsuka-kan Asagohan to yorugohan o tabeta ato, nonde

kudasai. Ikkai ni ikko nonde kudasai.

2. Riréza Ichi-nichi san-kai nanoka-kan | Gohan o tabeta ato, nonde kudasai. lkkai ni

ikko nonde kudasai.
3. Omabiru Ikkai Sugu ni nonde kudasai.
4, Itaso Itai toki ni ikko nonde kudasai.

Richado-san wa, muika no asa ni kibun ga warukute, byoin ni itte kusuri o moraimashita. Kyo wa jisan-
nichi desuga, atama ga itai desu. Dono kusuri o d6 nomimasu ka.

1 Gohan o tabeta ato, Riréza ikko o nomimasu.
2 Gohan o tabeta ato, Riréza ikko o nonde, Itaso ikkd nomimasu.

3 Asagohan to yorugohan o tabeta ato, Yamafuru ikko o nonde, gohan o tabeta ato, Riréza ikko o
nonde, Itasé ikko o nomimasu.

4 Asagohan to yorugohan o tabeta ato, Yamafuru ikko o nonde, gohan o tabeta ato, Riréza ikko o
nonde, Itaso to Omabiru o ikko nomimasu.

447



448

Reading Information Retrieval Answers

ENGLISH

(This) is medicine for 7 days.

1. Yamafuru Twice a day / 5 days After (you) eat breakfast and dinner please
take (these pills). Please take 1 pill each time.

2. Riréza Three times a day / 7 days | After eating a meal, please take (these pills).
Please take 1 pill each time.

3. Omabiru One time Please take (this pill) right away.

4. Itaso When (you) hurt please take one pill.

Richard felt bad in the morning on the 6th, went to the hospital and received medicine. Today is
the 13th, and (he) has a headache. What kind of medicine does (he) take?
1 After eating a meal, take one Riréza.
2 After eating a meal, take one Riréza, and 1 Itaso.
3 After eating breakfast and dinner, take 1 Yamafuru, after eating a meal, take one Riréza,
and take one Itaso.
4 After eating breakfast and dinner, take 1 Yamafuru, after eating a meal, take one Riréza,
and take one Itaso and one Omabiru.

The correct answer is #2- Tl3h%E BNFE. UL—H 1% AT, 12VY7 1% BRHFET.

Richard went to the hospital 7 days ago, so he has stopped taking the Yamafuru. He is still taking
Riréza. But, he only needed to take Omabiru once, so he is finished with that. What about Itaso?
Well, it says to take that when in pain, and since he has a headache, it seems like a good time to
take one. So, that leaves us with Riréza and Itaso to take.
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BN, B9 —T z2wWh'z RE=WTY, 98BI 3A6H(A) TY, ALH>EBNH
£JOHET FwIELISs FHRLBFET LIz Lxd, £ LITi

1 418z ®»¥—IiZ 4{T-»C Fr7vyb%2 ¥>T 4R2HIZ +£¥—T
ZWHE  BRET,

2 482812 YLIDAIZ 1T-5T 2H1hWIZ 75T 2wz BRI,
3 482812 £Y¥—O 2HIhWI 5T zZ2WAH%d2 BFT,

4 3A118iz ®y¥—Ii2 17T F7vyb% ¥5T 4A82HIZ +£¥—T
ZWAe B FA,

ROMAJI

“Yama ni Noboritai”

Itsu:  Shi-gatsu futsuka (nichi) gogo ichi-ji kara
Doko: Sakura-shi senta no ni-kai no horu
Okane: Zero-en!

% Eiga o mitai hito wa shi-gatsu tsuitachi made ni senta (gozen ku-ji kara gogo go-ji made) ni
itte eiga no chiketto o totte kudasai. Chiketto wa nihyaku goju-mai dake arimasu node hayai
ho ga ii desu.

Eiga no ato de ikkai no toshokan de kohii to okashi ga arimasu.

chiketto - eiga no kippu

Ishikawa-san wa, senta de eiga o mitai desu. Kyo wa san-gatsu muika (getsu) desu. Getsuyobi kara kin'yobi
made gozen ku-ji kara gogo go-ji made shigoto o shimasu. Do shimasu ka.
1 Shi-gatsu tsuitachi ni senta ni itte chiketto o totte shi-gatsu futsuka ni senta de eiga o0 mimasu.
2 Shi-gatsu futsuka ni toshokan ni itte ni-kai ni itte eiga o mimasu.
3 Shi-gatsu futsuka ni senta no ni-kai ni itte eiga 0 mimasu.
4

San-gatsu jaichi-nichi ni senta ni itte chiketto o totte shi-gatsu futsuka ni senta de eiga o
mimasu.

ENGLISH

“(I) Want to Climb a Mountain”

When: April 2nd (Sun) from 1pm
Where: 2nd floor hall of the Sakura City Center
Fee: 0 yen!

% People that want to see the movie, please go to the center (from 9am to 5pm) before April
1st and take a ticket. There are only 250 tickets, so the faster the better.

After the movie, there will be coffee and sweets in the 1st floor library.

Ticket — movie ticket

Ms. Ishikawa wants to see the movie at the center. Today is March 6th (Mon). From Monday until
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Friday, from 9am until Spm (she) works. What will (she) do?
1 April 1st, go to the center, take a ticket and watch the movie at the center on April 2nd
2 Go to the library on April 2nd and go to the second floor and watch the movie.
3 April 2nd, go to the 2nd floor of the center and watch the movie.
4 March 11th, go to the center, take a ticket, and April 2nd watch the movie at the center.

The correct answer is #4-3 B 11 Hic 22—l 72T Frv % &->T 4B2HIK v2—T ZWH%E RET.

Ms. Ishikawa works 9 to 5 on weekdays (Monday through Friday), so she can’t go to the center on
weekdays. She has to go on the weekend. The notice says that tickets are limited to just 250, so she
should get there as soon as she can. Saturday the 11th is the soonest she can get there. Then, all she
has to do is go to the center on the day of the movie.
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HATEWT
HAWITIE RBLHIC Lo2BAZ EVWKERETWL. ZhD5 BhELE EVTBHARLL
KI3LD 154D GHHS.VEREA W £D%ZE UVED ZL5AT &L,

Mondai ichi
Mondai ichi dewa hajime ni, shitsumon o kiite kudasai. Sore kara hanashi o kiite, mondai yoshi no ichi
kara yon no naka kara, ichi-ban ii mono o hitotsu erande kudasai.

Question 1
For Question 1, first, listen to the question. Then listen to the conversation, and choose the best
answer from 1 through 4 on the problem sheet.

1]

SCRIPT

2D T FOAY HDOAN #HLTWIET, FOAD EIT YNTTI,
% ZhE RO FHLVWETTL, KEVTTh,

Fiwvwg, #F0Fid, pIvosy o BTT,

X 22FK7H HBEETTI,

Bildwv, WWhTL LI,

BOAD #HiT YITT 2,

ROMAJI
Kaisha no soto de otoko no hito to onna no hito ga hanashite imasu. Otoko no hito no kuruma wa dore
desu ka.

Onna: Kore wa anata no atarashii kuruma desu ka. Okii desu ne.

Otoko: lie, chigaimasu. Chiisai no ga watashi no kuruma desu.

Onna: Futatsu doa ga aru kuruma desu ka.

Otoko: Hai, ii desho.

Otoko no hito no kuruma wa dore desu ka.

ENGLISH
A man and a woman are talking outside (their) company. Which car is the man’s?

Woman: Is this your new car? It’s big, huh?
Man: No, that’s wrong. The small one is mine.
Woman: The 2 door car?

Man: Yes, nice, right?

Which car is the man’s?
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Correct Answer is #3.

A lot of questions in the listening section follow this format where you have to choose the correct
item out of the ones presented. Before the question starts, look over the image carefully and try to
identify the differences between the items. Here, there is a difference in size and how many doors
each car has.

Listen for keywords that can narrow down your choices. He says his is the small one. Then the
woman checks if it is the 2-door, which it is. It must be the small 2-door.

2

SCRIPT
FEN FLTWET, FEIT M2 EXF LD,

X BEIA, BOIZ, KO ADEIT ZBaTE EVWT (EXn, £0 T 489D
B4 ZTT (FEXWw, 2813 5A 278TY, 2L T, EOFIT 752D &A
2 BWT (FEXN, 2077213 THEL BERE T, 8IEXFLED,

FEIX e FZILED

ROMAJI

Sensei ga hanashite imasu. Gakusei wa nani o kakimashita ka.

Onna: Minasan, hajime ni, kami no migi no ue ni namae o kaite kudasai. Sono shita ni kyo no hi o kaite
kudasai. Kyo wa gogatsu niji nana-nichi desu. Soshite, migi no shita ni kurasu no namae o kaite
kudasai. Kono kurasu wa “Kantan na Nihongo” desu. Mo kakimashita ka.

Gakusei wa nani o kakimashita ka.

ENGLISH
A teacher is talking. What did the students write?

Woman: Everybody, to start, write (your) name in the upper right of the paper please. Below that
write today’s date please. Today is May 27th. And, write the class name in the lower right
please. This class is “Easy Japanese.” Did (you) write it yet?

What did the students write?
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Correct Answer is #4.

Looking at the drawings, you can guess the keywords you need to listen for - 5 H®DH (kyo no hi,
today’s date), and »*'A7=A 7 HZAR:E (kantan na Nihongo, Fasy Japanese). What is the difference
between each of the images? The location of where the information is. Listening for location

keywords like L (ue, up), T (shita, down), & (migi, right) and 7 (hidari, left) will be a huge help
for this type of question.

1 | ¥y hk vk MPAFAR BRE
5 A 278 5 A 278
DAt AW BRIE
3 [ AAAR BRE Ty h Iy k
5 A 278 5 A 278
DAt At BRIE

SCRIPT

T/X—=FT BOAY ZOAN ZHLTWET, BOAIX %2 BEWEFTH,
B FLIHEA, TOLebAZ RETLEIN,
& ALDOTT D,

FwWZ, fA0noE BharuwlL I,

L lIw, ¥ E,

B obhbH fLh ShoeTiih, TH, -

Z: ¥ITED,

B HDH), VDE BV TT I
23w, by F L

FOAIT %2 BWI T,
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ROMAJI

Depato de otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa nani o kaimasu ka.

Otoko: Sumimasen, sono chawan o misete kudasai.
Onna: Shiroi no desu ka.

Otoko: lie, akai no o onegai shimasu.

Onna: Hai, dozo.

Otoko: A, hana ga kirei desu ne. Demo,...

Onna: Do desu ka.

Otoko: Ang, shiroi no o kaitai desu ga...

Onna: Hai, wakarimashita.

Otoko no hito wa nani o kaimasu ka.

ENGLISH
A man and a woman are talking in a department store. What is the man going to buy?

Man: Sorry, show (me) that rice bowl please.
Woman: The white one?

Man: No, the red one please.

Woman: Yes, here you go.

Man: Ahh, the flowers are pretty. But,...
Woman: How about it?

Man: Well, (I) want to buy the white one.
Woman: Yes, (I) understand.

What does the man buy?

Correct Answer is #1.

There are only two differences that we are looking for here — the color (white or red) and what is on
it (flowers or fish). The man mentions that the flowers are nice so we can infer that he wants one
with flowers. And in the end he says he wants to buy the white one. So, he must have bought the
white one with flowers.

Pay close attention to the end of the conversation. The test writers might trick you into thinking you
have the right answer by giving you misleading information at the beginning of the conversation,
but then reveal the true answer at the end.
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SCRIPT

T FOAY HOAN FHLTWIET, xDOAIF &#HF %2 LIETI,
®: AEBRY KEEHIZ T3% HLT (7EXu0,

L flE Yol bn KEHITETA,

B: BRI —&TY,

Z 0 Rlde-

B —BIT —8 JIEAE HITFTLEXWN,

% —E=EF T,

Boldwn, LALCBRNVLEYT, ZBAMKIC RYET

LTOAIZ A [z LT

ROMAJI
le de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa mai-shu nani o shimasu ka.

Otoko: Getsuyobi to mokuyobi ni gomi o dashite kudasai.

Onna: Hana wa dono kurai mizu o agemasu ka.

Otoko: Futsuka-kan ni ikkai desu.

Onna: Inu wa...

Otoko: Ichi-nichi ni ikkai gohan o agete kudasai.

Onna: Ikkai dake desu ka.

Otoko: Hai. Yoroshiku onegai shimasu. Nishu-kan-go ni kaerimasu.

Onna no hito wa mai-shi nani o shimasu ka.
ENGLISH
A man and a woman are talking at home. What does the woman do every week?

Man: Take the garbage out on Monday and Thursday.
Woman: How often do (I) give the flowers water?

Man: Once every two days.
Woman: The dog?
Man: Give (him) food once a day please.

Woman: Only one time?
Man: Yes. Thanks in advance. (I) will be back after two weeks.

What does the woman do every week?

The correct answer is #2.

There are pictures of a food bowl and a flower on the calendar. So, we must be listening for
something about flowers and something about giving food to an animal. Since there is a regular
pattern to them, we must be listening for frequency.

Looking at the calendar, you can quickly come up with possible things you might hear like — H F4

|2 —= (futsuka-kan ni ikkai, once every two days) or —HRIZ == (futsuka-kan ni ni-kai, twice
every two days) when talking about flowers. Talking about frequency often comes up in the listening
section.
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5

SCRIPT

IR—=FT BOAY HDOAN FZLLTWITT, BOAIX G2 T334,

o~

oW ¥ 8 ¥ N

% .

Yz fAEEdoa,

D Aok, RAIX Ko HEBTINSL TLEUFE BEWEWTT,
P RDOAD RIE 3MTY., TLT SMICIE LEr FRY HYET,

XrhAlE EEE BoRENL, B2 EDE BEWEWTT,

PNTAIR EITE D, AR LWuNTAY HYFET L, HH 6FFICIT FHLLBIMO

EN HY I,
) —As B HY EEANDL, RA—FE BuviET,

FBOAL FAREIC ITTSE9D,

ROMAJI

Depato de otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa nan-kai ni ikimasu ka.

Onna: Doko ni ikimasu ka.

Otoko: Etto, raishii wa imoto no tanjobi desu kara purezento o kaitai desu.

Onna: Onna no hito no fuku wa san-kai desu. Soshite, go-kai ni wa uwagi to tebukuro ga arimasu.
Otoko: Kyonen wa uwagi o katta kara, chigau mono o kaitai desu.

Onna: Kaban wa doé desu ka. Yon-kai ni ii kaban ga arimasu yo. A, rokkai ni wa atarashii osara no mise ga

arimasu.

Otoko: Un, jikan ga arimasen kara, sukato o kaimasu.

Otoko no hito wa nan-kai ni ikimasu ka.
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ENGLISH

A man and a woman are talking at a department store. What floor is the man going to?

Woman: Where are (you) going?

Man: Well, next week is my little sister’s birthday so (I) want to buy a present.

Woman: Women’s clothes are on the 3rd floor. And coats and gloves are on the 5th floor.

Man: (I) bought a coat last year, so (I) want to buy a different thing.

Woman: How about a bag? There are nice bags on the 4th floor. Ahh, there is a new plate store on
the 6th floor.

Man: Mmm, (I) don’t have time, so (I) will buy a skirt.

What floor is the man going to?

The correct answer is #4- 3 H0>.

For some questions you might need to take notes about each of the answers while you listen. Here, it
is important to know about each of the floors. What is for sale on each? The listening questions will
typically mention all the answers, so be sure to take notes on each. Later in the conversation they
will either narrow them down or mention one piece of key information like in this conversation. If
you take notes, you will be able to easily link the two together.

The listening questions will very rarely explicitly give you the answer. You will typically need to link
one or two pieces of information together to get the right answer.

14 M 2 500
yon-kai go-kai
4th floor Sth floor

36700 4 3 N
rokkai san-kai
6th floor 3rd floor

6]

SCRIPT

FRBET BOAY HOAD #HELTWIT, BOAIX ¥YZiz EYITH,

F:FEN BT KeD BUTT,

I, phrVFELE, FF5F BT HZEZD BAFIZ E-T HFoTWTLEXN,
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ROMAJI

Byoin de otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa doko ni suwarimasu ka.

Otoko: Atama ga itakute kibun ga warui desu.

Onna: Hai, wakarimashita. Bango o totte asoko no isu ni suwatte matte ite kudasai. Watashi ga bango o
yobimasu kara, sore kara téburu no hidarigawa no doa ni itte kudasai.

Otoko: Hai, kaidan no mae no sofa ni suwarimasu ne.

Onna: Hai, dozo.

Otoko no hito wa doko ni suwarimasu ka.

ENGLISH

A man and a woman are talking at a hospital. Where is the man going to sit?

Man: My head hurts and (I) don’t feel well.

Woman: Okay, (I) see. Take a number and sit over there and wait please. I will call your name, then (you)
go to the door to the left of the table, please.

Man: Okay, sit on the sofa in front of the stairs?

Woman: Yes, go ahead.

Where is the man going to sit?

The correct answer is #4.

The keyword to listen for is 94>% (suwaru, to sit). We want to know where the man is going to
sit, not where he is going. Also, looking at the pictures, we can guess what phrases we should be
listening for:

K7D A&l T—=7ID  ElC

doa no migi ni téburu no hidari ni

to the right of the door to the left of the table
FYo  wlIC DWEAD R

mado no mae ni kaidan no mae ni

in front of the window in front of the stairs

1 2
%:I

458



SCRIPT

Listening ST Answers and Scripts

FOAY HDAN TFELTHWET, WD SVnFTh,

B EF EF 8N W

D R0 @l f[AEF T,
: 38525 4T,

Ced, 3BT 20WFEL LI D,

bH, EFIT 18FTTY, 2OHRT 20WFL LI D,
: TH, 18R &% Yz 73F7,
: TlX, 20T 20WFEL LI,

Ledh, 2BFIT HEFET 7—F% BRIEAD. TN05H BEE
D TH, BR@EEEET OB v ET, 15645 FLK LIEAN
DWVWWTd1,

WD 2NnEdD,

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Itsu aimasu ka.

Otoko: Doyobi no eiga wa nan-ji desu ka.

Onna: San-ji nijigo-fun desu.

Otoko: Ja, san-ji ni aimasho ka.

Onna: A, shigoto wa ichi-ji made desu. Sono ato de aimashé ka.

Otoko: Demo, ichi-ji ni kami o kiri ni ikimasu.

Onna: Dewa, sono ato de aimasho.

Otoko: Ja, ni-ji ni kissaten de kéki o tabemasen ka. Sore kara eiga o0 mimasho.
Onna: Demo, eigakan made jikan ga kakarimasu. Jigo-fun hayaku shimasen ka.
Otoko: li desu ne.

Itsu aimasu ka.

ENGLISH

A man and a woman are talking. When are (they) meeting?

Man: What time is the movie on Saturday?
Woman: 3:25
Man: Well, let’s meet at 3.

Woman: Ahh, there is work until 1. Let’s meet after that.

Man:

But, (I) am going to go cut (my) hair at 1.

Woman: Well, let’s meet after that.

HEL I,

Man: Okay, why don’t we eat cake at the coffee shop at 2? And then let’s watch the movie.
Woman: But, it takes time to get to the movie theater. Why don’t (we) do (it) 15 minutes earlier?
Man: Sounds good.

When are (they) meeting?

459



460

Listening S1 Answers and Scripts

The correct answer is #1-1:45.

Often times, the questions will mislead you. Keywords like T% or L7'L will let you know that the
conversation has turned in a different direction and you need to keep listening to get the real answer.

Also, in this first section be aware that the answer to the question is rarely given as is. You generally
need to put together two or three pieces of information in order to choose the correct answer.

1 1:45 2 2:00 3 3:00 4 2:15

SCRIPT

FOANE HDOAN ZELTWIET, FOALY HDOAIX vw>o Y Iic
PRDOTIE ¥ TIT ATEREWTT D,

DL BT ATXEVWTT,

HH, Bl VWTTH, TH, ;IO KITT &I T3 L7
Ced, 6 AIC WL B ELEAh,

6 R vwob W Y FTL

1 Z)9T¥H, Ux»d 8HIL fFX¥EL k9,
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito to onna no hito wa itsu doko ni ikimasu ka.
Otoko: Tsugi no ryoko wa doko ni ikitai desu ka.

Onna: Yama ya umi ni ikitai desu.

Otoko: A, umi wa ii desu ne. Demo, mae no ryoko de umi ni ikimashita.

Onna: Ja, roku-gatsu ni yama ni noborimasen ka.

Otoko: Roku-gatsu wa itsu mo ame ga furimasu yo.

Onna: So desu ne, ja hachi-gatsu ni ikimasho.

Otoko no hito to onna no hito wa itsu doko ni ikimasu ka.

ENGLISH

A man and a woman are talking. When and where are the man and woman going?

Man: Where do (you) want to go on (our) next trip?

Woman: (I) want to go to the mountains or the sea.

Man: Yeah, the sea is great. But, (I) went to the sea the trip before.
Woman: Well, why don’t (we) climb a mountain in June?

Man: It always rains in June.

Woman: That'’s right, well let’s go in August.

When and where are the man and woman going?
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The correct answer is #1- 8 B'Dlc ®Flc DEVET .

This is a common pattern with the listening questions. You hear two options, and then one of the
speakers eliminates one. Also, note that the man doesn’t actually explicitly accept the invitation, it is
simply implied. This is also quite common in this section.

1 82" 2I2 XFIT DIFVET, 2 603DIT HRIT WEET,
Hachi-gatsu ni yama ni noborimasu. Roku-gatsu ni umi ni ikimasu.
Climb a mountain in August. Go to the sea in June.

3 8MDIT HIAKIT WEET, 4 6 A2 XFIT DIXVET
Hachi-gatsu ni umi ni ikimasu. Roku-gatsu ni yama ni noborimasu.
Go to the sea in August. Climb a mountain in June.

9

SCRIPT

FOAY ZHDOAD ZELTWET, FOAIL HARD HEH =T 1—I2 A% FoTIIT
BRD N—=FT 44— fAn KHEHEL TLEYIE HFHoTETLEI Y,

Eu0 /1= RN B S /AN

WwWWz, B BYLEe BEnWIdas,

ZHITTN. ddH, AN BE-7-CD #HF-TEiF &,

b, HYDL I,

FOAIX HARD HEBNR—T4—IT (& FoTE2IAD,

TwYER

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa shi-matsu no tanjobi patii ni nani o
motte kimasu ka.

Onna: Shd-matsu no patii ni nani ka nomimono to purezento o motte kite kudasai.

Otoko: Tabemono wa irimasu ka.

Onna: lie, watashi ga osushi o kaimasu kara.

Otoko: S6 desu ka. A, watashi ga katta shiidii mo motte kimasu yo.

Onna: A, arigato.

Otoko no hito wa shia-matsu no tanjobi patii ni nani o motte kimasu ka.

ENGLISH

A man and a woman are talking. What is the man bringing to next week’s birthday party?

Woman: Bring something to drink and a present to next week’s party, please.
Man: Do (you) need food?

Woman: No, I am buying sushi.

Man: Oh, really? Ah, I will bring the CD (I) bought also.

Woman: Ahh, thanks.

What is the man bringing to next week’s birthday party?
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The correct answer is #4- CD. 7LE> k. DHEHD .

In questions like these, one tactic you can use while you are listening is to circle the items a person
is bringing, and then cross off the items they are not.

1 CD, B3L, “LESN, OLED 2 BTL, LN, OLBD

shiidii, osushi, purezento, nomimono osushi, purezento, nomimono
CD, sushi, present, a drink sushi, present, a drink

3CD, B¥L 4 CD, 7LEVF, OHED
shiidii, osushi shiidii, purezento, nomimono
CD, sushi CD, present, a drink

BZFET FOAY HOAN ZFLTWET, BINIAET YOATTH,
FiH BEID WET, TH, BINIAIT CTABATTD,

I E\INSIAR BHrokt WmlT, WwOF AAxE NFTEF,
B EBNTED,

X I—A BT,

B bbb, brUVELE, YUK TTXNET, ULed Fi=1,

BNXAIT LDOATT D,

ROMAJI

Denwa de otoko no hito to onna no hito ga hanashite imasu. Nishikawa-san wa dono hito desu ka.

Otoko: Ima, kuko ni imasu. Demo, Nishikawa-san wa donna hito desu ka.
Onna: Nishikawa-san wa chotto hosokute, itsumo megane o kakete imasu.
Otoko: Wakai desu ka.

Onna: Un, amari.

Otoko: A, wakarimashita. Arigatd gozaimasu. Ja mata ne.

Nishikawa-san wa dono hito desu ka.

ENGLISH

A man and a woman are talking on the phone. What kind of person is Mr. Nishikawa?
Man: Now, (I) am at the airport. But, what kind of person is Mr. Nishikawa?
Woman: Mr. Nishikawa is a little slim, and is always wearing glasses.

Man: Is (he) young?

Woman: Well, not really.

Man: Ah, (I) see. Thank you. See you later.

What kind of person is Mr. Nishikawa?
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The correct answer is #1.

This is a good question to practice your preview skills. Before the question starts, be sure to go over
in your head the possible words they could use to describe these people. For instance, they might
talk about height — #75% ZWU\ (se ga takai, tall) or ¥75% *{\\ (se ga hikui, short), or they could
talk about wearing glasses — $7'4a%  Hi}% (megane o kakeru).
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HATL2

BHALWVW2 T IFLCHIE LOBbAZE EVWT KEEW.ZThhS Bl EFVWTUBA
FWESLD 1H854D GHHL.VLBEIFA WO &DE UVED Z5AT KfEdLy,

Mondai ni
Mondai ni dewa, hajime ni shitsumon o kiite kudasai. Sore kara hanashi o kiite, mondai yoshi no ichi kara
yon no naka kara, ichi-ban ii mono o hitotsu erande kudasai.

Question 2
For Question 2, first listen to the question. Then, listen to the conversation, from 1 through 4 on the
answer sheet, choose the one best answer please.

5l

SCRIPT

ST BOAY HOAD FTELTWIET, £OAIL IR atE—% LIF,
B 2T A RETTH,

% :16A kFF, 2= WY FTh

Foldn, —AI 2#Fo wUFT, b 6#E R LEL

L ZITTD, B 2E—D v ETL

B EITTH, U, 39 4% 2E—% LTLESW,

3w, aE—% L,

ZTDOAIL IR aE—% LI,

ROMAJI

Kaisha de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa nan-mai kopii o shimasu ka.

Otoko: Kaigi e wa nan-nin kimasu ka.

Onna: Roku-nin kimasu. Kopii ga irimasu ka.

Otoko: Hai, hitori ni ni-mai zutsu irimasu. Mo roku-mai wa watashi ga shimashita.
Onna: So desu ka. Anata mo kopii ga irimasu yo.

Otoko: So desu ka. Ja, mo yon-mai kopii o shite kudasai.

Onna: Hai. Kopii o shimasu.

Onna no hito wa nan-mai kopii o shimasu ka.
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ENGLISH

A man and a woman are talking at work. How many copies is the woman going to make?
Man: How many people are coming to the meeting?

Woman: 6 people are coming. Do (we) need copies?

Man: Yes, (we) need two copies for each person. (I) made 6 copies already.

Woman: I see. You also need a copy.

Man: I see. Well, make 4 more copies please.

Woman: Okay, (I)’'ll make copies.

How many copies is the woman going to make?

The correct answer is #1-10 (>,

The listening section will probably include at least one ‘math’ question where you will have to do
some math based on the information you are given in order to get the correct answer. Here, the
woman says 6 people are coming and the man says they need two copies per person, but he has
already made 6. So, that means we need 6 copies so far:

6 people x 2 copies each — 6 copies already made = 6 copies we need to make

Then, the woman asks if the man needs copies. Was the man included in the original number of 6
people coming to the party? We don’t really know actually, but he confirms the additional number
of copies by saying they need 4 more ( £ , mo) copies:

6 copies needed before + 4 more = 10 copies in total

1 10 £ 2 12 Fun 314 Fn 4 16 £\
ju-mai juni-mai juyon-mai juroku-mai
10 sheets 12 sheets 14 sheets 16 sheets

(2]

SCRIPT

FOAY ZHDOAD TELTWIET, XOAIT T2 KLE T,
Fia—t—% fFUET, REILEAD,

*)—A, I—E=D HIFY FILP2RNTT,

B UVa—An» BEIX ¥YITTI

%L ALEWTT,

B Z2IHITHENR, 4256 BIrWBEZE FU T,

4 wnWi, AKERTT, ABENMGD BET ktiT,

TOAX A% REZTD
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa nani o nomimasu ka.

Otoko: Kohii o tsukurimasu. Nomimasen ka.

Onna: Un, kohii ga amari suki ja nai desu.

Otoko: Jiusu ka ocha wa do desu ka.

Onna: Tsumetai desu ka.

Otoko: SO desu ne, ima kara atatakai ocha o tsukurimasu.

Onna: lie, daijobu desu. Reizoko kara no ocha de daijobu desu.

Onna no hito wa nani o nomimasu ka.

ENGLISH
A man and a woman are talking. What is the woman going to drink?

Man: (I) am going to make coffee. Do you want to drink (some)?
Woman: Mmm, (I) don't really like coffee.

Man: How about juice or tea?

Woman: Cold (drinks)?

Man: That'’s right. (I) will make some hot tea now.

Woman: No, that’s okay. Tea from the refrigerator is okay.

What is the woman going to drink?

The correct answer is #2- 2&Tz\y HHE» .

The woman politely crosses off each of the items on the list until we get to her final sentence:

NWZIIN6D BT EWLLISTT,
Reizoko kara no ocha de daijobu desu.
The tea from the refrigerator is okay.

What temperature is the tea from the refrigerator? Cool.

So, the answer is 2, 2B\  BH .

1 a—kb— 2 DD BbHe
kohii tsumetai ocha
coffee cold tea

3 Va—R& 4 ZLDOAN D=7 Bbe
jasu onna no hito ga tsukutta ocha
juice tea made by the woman
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SCRIPT

BOAY ZHOAN TELTWET, BOAIZ ¥ZT 135L% BWELED
D DLEF TR,

HUDNKE I,

P TR=FTEWE LD,

DL, BFRT Avili

D HERD I HBETTI,

P EWET, ARLE ®mREO R bBETT.

bbb, @n->7=TL LI,

Wz, AFY BT T L,

E % E % 8N E

BOAIX ¥2T 13H5L% BWFEFLED

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa doko de boshi o kaimashita ka.
Onna: li boshi desu ne.

Otoko: Arigato.

Onna: Depato de kaimashita ka.

Otoko: lie, boshiya de kaimashita.

Onna: Yubinkyoku no tonari ni aru mise desu ka.

Otoko: Chigaimasu. Hon'ya to byoin no aida ni aru mise desu.

Onna: A, takakatta deshé.

Otoko: lie, amari takaku nakatta desu yo.

Otoko no hito wa doko de boshi o kaimashita ka.

ENGLISH

A man and a woman are talking. Where did the man buy the hat?

Woman: Nice hat.

Man: Thanks.

Woman: Did you buy it at a department store?

Man: No, (I) bought it at a hat store.

Woman: The store next to the post office?

Man: No. The store between the bookstore and the hospital.
Woman: Ah, (it) was expensive, right?

Man: No, (it) wasn't so expensive.

Where did the man buy the hat?

The correct answer is #1.

Looking at the pictures, you can easily come up with some keywords to listen for (X9 LX> (boshiya,
hat shop), 773—} (depato, department store), |ZA X> (hon'ya, bookstore), Ut 9 A (bydin,
hospital), ¥ 9 U'A % 1 { (yuabinkyoku, post office) and 7+ 7)1 (hoteru, hotel).
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Also, whenever the question asks about where, the speakers might use location words (lesson 6, page
120). Before the question starts, try to think of how you would describe where these buildings are,

so that you are primed to listen for locations.

2

[TTT1
JLIL |

4
" (TN
o Fr8=
B o T
o m | |l

HT BOAYL LDOAN #HELTHET, XOAIL, 5B {8k FXF L,

D SBIE, BWTEh, B¥ B(EXILEDN

D S5BIE KYIR 2EN HUETHL, broYR(RILE

23T, woBld 8BES5 T kI,

DIV, wWol 8ERT XIS, SHIE 68¥IC EEIFLA
DEWBWANATT, 22T TEENS WwWIE L,

AT BET a—kb—% EBEoT T4 5T £53Fl7 4l BROTT L,

TDOAIX, 5B IR FX I LD,

ROMAJI

Kaisha de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa, kyo nan-ji ni tsukimashita ka.

Otoko: Kyo wa, hayai desu ne. Naze hayaku tsukimashita ka.

Onna: Kyo wa taisetsu na kaigi ga arimasu kara, chotto hayaku kimashita.

Otoko: So desu ka. Itsu mo wa hachi-ji gojugo-fun ni kimasu ne.

Onna: Hai, itsu mo hachi-ji ni okimasu ga, kyo wa roku-ji-han ni okimashita.

Otoko: Taihen desu ne. Koko ni nana-ji-han kara imashita ka.

Onna: Hajime ni omise de kohii o katte shichi-ji yonjiigo-fun ni tsukimashita. Ima wa nemui desu yo.

Onna no hito wa, kyo nan-ji ni tsukimashita ka.
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ENGLISH

A man and a woman are talking at work. When did the woman arrive today?

Man: Early today, aren’t you? Why did (you) arrive early?

Woman: There is an important meeting today, so (I) arrived a little early.

Man: Is that right? (You) usually come at 8:55 right?

Woman: Yes, (I) usually wake up at 8, but today (I) woke up at 6:30.

Man: That’s terrible. (You) were here from 7:30?

Woman: First, (I) bought coffee at the store and arrived at 7:45. (I) am sleepy now.

When did the woman arrive today?

The correct answer is #2- 7 : 45,

Listen carefully to the question they ask you:

HDOAIE, 5B AR AXELED,
Onna no hito wa, kyo nan-ji ni tsukimashita ka.
When did the woman arrive?

So, arrived (%% L /=, tsukimashita) is the keyword to listen for. In a question like this, the test-
makers will usually try to trick you by giving you different times for different activities that one of
the speakers did. By listening for what was asked, it should help you keep your focus and answer
these questions easily.

1 7:30 2 7:45 38:00 4 8:55

5]

SCRIPT

FOAY ZHDOAD TELTHWET, WO B@EZ RIT TXF970,

D BHED R, Wo L LIz Br@EE RIT [TXEEAD,

DT hFEEA, BHBIE brotes,

D EETT D,

DWW E, BXSTO Flh BEIAN RO RIC RITHL ABR £t FRL
E S N

D SED ®ORID FRFEAD.

ZAEAER, REY Wwol iz ZTIEAZE BNIT, Ued, FATI @t A

T FHIC R%E2 #RLIT,

W @A BRI ITXFE T,

X 8 N W

X 38
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Itsu eiga o mi ni ikimasu ka.

Otoko: Ashita no yoru, issho ni eiga o mi ni ikimasen ka.

Onna: Sumimasen. Ashita wa chotto....

Otoko: Shigoto desu ka.

Onna: lie, asatte no gogo okasan ga watashi no ie ni kimasu kara, ashita wa ie o soji shimasu.

Otoko: Kyo no yoru mi ni ikimasen ka.

Onna: Kon-ban wa ne, tomodachi to issho ni yugohan o tabemasu. Ja, gozen ni eiga o mite gogo ni ie o
soji shimasu.

Itsu eiga o mi ni ikimasu ka.

ENGLISH

A man and a woman are talking. When are they going to see the movie?

Man: Tomorrow night, why don’t (we) watch a movie together?

Woman: Sorry. Tomorrow is a little ...

Man: Is (it) work?

Woman: No, my mom is coming to my house in the afternoon of the day after tomorrow, so (I) am
cleaning my house tomorrow.

Man: Why don’t (we) see (a movie) tonight?

Woman: Tonight? (I) am eating dinner with my friend. Well, in the morning we will watch the
movie and in the afternoon (I) will clean the house.

When are they going to see the movie?

The correct answer is #2-&H LTcdD €A .

Keep the question they are asking about in mind while you are listening. During questions like
these, the speakers will most likely mention other events several times or they might propose times
that are rejected. Don’t commit to an answer until the whole conversation has completed.

In the conversation above, the woman doesn’t explicitly say that she is talking about tomorrow, but
you can guess it from the context of the conversation.

1T 5BD S5 2 LD TEA
kyo no yoru ashita no gozen
tonight tomorrow morning
3 LD L5 4 HX-5THTT
ashita no yoru asatte no gogo
tomorrow night in the afternoon of the day after tomorrow
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6]

SCRIPT

BOAY HDOAN #ELTHET, BOAIZ KaWr AR BuET,

D X—=T 4 —I3 AN S T,

6L TY., AT ) BuwFLED

Wz, FETY, IR W FT,

5—/4, KliE BATYF, 2—k—¢ BFE 10 AFoTF,

D= T 41T RBAX T—b—% HIFIY RHEIEA.

ZITETH, Ledb.a—k—ld DARIZ LEILli). 2L 5% 910K o5
TLES,

Fldv, a0 F L

FOAIL KEPE AR BnI I,

RIS o P

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa nomimono o nanbon kaimasu ka.

Otoko: Patii wa nan-ji kara desu ka.

Onna: Roku-ji kara desu. Nomimono wa mo kaimashita ka.

Otoko: lie, mada desu. Nanbon irimasu ka.

Onna: Un, mizu wa gohon desu. Kohii to ocha wa juppon zutsu desu.

Otoko: Pati ni kuru hito wa kohii o amari nomimasen.

Onna: So6 desu ka. Ja, kohii wa gohon ni shimasho. Soshite, ocha 0 m6 juppon katte kudasai.
Otoko: Hai, wakarimashita.

Otoko no hito wa nomimono o nanbon kaimasu ka.

ENGLISH

A man and a woman are talking. How many drinks is the man going to buy?

Man: From what time is the party?
Woman: From 6:00. Did (you) buy the drinks?
Man: No, not yet. How many drinks do (we) need?

Woman: Mmm, 5 bottles of water, 10 each of tea and coffee.

Man: The people coming to the party don’t drink coffee so much.

Woman: Is that right? Well, let’s make it 5 cans of coffee. And, buy 10 more bottles of tea please.
Man: OkKkay, (I) see.

How many drinks is the man going to buy?

The correct answer is #4-30 (A .

The woman first mentions that we need 5 bottles of water and then 10 bottles each of tea and coffee:

5 bottles of water + 10 cans of coffee + 10 bottles of tea = 25 bottles

But, then, she says people coming to the party don’t like coffee so much, so she wants 5 cans of
coffee and 10 more bottles of tea.

S bottles of water + 5 cans of coffee + 10 bottles originally + 10 more bottles of tea = 30 bottles
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Listen out for keywords like # 9 that signal you are adding more items.

1 15134 2 20 1XA 3 25134 4 30 1XA
jago-hon nijuppon nijigo-hon sanjuppon
15 bottles 20 bottles 25 bottles 30 bottles

SCRIPT

AT BDOAY HDOAN @ZLTWIFET, HDOAIZ BRIITAD BT YOoERZ RLEEITH,
CONILT FeDd ATRAK, BIEAK BRIBAKR RATIEIW,
v Y F L

CORELSTHEEVDE BIFAKREFIT BRATLEI W,

DIV, 2ORELTHAVLDIE WO TTh,

DHRVWE XD RRATCESIY, IThE RIS [TA2rzE BRNTCEX N,

DI, YN HITINET,

¥ oW O Y W

ZDOAIX BRIIZAD KT Yo®r HREETH,

ROMAJI

Byoin de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa bangohan no ato de dono
kusuri o nomimasu ka.

Otoko: Kono chiisakute akai no wa asagohan-go, hirugohan-go, bangohan-go nonde kudasai.

Onna: Hai, wakarimashita.

Otoko: Kono okikute kiiroi no wa bangohan-go dake ni nonde kudasai.

Onna: Hai, kono okikute shiroi no wa itsu desu ka.

Otoko: Itai toki ni nonde kudasai. Kore o nomu mae ni nani ka o tabete kudasai.

Onna: Hai, arigatd gozaimasu.

Onna no hito wa bangohan no ato de dono kusuri o nomimasu ka.

ENGLISH

A man and a woman are talking at a hospital. Which medicine is the woman going to take after dinner?
Man: Take this small red one, after breakfast, after lunch, and after dinner please.

Woman: Okay, (I) see.

Man: Take this big yellow one only after dinner please.

Woman: Okay, when (do I take) this big white one?

Man: When (it) hurts, take (it) please. Before (you) take this, please eat something.

Woman: Okay, thank you.

Which medicine is the woman going to take after dinner?

The correct answer is #3.

The question asks specifically what kind of medicine the woman needs to take after dinner. If you
listen for that keyword XA Z1Z A (bangohan, dinner), you can answer this question pretty easily.
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It is quite common for the test-makers to add extra information in order to mislead or confuse you,

but if you listen carefully to the initial question, you should have no problems.

2

® ® S

e

SCRIPT

FEY BOFAEN

§$LIT:L\327ro ;gogﬁéékli\ tﬁi L/Y:¥%< D:U i L,ﬁ:ﬁ\c

el BB YFLER, BX3DD) ENSTTDH,

Frwvnz, BuEd, %2 RO BEEEZ fFuI L2 Rl RIT Fxxlr
L EWONA, ENT, BSRY ZLED,

Bz, BRIl 3AZWES #2F Lk TH, 88D HUFHATL

L BeN, ¥HILT?

F:HAE SHEILEPLSG MAL LHIT RIT FHELE

%

HH, TITATEN,

FOFEIX, ¥ LTELRYELED,

ROMAJI

Sensei to otoko no gakusei ga hanashite imasu. Otoko no gakusei wa, doshite osoku narimashita ka.

Onna: Osoku narimashita ne. Okiru no ga osokatta desu ka.

Otoko: lie, chigaimasu. Imoto ga watashi no jitensha o tsukaimashita kara, watashi wa eki made
arukimashita.

Onna: Taihen. Sore de, osoku narimashita ka.

Otoko: lie, eki ni wa mondai naku tsukimashita. Demo, okane ga arimasen deshita.

Onna: Okane ga, doshite?

Otoko: Saifu o wasuremashita kara saifu o tori ni ie ni kaerimashita.

Onna: A, so nan desu ne.

Otoko no gakusei wa, doshite osoku narimashita ka.
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ENGLISH
A teacher and a male student are talking. Why was the male student late?

Woman: (You) arrived late. Did (you) wake up late?

Man: No, that’s wrong. My younger sister used my bicycle, so I walked to the station.
Woman: Terrible. That’s why you were late?

Man: No, (I) arrived at the station with no trouble. But, (I) didn’t have money.
Woman: Why (did you not have) money?

Man: (I) forgot my wallet, so (I) returned home to get my wallet.

Woman: Ah, I see.

Why was the male student late?

The correct answer is #2.

The teacher assumes the male student woke up late, and that is why he is late for school. But, he tells
her that’s not true, and goes on to tell her why he was really late — he forgot his wallet at home.

2

v

9

SCRIPT

TLET, ®OAD ELTWET, RRD, HDO FHEO RAld, ¥ T,

% 45BN I T 3BXIAHAN HVWTLILI, ME WE ANIE —BPFHRI3-5
T BN 3BuTLlLrIr. RFWE #|I Bh3TLrId. Lrl, EFNL BLL-T
EHN 35 TLLI), kifpsEY FIT TH 35r2r8H »HUIT,

BEIE $2L B A->T REA2S KKRFEFT W2 33TLLI.

FFED, SHDO FHO KA. ¥ITTEI,
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ROMAJI

Terebi de, onna no hito ga hanashite imasu. Tokyo no, kyoé no gogo no tenki wa, do desu ka.

Onna: Kyo no asa wa yuki ga furu tokoro ga 6i desho. Kansai, shikoku, Kyisha wa ichi-nichi-ja ame ga
futte kaze ga tsuyoi desho. Tokyo wa asa wa hareru desho. Shikashi, shégo kara samuku natte yuki
ga furu deshé. Hokkaido to Tohoku de yuki ga furu tokoro mo arimasu. Ashita wa sukoshi
atatakaku natte Tokyo kara Osaka made ame ga furu deshaé.

Tokyo no, kyo no gogo no tenki wa, do desu ka.

ENGLISH
A woman is talking on TV. How is Tokyo’s weather this afternoon?

Woman: This morning there will probably be a lot of places where it snows. (It) will probably be
rain and strong winds in Kansai, Shikoku, and Kyushu. (It) will be sunny in the morning
in Tokyo. However, from noon (it) will get colder and probably snow. There will also be
places in Hokkaido and Tohoku where snow will fall. Tomorrow, it will probably be a little
warmer and it will rain from Tokyo to Osaka.

How is Tokyo’s weather this afternoon?

The correct answer is #1-BEH 5135

The weather forecaster starts off by talking about today’s weather around Japan, and talks about the
weather being sunny in the morning. However, from noon (i.e. the afternoon) the weather will get
colder and it will snow. Listen for all the details and understand that the test-makers might use a
variety of words to refer to the same time period.

1T WED 35 2 DN 35
yuki ga furu ame ga furu
snow falls rain falls

3 dns 4 »EHN OLun
hareru kaze ga tsuyoi
sunny strong wind

SCRIPT

BOAL HOADN #FELTWET, XOAL, HFBERET 9T T30,

% ZInb ¥HBRIT, 5 U ETh,

B ZHITTH, #THD XA LBRFT HWT 154TY, 206, #T8%T 54 7TT,
D HBBRET FWT s n Y EFT0,
%
*

PR EXFIN?225 9 CH5WTT, Y7V —Tld =34 109 e h 4,
DVWWTT A, BWEEHT o%xF925s I LT,

DAL, FERET [T T2,
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa, Shinjuku eki made nanpun de

ikimasu ka.

Onna: Koko kara Shinjuku eki made, nanpun kakarimasu ka.

Otoko: So desu ne. Chikatetsu no Sakura eki made aruite jugo-fun desu. Soko kara, chikatetsu de go-fun
desu.

Onna: Shinjuku eki made aruite dore gurai kakarimasu ka.

Otoko: Arukimasu ka? Nijigo-fun gurai desu ne. Takushii de wa tabun juppun kakarimasu.

Onna: li desu ne. Mijikai jikan de tsukimasu kara sore ni shimasu.

Onna no hito wa, Shinjuku eki made nan-bun de ikimasu ka.

ENGLISH

A man and a woman are talking. How many minutes will it take to go to Shinjuku station?

Woman: From here, to Shinjuku station, how many minutes does it take?

Man: Well, (it) is 15 minutes to Sakura station by foot. From there, (it) is 5 minutes by subway.

Woman: How long does (it) take to get to Shinjuku station by foot?

Man: (You) are going to walk (there)? Around 25 minutes, right? By taxi, (it) probably takes 10
minutes.

Woman: That’s good isn't it? (I) am going to arrive in a short time, so (I) will do that.

How many minutes will it take to go to Shinjuku station?

The correct answer is #2- 10 SA .

The last topic the man talks about is going by taxi, so * 41’ in the woman’s last line refers to
that. She uses ‘ IZ L ¥ ’ which is a way to show you have chosen something. You can use this in
restaurants to order for example:

bl #HL—IT LET,

Watashi wa karé ni shimasu.
I'll have the curry.

Since it takes 10 minutes to get to the station by taxi, that gives us the answer of 10 minutes.

1 534 2 10 A 3 20 3SA 4 25 A
go-fun juppun nijuppun nijigo-fun
5 minutes 10 minutes 20 minutes 25 minutes

il

SCRIPT

FOAYL HDOAD FELTWET, KDOAIT BRAKIZ {2 LITI,
BER&IT ) FCTTA,

DI BED DUFEANSL XTEHE DFHLHVWTTA
POFELRNWTTY, ONLWTLE I, RIT BT IT5FT,

D ABlE SFsRVWTT L,

Ced, AAEIZ [TEE0TTD,

DIV TE BED BVTELrL, M50 BEDO BEELIT.

¥ N E % W
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FiEgnld 25V TT L
ZLDOAIX BRHRIZ %2 LI T,

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa natsu yasumi ni nani o shimasu ka.

Otoko: Natsu yasumi wa mo sugu desu ne.

Onna: Hai, jugyo ga arimasen kara totemo tsumaranai desu ne.

Otoko: Tsumaranai desu ka. Ureshii desho. Watashi wa umi ni ikimasu.

Onna: Umi wa tsumaranai desu yo.

Otoko: Ja, gaikoku ni ikitai desu ka.

Onna: Hai, demo okane ga nai desu kara, aki kara no jugyo no benkyo o shimasu.
Otoko: Sore wa tsumaranai desu yo.

Onna no hito wa natsu yasumi ni nani o shimasu ka.

ENGLISH
A man and a woman are talking. What is the woman going to do this summer vacation?

Man: Summer vacation is soon, isn’t it?

Woman: Yeah, there is no class, so (it) is totally boring, isn’t it?

Man: (It) is boring? (It) should be happy. I am going to the beach.

Woman: The beach is boring.

Man: Well, do (you) want to go abroad?

Woman: Yes, but (I) don’t have money, so (I) am going to study for classes that start in fall.
Man: That is boring.

What is the woman going to do this summer vacation?

The correct answer is #1-NAE L5953 .

Even though both speakers talk about their plans, the question specifically asks what the woman
plans to do for the summer vacation. Although she wants to go abroad, she doesn’t have the money
so she is staying here and studying.

Be careful not to read more into the conversation than what is there. There are a lot of people that
would rather go on vacation during summer break, but the woman chooses a less common answer.
The test-makers love to throw tricks like this in.

T NAZEITS 2 P TLT Wl
benkyo suru gaikoku ni iku
study go to a foreign country
3 9A&IT WK 4 LwZEx)% I35
umi ni iku jugyo o ukeru
8o to the beach take class

477



478

Listening S2 Answers and Scripts

12

SCRIPT

BOAY ZOAD, RO #Ez2 ALrS ZFLTWET, FOAD EI)LEEUE, ¥NTT .
B EWLEED ILWTT,

# EOWOTT A,

B0 450 KT v D HEDIE ¥ITEN,

% BHTTR, Th, AL 420 K7y by wh i+,

Bbd EIAL whidi,

# Fhz Bvoanlx tHILLI L

B )TN,

FOAN EIEEE, YRTTD,

ROMAJI

Otoko no hito to onna no hito ga, fuku no zasshi o minagara hanashite imasu. Otoko no hito ga kau
uwagi wa, dore desu ka.

Otoko: Kuroi uwagi ga hoshii desu.

Onna: Kuroi no desu ka.

Otoko: Kono yottsu no poketto ga aru no wa do desu ka.

Onna: Benri desu ne. Demo, honto ni yottsu no poketto ga irimasu ka.

Otoko: A, tabun irimasen.

Onna: Sore ni kuroi no wa yamemasho yo.

Otoko: SO desu ne.

Otoko no hito ga kau uwagi wa, dore desu ka.

ENGLISH

A man and a woman are talking while looking at a clothing magazine. Which jacket is the man
going to buy?

Man: (I) want the black jacket.

Woman: The black one?

Man: How about this one with 4 pockets?

Woman: (It) is convenient, isn’t it? But, do (you) really need 4 pockets?

Man: Ah, probably (I) don’t need (them).

Woman: Moreover, let’s not get the black one.

Man: All right.

Which jacket is the man going to buy?

The correct answer is #4.

Looking at the picture we can guess that we are talking about shirts with 2 or 4 pockets, and white
or black shirts. First, the man decides he actually doesn’t need 4 pockets:

HH, 2354 WVWIEEA,

A, tabun irimasen.
Ah, (1) probably don’t need (them).
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And then later she suggests that the man not buy the black one. Although he doesn’t mention the
white shirt specifically, he agrees with her, which makes 4 the best answer.

13

SCRIPT

BEDUYIAL HOADN ZLTHET, WO FATIE FATT 2,

D TAERA. SCHRKRIE XTI TTA,

S omRER EBETIT b h 9

A5 bELIE RN WE TN,

22l 1TLErtd,

XHMmBIE X39TOXY iz Y ETH,

T bhbiolEST, WRE RIEdTH, bH, 2—24—4TFh, HIEHADO ZITIT b
VET,

% 2—20—44TH 0,

Biwnwzg, 2—24—-47T%,

NN IR

AR D AEFTIE AT TE D

ROMAJI

Omawari-san to onna no hito ga hanashite imasu. By6in no jisho wa nan desu ka.

Onna: Sumimasen, Sakura byoin wa doko desu ka.

Otoko: Sakura byoin wa Haru-machi ni arimasu.

Onna: Ima watashi wa nani-machi ni imasu ka.

Otoko: Koko wa Nishi-machi desu.

Onna: Sakura byoin wa Haru-machi no doko ni arimasu ka.

Otoko: Chotto matte, chizu o mimasu ne. A, ni no nijiayon no yon desu ne. Yabinkyoku no soba ni arimasu.
Onna: Ni no niji no yonjiyon desu ka.

Otoko: lie, ni no nijiyon no yon desu.

Byoin no jusho wa nan desu ka.
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ENGLISH

A police officer and a woman are talking. What is the hospital’s address?

Woman: Sorry, where is the Sakura Hospital?

Man: Sakura Hospital is in Haru-machi.

Woman: Now, what town am I in?

Man: This is Nishi-machi.

Woman: Where in Haru-machi is Sakura Hospital?

Man: Wait a little, (I) am going to look at a map. Ah, (it) is 2-24-4. (It) is close to the post office.
Woman: Is (it) 2-20-44?

Man: No, (it) is 2-24-4.

What is the hospital’s address?

The correct answer is #2- [$2%F5 2 — 24 — 4.

First, the police officer tells the woman that the hospital is in (3% %% . So answers 1 and 4 are
incorrect. Then you just have to listen for the number. And the police officer says the address is
2-24-4, so it must be answer 2.

The NS listening section might involve listening for numbers. When saying a number with dashes,
we say @ for the dashes:

2-40

ni no yonju

1icLxb2—-24—-4 2 352 —-24—-4
Nishi-machi ni no nijiiyon no yon Haru-machi ni no nijiiyon no yon
Nishi-machi 2-24-4 Haru-machi 2-24-4

313562 —20—44 4 12LEb2—20—44
Haru-machi ni no niji no yonjiyon Nishi-machi ni no niju no yonjayon
Haru-machi 2-20-44 Nishi-machi 2-20-44

SCRIPT

BOAYL HDOADN :THELTWET, XOAIX H#L —HIT FATHITI,
TVWBREETTR, HUED ARY E L,

DLW, AT OREEN THFTT L, AT EFTTH

TVAVZ, TE HUNLITTNIT, BEIALY —HEIT FATHITD,
Pwvwng, ke fFATOIT L, BNIZ AR 2T LA,

bH, A TWET, Lred, #N ZoB#%%2 1EYFELED.

Y0 BIEIAN AEY F L

D RETED,

LDOAIT H#Y —HEZ FATHETD,

E O X 8y
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa dare to issho ni sunde imasu ka.
Otoko: li obento desu ne. Anata ga tsukurimashita ka.

Onna: lie, watashi wa ryori ga heta desu yo. Anata wa jozu desu ne.

Otoko: le ie, demo arigatdo gozaimasu. Okasan to issho ni sunde imasu ka.

Onna: lie, imoto to sunde imasu yo. Mae ni anata ni aimashita.

Otoko: A, oboete imasu. Ja, dare ga sono obento o tsukurimashita ka.

Onna: Tonari no obasan ga tsukurimashita.

Otoko: Honto desu ka.

Onna no hito wa dare to issho ni sunde imasu ka.

ENGLISH

A man and a woman are talking. Who does the woman live with?
Man: Nice bento! Did you make (it)?

Woman: No, my cooking is poor. You cook well.

Man: No, no, but thank you. Do (you) live with your mother?
Woman: No, (I) live with my younger sister. She met you before.
Man: Ah, (I) remember. Well, who made that bento?

Woman: The older woman next door made (it).
Man: Really?

Who does the woman live with?

The correct answer is #3- W5 & .

The question asks specifically who the woman lives with. The conversation is mostly about the
woman’s bento, but that isn’t important for the question. We want to know who the woman lives
with, which she tells us in the middle of the conversation.

1T BIIA 2 B0HIA 3 WEHE 4 BRAIA
obasan okasan imoto onésan
aunt mother younger sister older sister
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SCRIPT

ZTDANE FBOAD @ELTWIE, LDOAL, RRIC AT T3X90,

ERLIE BRRIC TS5 FE 0,

DIV, £ TY, wob J/Y I,

DRT ATEETD,

WWZ, RBld BE HFY FuFEAsSs SHE NAT wEid,

PEBEIT OFVEHAD, WOE RRIC FBET T34 L, BLTEATINS,
ZIH)THH, THRIE BEDY HUITEAN»SL BEX RITRLYIET FUFEVEIEA,

ZDOAIL, RFEIT AT T2L9D,

¥ ¥ 8 ¥
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ROMAJI

Onna no hito to otoko no hito ga hanashite imasu. Onna no hito wa, Tokyo ni nan de ikimasu ka.

Otoko: Natsu yasumi wa Tokyo ni ikimasu ka.

Onna: Hai, so desu. Itsumo kaerimasu.

Otoko: Kuruma de ikimasu ka.

Onna: lie, watashi wa kuruma o amari tsukaimasen kara kon-kai wa basu de ikimasu.

Otoko: Densha wa norimasen ka. Itsumo Tokyo ni densha de ikimasu yo. Hayakute benri desu kara.

Onna: So6 desu ne. Demo, watashi wa okane ga arimasen kara densha ya hikoki nado wa amari tsukaimasen.

Onna no hito wa, Tokyo ni nan de ikimasu ka.

ENGLISH
A man and a woman are talking. How is the woman going to Tokyo?

Man: Are (you) going to Tokyo for summer vacation?

Woman: Yes, [ am. (I) go back every time.

Man: Are (you) going by car?

Woman: No, I don’t use my car very much, so this time, (I) am going by bus.

Man: Why don't ride the train? (I) always go to Tokyo by train. Because it is fast and convenient.
Woman: That’s right. But, I don’t have money, so (I) don’t use the train or airplane very much.

How is the woman going to Tokyo?

The correct answer is #1- /\X .

The woman explains that she doesn’t use her car very much so we can guess that she isn’t a very
confident driver. After that she specifically says that this time, she will go by bus. So, answer 1 is the
best choice. The man says that he usually takes the train, but the question is about the woman. And
the woman also later explains that she doesn’t have money, so she usually doesn’t fly or take the train.

1 INR 2 TAL» 3 02H% 4 (%%
basu densha hikoki kuruma
bus train plane car
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HATEWL3

HAKWI TR, A% HGHS LD2BbAZ EVWT KTV - (PL3BL) o T
ElE BTRE VLLETH, 153D GHHSE. WEERA LW D% UED Z
S5hAT <L,

Mondai san
Mondai san dewa, e o minagara shitsumon o kiite kudasai. — (Yajirushi) no hito wa nan to iimasu ka. Ichi
kara san no naka kara, ichi-ban ii mono o hitotsu erande kudasai.

Question 3
For question 3, while looking at the picture listen to the question. What does the person with the —
(arrow) say? Choose one best answer from 1 to 3.

O O00O0OO0OO0OO

SCRIPT
X ILR=F—IT AUFET, L TVETH
Fi1 BRI LI

2 BERIZT L FXW,

3 BRIz ¥IE,

ROMAJI

Onna: Erebéta ni hairimasu. Nan to iimasu ka.
Otoko: 1 Osaki ni shimasu.

2 Osaki ni kudasai.

3 Osaki ni dozo.
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ENGLISH

Woman: (The man) is going into the elevator. What does (he) say?
1 Before do. (not a proper Japanese phrase)
2 Before please. (not a proper Japanese phrase)
3 After you.

The correct answer is #3- &5kl E5%F.

If you would like to offer someone to go first, the most appropriate phrase is * $%I2 ¥ 5% . The
rest of the expressions are not actually used in Japanese.

2

SCRIPT
B BRIAD KEIZ IIULHT 20IEd, A w4y
#:1 EL»ELT,

2 2TbHb52%,

3 ¥5%,

ROMAJI

Otoko: Oniisan no tomodachi ni hajimete aimasu. Nan to iimasu ka.
Onna: 1 Hajimemashite.

2 Kochira koso.

3 Domo.

ENGLISH

Man: (She) is meeting her older brother’s friend for the first time. What does she say?
Women: 1 Nice to meet you.

2 Same here.

3 Thank you.
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The correct answer is #1- 3 C&HFL T.

When meeting someone for the first time in a casual situation, the most common thing to say is ‘ (X
U F LT’ When meeting someone for the first time in a more formal situation, ‘ XA L { B\ L
%9 ’ is more appropriate.

Zb5 2% is said in response to XA LS BRANWLET :
A TIXal(BRarnwLEd, ]

Yoroshiku onegai shimasu.

I look forward to working with you.
B 2H52%,]

Kochira koso.

Same here.

SCRIPT
LB OFRIC ITEE LA IUBIT A suwETD,
B 1 ZAITHIL,

2 BlILH>ITTVET,

3 =FE0WE,

ROMAJI

Onna: Asa gakko ni ikimashita. Hajime ni nan to iimasu ka.
Otoko: 1 Konnichiwa.

2 Ohayo gozaimasu.

3 Tadaima.

ENGLISH

Woman: (He) went to the school in the morning. What does (he) say first?
Man: 1 Good day.

2 Good morning.

3 I'm back.
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The correct answer is #2- (ZC®HFLT.

In the morning, the most common greeting in Japanese is * H13 X9 TXW\WFE ¥ . You will rarely hear
anything else. You can use * ZA/IZ513 ' to greet people during the day. You use ‘ 7=72\\F ’ when
you return home or to the office after you have been out.

SCRIPT
B HOAL LAMNIUVOAY FHELEWTT, 2 sWETH,
11 ¥I%,

2 ILHIELT,

3 THFEA

ROMAJI

Otoko: Onna no hito wa resutoran no hito to hanashitai desu. Nan to iimasu ka.
Onna: 1 Dozo.

2 Hajimemashite.

3 Sumimasen.

ENGLISH

Man: The woman wants to talk to the restaurant staff. What does (she) say?
Woman: 1 Go ahead.

2 Nice to meet you.

3 Excuse me.

The correct answer is #3- 9H#FHA .

To get a service person’s attention, the most common expression is * 34 A . This can be
used not only at a restaurant, but at a train station, sightseeing spot, etc. ‘ ¥ 9 Z ' is used to offer
something to someone. ‘ I3 U £ LT’ is what is used in casual situations when you first meet
someone.

486



Listening S3 Answers and Scripts

SCRIPT
B REIT BR(T I—kE—% RKLEWTT, . s0WETI,
%1 a—bt—% REIHA,

2 I—kt—% YIHZ,

3 a—t—% |AILIID,

ROMAJI

Otoko: Tomodachi wa nemukute kohii o nomitai desu. Nan to iimasu ka.
Onna: 1 Kohi o nomimasen.
2 Kohii o dozo.

3 Kohii o nomimasho ka.

ENGLISH

Man: Her friend is sleepy and wants to drink coffee. What does (she) say?
Woman: 1 (I) am not going to drink coffee.

2 Have a coffee.

3 Let’s drink coffee.

The correct answer is #3- d—bt—% BHFEL &5D .

You can suggest an activity to someone using ~F L L J . It’s like saying ‘let’s ~’ in English. You can
also invite someone to do something using ~Z & A 7", but answer 1 doesn’t have the 7" particle.
Answer 2 might make sense if the woman has a coffee in her hand, or there is coffee on the table. In

other words, if she were physically offering something to him, she could say ‘ ¥'9 Z .
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I

SCRIPT

X HOAL FE OBRYEWTT, BOAIX . s0nWEda,
Fi1 Far EmoTLEIN,

2 %k BYEWTT,

3 f8% RYEL LD

ROMAJI

Onna: Onna no hito wa hako o toritai desu. Otoko no hito wa nan to iimasu ka.
Otoko: 1 Hako o totte kudasai.

2 Hako o toritai desu.

3 Hako o torimasho ka.

ENGLISH

Woman: The woman wants to get the box. What does the man say?
Man: 1 Get the box, please.

2 (I) want to get the box.

3 Shall (T) get the box?

The correct answer is #3- %% WY EL &5H .

The man is offering to help the woman by using ~Z% L £ 9 7*. This is a polite way to offer help.
Answer 1 means that the man is making a request for the woman to get the box.
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SCRIPT
%: BOAIZ 1L000HT MFZ2 BWEWTY, L sWETH,
Bl PTVWT BWEWTT,

2 PFLLT (FEXwn,

3 IR YETS,

ROMAJI

Onna: Otoko no hito wa sen-en de boshi o kaitai desu. Nan to iimasu ka.
Otoko: 1 Yasuide kaitai desu.

2 Yasuku shite kudasai.

3 Yasuku narimasu.

ENGLISH

Woman: The man wants to buy the hat for 1,000 yen. What does (he) say?
Man: 1 (I) want to buy it cheaply. (incorrect Japanese)

2 Make (it) cheaper please.

3 (it) becomes cheaper.

The correct answer is #2-®9< LT <LfeTL.

The man is making a request for the woman to make ( 9% , suru) it cheaper ( >4\, yasui). Since
X>94 ) is an U -adjective, we can't use it with the T particle like in answer 1. Answer 3 is talking
about the hat becoming cheap and not someone making it cheaper.
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SCRIPT
% FIE REEVWTT, M TVET,
Bl FIE RAEELANTT,

2 F3LE RATOHWTT DY,

3 F3UC LET,

ROMAJI

Onna: Gyuanyu o nomitai desu. Nan to iimasu ka.
Otoko: 1 Gyunyu o nomitaku nai desu.

2 Gylnyd o nonde ii desu ka.

3 Gyunyu ni shimasu.

ENGLISH

Woman: (The man) wants to drink milk. What does (he) say?
Man: 1 (I) don’t want to drink milk.

2 Is it okay if (I) drink milk?

3 (I) will have milk.

The correct answer is #3-%%llc LZx9d .

When making an order at a restaurant, you can use the structure ‘ |23 % ’ to mark your selection.
Answer 2 is a way of asking permission to drink milk. This seems like a strange request to be making
to a waitress.
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SCRIPT
BRIT JTAT TSF L1 ALY s0WETH,
i1 BYTAL LI,

2 ZAIEAIL,

3 BOMIETL

ROMAJI

Otoko: Yoru ni kurasu ni ikimashita. Nan to iimasu ka.
Onna: 1 Oyasumi nasai.

2 Konbanwa.

3 Otsukare-sama deshita.

ENGLISH

Man: (The woman) went to class at night. What does (she) say?
Woman: 1 Good night.

2 Good evening.

3 Great work today.

The correct answer is #2- ZAlEAIE .

When greeting people at night or in the evening, it is common to use * Z AL A3 ". To say good
night, it is common to say ‘ BX° 34 L XLV, but this is usually among family members or close
friends before they go to sleep. If you want to say goodbye to someone in a more formal situation

like at work, you can say * BOMNIFETL/="
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SCRIPT
B TLET HOAN wELTHWET, AL s0ETH,
#Z:1 KRR EH U ET,

1
2 KRRiz 28 YT,
3 Rz §& U I,

ROMAJI

Otoko: Terebi de onna no hito ga hanashite imasu. Nan to iimasu ka.
Onna: 1 Osaka no yuki ga furimasu.

2 Osaka ni yuki ga furimasu.

3 Osaka ni yuki o furimasu.

ENGLISH

Man: A woman is talking on TV. What does she say?
Woman:1 Osaka’s snow is falling. (Incorrect Japanese)

2 (It) is snowing in Osaka.

3 (I) am falling the snow in Osaka. (Incorrect Japanese)

The correct answer is #2- XfRlc ThH ZVET .

When we are talking about weather, we typically mark the weather element ( ¥, ame, rain; P X,
yuki, snow; 7°¥, kaze, wind) with the 7' particle and the |Z particle to mark where the weather is.
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HATEW 4

HARWATIE ZGED BYERA, SAZE EVWCIH530D
W H&DE VED ZBAT KfEdLy,

Mondai yon

Mondai yon dewa, e nado ga arimasen. Bun o kiite, ichi kara san no naka kara, ichi-ban ii mono o hitotsu

erande kudasai.

Question 4

For question 4, there aren’t pictures or other materials. Listen to the sentence, and choose the one

best answer from 1 to 3 please.

(1] %,: 35 —&F WS TTA,
B:1 U-29TH,
2 13w, ¥z,
3 LWWZ, —HFL»RNWTY,

ROMAJI

Onna: Mo ippai ikaga desu ka.
Otoko: 1 Kekko desu.
2 Hai, dozo.

3 lie, ippai ja nai desu.

ENGLISH

Woman: How about one more cupful?
Man: 1 (I'm) fine.

2 Yes, go ahead.

3 No, (I) don’t have a cupful.

The correct answer is #1-F>Z 3T .

The woman is using \\)*7" (ikaga, how) the polite form of ¥ 9 (d6, how) to offer another cup of
something. You can use 17529 (kekko, sufficient or fine) to politely refuse an offer.

Answer 2 is used to offer something to someone.

(2] B TnFHA, BELRYE LI
i1 B¢ ORF LA

2 RXRTT L. BT 2 HaN

3 Io=THH4,

EXxF LI

BHHS.VWBIEA W
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ROMAJI

Otoko: Sumimasen, osoku narimashita.

Onna: 1 Hayaku kimashita.
2 Daijobu desu yo. Watashi mo ni-fun mae ni tsukimashita.
3 Yokatta desu ne.

ENGLISH

Man: Sorry, (I) arrived late to the meeting.
Woman: 1 (I) came early.
2 (It's) okay. I arrived 2 minutes ago.
3 That's great.

The correct answer is #2- K3XRTI &K, b 293milc HEFL:.

The man is apologizing for being late, and the woman forgives him by saying it was okay and that
she was late too. Although it might be true that the woman came early, answer 1 really isn’t the

most appropriate response here. We can say ‘ X7*>7=TC ¥ 42’ when something good happened. But
being late to a meeting isn’t so good.

(3] 4@ KfEfElE Y I TEA,
Fi1 #HERIT AVWTT L
2 154 T $%F,
3 BT ZlIiT U ET,

ROMAJI

Onna: Taishikan wa doko desu ka.
Otoko: 1 Yubinkyoku wa chikai desu yo.
2 Jago-fun de arukimasu.

3 Ginko no soba ni arimasu.

ENGLISH

Woman: Where is the embassy?

Man: 1 The post office is close.
2 (I) walk for 15 minutes.
3 (It) is close to the bank.

The correct answer is #3- 8817 ZIic HYVFT .

The woman is asking where ( ¥’ Z , doko) the embassy is, so we are looking for a location. Answer
3 gives us a clear location. Answer 1 gives us the relative location of the post office, but we want
to know where the embassy is. Answer 2 tells us how long ( ¥® {5\, dono gurai) it takes to walk
somewhere, but we asked about location.
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F:ab—% 20K LFLED,
i1 HUNLI, LHLCBENLET,
2 HH, Wz, 10KEHLE LA,
3 13w, FELET,

ROMAJI

Otoko: Kopii o nija-mai shimashita ka.

Onna: 1 Arigato. Yoroshiku onegai shimasu.
2 A, iie. Ji-mai dake shimashita.
3 Hai, mada shimasu.

ENGLISH

Man: Did (you) make 20 copies?

Woman: 1 Thanks. Thank you for your hard work.
2 Ah, no. (I) only made 10 copies.
3 Yes, still going to do it.

The correct answer is #2- 3., L\NZ, 10 #F21FLELE: .

The man is asking if the woman made the 20 copies. Although this is a yes or no question, answer
2 is the best answer because she is giving more information about the number of copies she made.
Answer 1 is something you would typically say after someone has approved a request you made.

A TaE—% 20Fv LTLEIN, ]
“Kopii o nija-mai shite kudasai.”
“Make 20 copies, please.”

B Tixuy, |
“Hai.”
/Iokay'l/

A THYNLI, IALBRIMNLET, ]
“Arigat6. Yoroshiku onegai shimasu.”
“Thanks. Thank you in advance.”

In answer 3, the woman says yes that she completed it, but then says she is still doing it, so she
hasn’t actually completed it. She could say something like the following.

Wz, FELTWERA, ]
“lie, mada shite imasen.”
“No, (I) haven’t yet.”

(5] %: BXEY EFTHh,
1 3w, EFTH4,
2 HUNLITXNET,
3 BAET HLT (X0,
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ROMAJI

Onna: Nihongo ga jozu desu ne.
Otoko: 1 Hai, jozu desu ne.
2 Arigato gozaimasu.
3 Nihongo de hanashite kudasai.

ENGLISH
Woman: (Your) Japanese is good, isn'’t it?
Man: 1 Yes, (my) Japanese is good, right?
2 Thank you.
3 Speak in Japanese, please.

The correct answer is #2- BV HESTEVET .

The woman is complimenting the man on his Japanese and the man thanks the woman for the
compliment. Answer 1 is not the best answer because it is not common to make a comment like this
about yourself.

(6] 4: %% EnILEL 13V, Yi2,

Fi1 BREWLIET,
2 k\l‘\i_\ /-E‘ni Lf:cto
3 HYNLITINET,
ROMAJI

Onna: Enpitsu o wasuremashita ka. Hai, dozo.
Otoko: 1 Onegai shimasu.

2 lie, wasuremashita yo.

3 Arigato gozaimasu.

ENGLISH

Woman: Did (you) forget your pencil? Okay, here (you) go.
Man: 1 Please.

2 No, (I) forgot.

3 Thank you.

The correct answer is #3-BYHESITEVET .

The woman confirms that the man forgot his pencil, and then offers him one. The best response to

this is to thank the woman. We can use 3422\ L £7, when we make a polite request to someone.
The man didn’t request the pencil though. Answer 2 doesn’t make sense because the woman already
knows the man doesn’t have a pencil.
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Fil WoThboL Py,
2 Zb52%,
3 BOZUYLEN,
ROMAIJI
Onna: Itte kimasu.
Otoko: 1 Itte rasshai.
2 Kochira koso.
3 Okaeri nasai.
ENGLISH
Woman: I'm off to work. (lit., I am going and coming.)
Man: 1 Have a nice day.

2 Same here.
3 Welcome back.

The correct answer is #1- L > T5> L » LY.

This is a pair. When someone says ‘\\->T X £, the proper response is almost always going to be ‘1 5

Listening S4 Answers and Scripts

ThH-5L»W . Answer 2, - 2H 5 2% 7 is said when meeting people for the first time.

A

Answer 3,

A

8] B:
4

[LAL(BRANNLET, ]

“Yoroshiku onegai shimasu.”
“I'm looking forward to working with you.”

[2b52%, JALL(BRIWLET, ]

“Kochira koso. Yoroshiku onegai shimasu.”
“Same here. I'm also looking forward to working with you.”

[_ f: 73 WY i ) J
“Tadaima.”
“I'm back.”

[ENZ Y0, |
“Okaeri nasai.”
“Welcome back.”

WBE Y ITH
SR I
WE Y £,
WE Y £,

(BN
1 8BFET
2 3RS
3 Hr304T

BN ZY X, is used when someone returns to a place.
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ROMAJI

Otoko: Nan-ji ni hajimarimasu ka.
Onna: 1 Hachi-ji made hajimarimasu.
2 San-ji-kan ni hajimarimasu.
3 Ato sanjuppun de hajimarimasu.

ENGLISH

Man: What time does (it) start?

Woman: 1 (It) starts until 8:00. (incorrect Japanese)
2 (It) starts at 3 hours. (incorrect Japanese)
3 (It) starts after 30 minutes.

The correct answer is #3- &% & 30 2 HRIFEVET .

The question is asking ‘ ffBF ’ (nan-ji, what time) so the answer needs to be a specific time. Answer 3
gives us a time 30 minutes from now. Answer 1 is talking about an activity that lasts until 8:00. But,
we are asking about a start time. Answer 2 is a period of time.

(9] B: BHIAL CRETT,
11 3w, Uk,
2 BLWATT,
3 7—7)D #HLIZ FZIo5TWBATTY,

ROMAJI

Otoko: Nishimura-san wa donata desu ka.
Onna: 1 Hai, arigato.
2 Tanoshii hito desu.
3 Téburu no chikaku ni tatte iru hito desu.

ENGLISH

Man: Who is Mr. Nishimura?
Woman: 1 Yes, thank you.
2 A fun person.
3 The person standing next to the table.

The correct answer is #3- 7—27Jb®D ELIC ITH>TWBATY .

¥'75 7= (donata, who) is a very polite way to ask ‘who’ in Japanese. Answer 1 is obviously not
answering that question. Answer 2 is talking about the kind of ( ¥’ A/7% , donna) person Mr.
Nishimura is. Answer 3 describes the location of a person that we can assume is Mr. Nishimura.

B XonriAN” 1 ZLVnTT o,
1 NEAY TERTTL
2 RESTHBLDE (EX0,
3 13w, NMETAD I ZLWTT,
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ROMAJI

Otoko: Dono kaban ga hoshii desu ka.
Onna: 1 Kaban ga suki desu yo.
2 Okikute kiiroi no o kudasai.
3 Hai, kaban ga hoshii desu.

ENGLISH

Man: What kind of bag do (you) want?
Woman: 1 (I) like bags.

2 A big yellow one please.

3 Yes, (I) want a bag.

The correct answer is #2- XEL TEBLDE TV,

The man is asking which ( ¥®, dono) bag the woman wants. Answer 2 describes a bag that the
woman would like. Answer 1 and 3 don't really answer the question.

1] B: 48 E—1L% HKHFTL LI,
1 AR RAEIED,
2 WWZ, T4 0% BRATWET,
3 brio¥ WEARLWTT,

ROMAJI

Otoko: Kyo biiru o nomimasho.

Onna: 1 Nanbon nomimasu ka.
2 lie, wain o nonde imasu.
3 Chotto isogashii desu.

ENGLISH

Man: Let’s drink beer today.

Woman: 1 How many are you going to drink?
2 No, (I) am drinking wine.
3 (I) am a little busy.

The correct answer is #3-B5&2& WZHLWTY .

The man is inviting the woman to drink. She can either accept or decline the offer. In answer 3, she
politely refuses, giving an excuse — she is busy. In answer 1, the woman is asking how many he is
going to drink, but she hasn’t accepted the offer yet. In answer 2, the woman is telling him she is

drinking wine now.

2] B: 3-8 B LTLEXN,
Fi 1 THERA. Brot BOTT LA,
2 BEEWLET,
3 RLTHA,
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ROMAJI

Otoko: Motto hayaku shite kudasai.

Onna: 1 Sumimasen, chotto osoi desu yo ne.
2 Onegai shimasu.
3 Hayai desu ne.

ENGLISH

Man: Do it faster please.

Woman: 1 Sorry, (I) am a little slow, aren’t 1?
2 Please.
3 (You) are fast, aren’t you?

The correct answer is #1- §HF A, B&2&E EBLTIT LA,

The man is making a request for the woman to hurry up. The best response is for her to apologize

(T4 FEHA , sumimasen, sorry) and acknowledge being a little slow. Answer 2 can be used when
making a polite request. In answer 3, it sounds like she is saying he is fast.

13] % : z0F@E0 KliF WHTT,
B:1 hlx 10T,
2 ZhIE 10 AT,
3 ZHlE 1,200 BT,

ROMAJI

Onna: Sono chairo no hon wa ikura desu ka.
Otoko: 1 Kore wa jussatsu desu.

2 Kore wa juppon desu.

3 Kore wa sen nihyaku-en desu.

ENGLISH

Woman: How much is that brown book?
Man: 1 These are 10 books.
2 These are 10 cylindrical object.
3 These are 1,200 yen.

The correct answer is #3- Zhls 1,200 Y .

The woman is asking ‘how much’ ( \x<{ 5 , ikura), so the best answer is some kind of price. Answer
3 is the only answer with a price. Answer 1 is talking about 10 books, but no price. And answer 2 is

using the wrong counter. & (hon) is used for long cylindrical objects like pencils or bottles.

% AHIT TERET.
1 dn, LAl
2 =EWE,
3 Y94,
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ROMAJI
Onna: Kaigi ni ikimasu.
Otoko: 1 Hai, yoroshiku.
2 Tadaima.
3 Domo.

ENGLISH

Woman: (I) am going to the meeting.
Man: 1 Okay, good luck.

2 I'm back.

3 Thank you.

The correct answer is #1- &Ly, £KBL< .

The woman says she is going to a meeting. The man acknowledges it with {34\, and then adds XA
L <, which is short for XA L<{BHH L 7. You can use this as a way to thank someone for their
hard work or encouraging them to do hard work. 7=72\ % is used when you return to a place. ¥ %,
when used by itself, is short for ¥’ 9 £ H 1AL H TX W EF (domo arigatd gozaimasu, thank you very
much). It sounds strange here because she hasn’t done anything for him yet.

15] % : BHAEBBHTY I TXNET,
Bl 252 %,
2 YIZ,
3 HYNLI,

ROMAJI

Onna: Otanjobi omedeto gozaimasu.
Otoko: 1 Kochira koso.
2 Dozo.

3 Arigato.

ENGLISH

Woman: Happy birthday!
Man: 1 Same here.
2 Here you go.
3 Thanks.

The correct answer is #3-H YW HES .

The woman wishes the man ‘happy birthday.” The most appropriate response to this is to say
‘Thank you’. Answer 1, 255 2%, is used to express the fact you feel the same way when you meet
someone for the first time. Answer 2, ¥ 9 %, is used when you offer something to someone.
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Y XN ATEEWTTH,

B:1 304 »»ryYFET,
2 EET 1Tx%,
3 2B YInNEy T3/ RWTT,
ROMAIJI

Onna: Doko e ikitai desu ka.
Otoko: 1 Sanjuppun kakarimasu.
2 Densha de ikimasu.
3 Kyo wa doko e mo ikitaku nai desu.

ENGLISH

Woman: Where do (you) want to go?
Man: 1 (It) takes 30 minutes.
2 (I) am going by train.
3 Today, (I) don’t want to go anywhere.

The correct answer is #3- S HIE ETANE TERLLEWVWTT .

The woman is asking where ( ¥'Z , doko), so we would normally look for a location. Answer 3 is not
a location, but more of a response. He doesn’t want to go anywhere. Answer 1 is talking about a
length of time. And answer 2 is talking about how he is going, not where.
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